

Amerigroup Community Care

Access Analysis SouthWest

October 26, 2022

PCPs - Urban

October 26, 2022

Access Analysis
Adult_PCP_Urban(2 prov in 8 Miles)
Member / Provider Groups
Adult Urban Members (SW_URBAN)
PCPs (SW_URBAN)

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		PCPs	2 in 8 miles	148		1,205			1.7	1.5	
Lowndes, GA	1,223	PCPs	2 in 8 miles	152	8.0	1,160	94.8	63	5.2	2.1	2.3
0 1711	0.440	DOD	0: 0 "	000	0.0	0.005	00.0	0.4	0.4	4.0	0.0
Grand Totals	2,449	PCPs	2 in 8 miles	300	8.2	2,365	96.6	84	3.4	1.8	2.0
© 2022 Quest Analytics III C		<u> </u>									——

PCPs - Rural

October 26, 2022

Access Analysis

Adult_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Adult Rural Members (SW_RURAL)

PCPs

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	PCPs	2 in 15 miles	17	5.9	100	100.0	0	0.0	3.9	4.2
Baker, GA	22	PCPs	2 in 15 miles	18		22	100.0	0	0.0	3.5	3.8
Ben Hill, GA	207	PCPs	2 in 15 miles	27	7.7	207	100.0	0	0.0	1.5	1.9
Berrien, GA	247	PCPs	2 in 15 miles	30	8.2	247	100.0	0	0.0	4.2	5.3
Brooks, GA	149	PCPs	2 in 15 miles	17	8.8	149	100.0	0	0.0	4.7	5.5
Calhoun, GA	59	PCPs	2 in 15 miles	23	2.6	59	100.0	0	0.0	2.8	5.5
Clay, GA	32	PCPs	2 in 15 miles	4	8.0	32	100.0	0	0.0	3.3	3.7
Clinch, GA	84	PCPs	2 in 15 miles	12	7.0	77	91.7	7	8.3	5.0	5.2
Coffee, GA	515	PCPs	2 in 15 miles	60	8.6	515	100.0	0	0.0	2.3	3.4
Colquitt, GA	550	PCPs	2 in 15 miles	67	8.2	548	99.6	2	0.4	2.1	3.5
Cook, GA	212	PCPs	2 in 15 miles	45	4.7	212	100.0	0	0.0	2.7	3.0
Decatur, GA	342	PCPs	2 in 15 miles	26	13.2	334	97.7	8	2.3	3.8	4.6
Early, GA	109	PCPs	2 in 15 miles	7	15.6	107	98.2	2	1.8	3.9	4.1
Echols, GA	88	PCPs	2 in 15 miles	2	44.0	88	100.0	0	0.0	2.8	2.8
Grady, GA	220	PCPs	2 in 15 miles	36	6.1	220	100.0	0	0.0	2.6	
Irwin, GA	76	PCPs	2 in 15 miles	36	2.1	76	100.0	0	0.0	2.5	
Lanier, GA	78	PCPs	2 in 15 miles	14	5.6	78	100.0	0	0.0	3.2	3.3
Lee, GA	235	PCPs	2 in 15 miles	34	6.9	226	96.2	9	3.8	3.8	
Miller, GA		PCPs	2 in 15 miles	9		55	94.8	3	5.2	4.5	
Mitchell, GA	222	PCPs	2 in 15 miles	36	6.2	208	93.7	14	6.3	4.3	
Quitman, GA	30	PCPs	2 in 15 miles	10			100.0	0	0.0	2.3	
Randolph, GA		PCPs	2 in 15 miles	18			100.0	0	0.0	1.3	
Schley, GA		PCPs	2 in 15 miles	15		48	100.0	0	0.0	3.4	
Seminole, GA		PCPs	2 in 15 miles	14		87	86.1	14	13.9	5.8	
Stewart, GA		PCPs	2 in 15 miles	13		46	97.9	1	2.1	2.7	
Sumter, GA		PCPs	2 in 15 miles	73			100.0	0	0.0	2.0	
Terrell, GA		PCPs	2 in 15 miles	24	4.0		100.0	0	0.0	3.1	
Thomas, GA	362	PCPs	2 in 15 miles	62			100.0	0	0.0	2.8	
Tift, GA		PCPs	2 in 15 miles	145	2.9		100.0	0	0.0	1.2	
Turner, GA		PCPs	2 in 15 miles	30	3.8		100.0	0	0.0	2.7	2.8
Webster, GA		PCPs	2 in 15 miles	4	2.8		100.0	0	0.0	3.6	
Worth, GA		PCPs	2 in 15 miles	19	10.2		100.0	0	0.0	4.3	
,											
Grand Totals	5,430	PCPs	2 in 15 miles	947	5.7	5,370	98.9	60	1.1	2.9	3.6
© 2022 Quest Analytics II C											

Pediatricians - Urban

October 26, 2022

Access Analysis
Child Pediatricians- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatricians

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA		Pediatricians	2 in 8 miles	148	18.4	2,655	97.4	71	2.6	1.6	1.7	
Lowndes, GA	3,388	Pediatricians	2 in 8 miles	152	22.3	3,247	95.8	141	4.2	2.1	2.4	
Grand Totals	6,114	Pediatricians	2 in 8 miles	300	20.4	5,902	96.5	212	3.5	1.9	2.1	
© 2022 Quest Analytics LLC			-									

Pediatricians - Rural

October 26, 2022

Access Analysis
Child Pediatricians- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatricians

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatricians	2 in 15 miles	17	18.4	312	100.0	0	0.0	3.9	4.3
Baker, GA	46	Pediatricians	2 in 15 miles	18	2.6	46	100.0	0	0.0	3.1	3.3
Ben Hill, GA	622	Pediatricians	2 in 15 miles	27	23.0	622	100.0	0	0.0	1.7	2.1
Berrien, GA	669	Pediatricians	2 in 15 miles	30		669	100.0	0	0.0	4.3	5.5
Brooks, GA	413	Pediatricians	2 in 15 miles	17	24.3	413	100.0	0	0.0	4.6	5.6
Calhoun, GA	116	Pediatricians	2 in 15 miles	23	5.0	116	100.0	0	0.0	3.0	6.0
Clay, GA	68	Pediatricians	2 in 15 miles	4	17.0	68	100.0	0	0.0	3.7	4.1
Clinch, GA	242	Pediatricians	2 in 15 miles	12	20.2	237	97.9	5	2.1	3.3	3.5
Coffee, GA	1,509	Pediatricians	2 in 15 miles	60	25.2	1,509	100.0	0	0.0	2.4	3.5
Colquitt, GA	1,499	Pediatricians	2 in 15 miles	67	22.4	1,495	99.7	4	0.3	2.2	3.6
Cook, GA	584	Pediatricians	2 in 15 miles	45	13.0	584	100.0	0	0.0	2.5	2.8
Decatur, GA	907	Pediatricians	2 in 15 miles	26	34.9	878	96.8	29	3.2	3.8	4.7
Early, GA	271	Pediatricians	2 in 15 miles	7		265	97.8	6	2.2	4.2	4.3
Echols, GA	294	Pediatricians	2 in 15 miles	2		294	100.0	0	0.0	2.6	2.6
Grady, GA	755	Pediatricians	2 in 15 miles	36		747	98.9	8	1.1	2.5	3.0
Irwin, GA	230	Pediatricians	2 in 15 miles	36		230	100.0	0	0.0	2.4	3.2
Lanier, GA	220	Pediatricians	2 in 15 miles	14		220	100.0	0	0.0	3.0	3.1
Lee, GA	616	Pediatricians	2 in 15 miles	34		596	96.8	20	3.2	3.3	3.5
Miller, GA	138	Pediatricians	2 in 15 miles	9		136	98.6	2	1.4	4.2	4.9
Mitchell, GA		Pediatricians	2 in 15 miles	36		526	95.8	23	4.2	4.0	4.5
Quitman, GA		Pediatricians	2 in 15 miles	10		87	100.0	0	0.0	3.2	3.2
Randolph, GA		Pediatricians	2 in 15 miles	18				0	0.0	1.6	
Schley, GA		Pediatricians	2 in 15 miles	14		110	100.0	0	0.0	2.8	3.1
Seminole, GA		Pediatricians	2 in 15 miles	14		229	89.1	28	10.9	5.1	5.5
Stewart, GA		Pediatricians	2 in 15 miles	12		88	93.6	6	6.4	3.3	3.3
Sumter, GA		Pediatricians	2 in 15 miles	72		784	99.7	2	0.3	2.2	2.5
Terrell, GA		Pediatricians	2 in 15 miles	24		244	100.0	0	0.0	3.3	3.5
Thomas, GA		Pediatricians	2 in 15 miles	62		932	100.0	0	0.0	2.9	
Tift, GA		Pediatricians	2 in 15 miles	145				0	0.0	1.3	
Turner, GA		Pediatricians	2 in 15 miles	30	9.6	289	100.0	0	0.0	2.9	2.9
Webster, GA		Pediatricians	2 in 15 miles	4	8.5	34	100.0	0	0.0	3.1	3.3
Worth, GA		Pediatricians	2 in 15 miles	19		447	99.6	2	0.4	4.0	4.2
Grand Totals	14,763	Pediatricians	2 in 15 miles	944	15.6	14,628	99.1	135	0.9	2.9	3.5
© 2022 Ouget Analytics LLC											

Adult Allergy/Immunology - Urban

October 26, 2022

Access Analysis

Adult_Allergy/Immunology - Urban

Member / Provider Groups

Adult Urban Members (SW_URBAN)

Adult_Allergy/Immunology
(SW_URBAN)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Allergy/Immunol	1 in 30 miles	12	102.2		100.0		0.0	2.2	
Lowndes, GA	1,223	Adult_Allergy/Immunol	1 in 30 miles	8	152.9	1,223	100.0	0	0.0	3.6	3.9
Grand Totals	2,449	Adult_Allergy/Immunol	1 in 30 miles	20	122.5	2,449	100.0	0	0.0	2.9	3.5
© 2022 Quest Analytics III C	•	•	•	-	•		-			•	•

Adult Allergy/Immunology - Rural

October 26, 2022

Access Analysis

Adult_Allergy/Immunology - Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Allergy/Immunology
(SW_RURAL)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Allergy/Immunol	1 in 45 miles	2	50.0	100	100.0	0	0.0	9.4	10.4
Baker, GA	22	Adult_Allergy/Immunol	1 in 45 miles	0		22	100.0	0	0.0	15.2	15.3
Ben Hill, GA	207	Adult_Allergy/Immunol	1 in 45 miles	0		207	100.0	0	0.0	9.2	9.5
Berrien, GA	247	Adult_Allergy/Immunol	1 in 45 miles	4	61.8	247	100.0	0	0.0	5.4	7.0
Brooks, GA	149	Adult_Allergy/Immunol	1 in 45 miles	2	74.5	149	100.0	0	0.0	6.4	7.3
Calhoun, GA	59	Adult_Allergy/Immunol	1 in 45 miles	1	59.0	59	100.0	0	0.0	7.0	18.4
Clay, GA	32	Adult_Allergy/Immunol	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Clinch, GA	84	Adult_Allergy/Immunol	1 in 45 miles	2	42.0	84	100.0	0	0.0	5.5	6.2
Coffee, GA	515	Adult_Allergy/Immunol	1 in 45 miles	9	57.2	515	100.0	0	0.0	5.3	5.9
Colquitt, GA	550	Adult_Allergy/Immunol	1 in 45 miles	4	137.5	550	100.0	0	0.0	5.9	7.3
Cook, GA	212	Adult_Allergy/Immunol	1 in 45 miles	7	30.3	212	100.0	0	0.0	4.1	4.5
Decatur, GA	342	Adult_Allergy/Immunol	1 in 45 miles	3	114.0	342	100.0	0	0.0	5.4	5.6
Early, GA	109	Adult_Allergy/Immunol	1 in 45 miles	0		109	100.0	0	0.0	19.7	21.3
Echols, GA	88	Adult_Allergy/Immunol	1 in 45 miles	0		88	100.0	0	0.0	25.2	28.8
Grady, GA	220	Adult_Allergy/Immunol	1 in 45 miles	0		220	100.0	0	0.0	15.2	15.6
Irwin, GA	76	Adult_Allergy/Immunol	1 in 45 miles	4	19.0	76	100.0	0	0.0	4.0	4.3
Lanier, GA		Adult_Allergy/Immunol	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Lee, GA		Adult_Allergy/Immunol	1 in 45 miles	4	58.8	235	100.0	0	0.0	7.1	7.3
Miller, GA	58	Adult_Allergy/Immunol	1 in 45 miles	2	29.0	58	100.0	0	0.0	4.9	7.2
Mitchell, GA	222	Adult_Allergy/Immunol	1 in 45 miles	2	111.0	222	100.0	0	0.0	9.2	9.3
Quitman, GA	30	Adult_Allergy/Immunol	1 in 45 miles	0		30	100.0	0	0.0	18.8	22.1
Randolph, GA	73	Adult_Allergy/Immunol	1 in 45 miles	2	36.5	73	100.0	0	0.0	3.2	3.3
Schley, GA	48	Adult_Allergy/Immunol	1 in 45 miles	0		48	100.0	0	0.0	15.0	16.3
Seminole, GA	101	Adult_Allergy/Immunol	1 in 45 miles	0		101	100.0	0	0.0	18.7	20.6
Stewart, GA		Adult_Allergy/Immunol	1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	12.8
Sumter, GA	331	Adult_Allergy/Immunol	1 in 45 miles	4	82.8	331	100.0	0	0.0	2.9	3.8
Terrell, GA	95	Adult_Allergy/Immunol	1 in 45 miles	0		95	100.0	0	0.0	17.7	19.8
Thomas, GA	362	Adult_Allergy/Immunol	1 in 45 miles	4	90.5	362	100.0	0	0.0	4.3	5.2
Tift, GA	420	Adult_Allergy/Immunol	1 in 45 miles	17	24.7	420	100.0	0	0.0	2.2	2.8
Turner, GA	113	Adult_Allergy/Immunol	1 in 45 miles	1	113.0	113	100.0	0	0.0	3.4	19.8
Webster, GA		Adult_Allergy/Immunol	1 in 45 miles	2	5.5	11	100.0	0	0.0	3.6	3.6
Worth, GA	194	Adult_Allergy/Immunol	1 in 45 miles	6	32.3	194	100.0	0	0.0	5.2	5.9
Grand Totals	5,430	Adult_Allergy/Immunol	1 in 45 miles	85	63.9	5,430	100.0	0	0.0	6.9	8.6
© 2022 Quest Analytics, LLC.											

Adult Cardiology -Urban

October 26, 2022

Access Analysis
Adult_Cardiology - Urban

Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Cardiology (SW_URBAN)

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Cardiology	1 in 30 miles	44	27.9		100.0		0.0	1.9	
Lowndes, GA	1,223	Adult_Cardiology	1 in 30 miles	47	26.0	1,223	100.0	0	0.0	3.5	3.6
Grand Totals	2 449	Adult_Cardiology	1 in 30 miles	91	26.9	2 449	100.0	0	0.0	2.7	3.1
Orana rotais	2,443	Addit_Oditiology	1 III oo miico	31	20.0	2,440	100.0	J	0.0	2.1	0.1
© 2022 Quest Analytics II C											

Adult Cardiology - Rural

October 26, 2022

Access Analysis
Adult_Cardiology - Rural

Member / Provider Groups
Adult Rural Members (SW_RURAL)
Adult_Cardiology (SW_RURAL)

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Cardiology	1 in 45 miles	3	33.3	100	100.0	0	0.0	4.6	9.8
Baker, GA	22	Adult_Cardiology	1 in 45 miles	1	22.0	22	100.0	0	0.0	4.5	13.5
Ben Hill, GA	207	Adult_Cardiology	1 in 45 miles	9	23.0	207	100.0	0	0.0	2.2	2.3
Berrien, GA	247	Adult_Cardiology	1 in 45 miles	6	41.2	247	100.0	0	0.0	4.5	6.7
Brooks, GA	149	Adult_Cardiology	1 in 45 miles	25	6.0	149	100.0	0	0.0	5.2	6.3
Calhoun, GA	59	Adult_Cardiology	1 in 45 miles	3		59	100.0	0	0.0	5.6	7.0
Clay, GA	32	Adult_Cardiology	1 in 45 miles	2	16.0	32	100.0	0	0.0	3.3	3.9
Clinch, GA	84	Adult_Cardiology	1 in 45 miles	11	7.6	84	100.0	0	0.0	5.0	5.7
Coffee, GA	515	Adult_Cardiology	1 in 45 miles	32	16.1	515	100.0	0	0.0	5.2	5.7
Colquitt, GA	550	Adult_Cardiology	1 in 45 miles	22	25.0	550	100.0	0	0.0	4.4	6.7
Cook, GA	212	Adult_Cardiology	1 in 45 miles	11	19.3	212	100.0	0	0.0	3.5	4.0
Decatur, GA	342	Adult_Cardiology	1 in 45 miles	25	13.7	342	100.0	0	0.0	4.9	5.4
Early, GA	109	Adult_Cardiology	1 in 45 miles	1	109.0	109	100.0	0	0.0	8.6	19.0
Echols, GA	88	Adult_Cardiology	1 in 45 miles	1	88.0	88	100.0	0	0.0	10.2	23.1
Grady, GA	220	Adult_Cardiology	1 in 45 miles	21	10.5	220	100.0	0	0.0	4.3	4.9
Irwin, GA	76	Adult_Cardiology	1 in 45 miles	7	10.9	76	100.0	0	0.0	3.3	4.1
Lanier, GA	78	Adult_Cardiology	1 in 45 miles	2	39.0	78	100.0	0	0.0	2.8	10.8
Lee, GA	235	Adult_Cardiology	1 in 45 miles	1	235.0	235	100.0	0	0.0	9.4	21.9
Miller, GA	58	Adult_Cardiology	1 in 45 miles	4	14.5	58	100.0	0	0.0	4.5	5.4
Mitchell, GA	222	Adult_Cardiology	1 in 45 miles	30	7.4	222	100.0	0	0.0	7.2	8.7
Quitman, GA	30	Adult_Cardiology	1 in 45 miles	1	30.0	30	100.0	0	0.0	10.0	18.8
Randolph, GA	73	Adult_Cardiology	1 in 45 miles	3	24.3	73	100.0	0	0.0	2.8	3.2
Schley, GA	48	Adult_Cardiology	1 in 45 miles	1	48.0	48	100.0	0	0.0	6.9	14.9
Seminole, GA	101	Adult_Cardiology	1 in 45 miles	4	25.3	101	100.0	0	0.0	6.6	6.8
Stewart, GA	47	Adult_Cardiology	1 in 45 miles	1	47.0	47	100.0	0	0.0	3.7	11.2
Sumter, GA	331	Adult_Cardiology	1 in 45 miles	23	14.4	331	100.0	0	0.0	2.6	3.2
Terrell, GA	95	Adult_Cardiology	1 in 45 miles	1	95.0	95	100.0	0	0.0	7.1	17.0
Thomas, GA	362	Adult_Cardiology	1 in 45 miles	57	6.4	362	100.0	0	0.0	3.5	4.7
Tift, GA		Adult_Cardiology	1 in 45 miles	21	20.0			0	0.0	2.0	2.8
Turner, GA	113	Adult_Cardiology	1 in 45 miles	2				0	0.0	3.1	9.7
Webster, GA		Adult_Cardiology	1 in 45 miles	4	2.8	11	100.0	0	0.0	3.2	3.5
Worth, GA		Adult_Cardiology	1 in 45 miles	19	10.2		100.0	0	0.0	4.9	5.6
Grand Totals	5,430	Adult_Cardiology	1 in 45 miles	354	15.3	5,430	100.0	0	0.0	4.6	7.2
© 2022 Queet Analytics III C											

Adult Endocrinology - Urban

October 26, 2022

Access Analysis
Adult_Endocrinology - Urban

Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Endocrinology (SW_URBAN)

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Endocrinology	1 in 30 miles	11			100.0		0.0	2.3	
Lowndes, GA	1,223	Adult_Endocrinology	1 in 30 miles	10	122.3	1,223	100.0	0	0.0	3.6	3.9
Grand Totals	2,449	Adult_Endocrinology	1 in 30 miles	21	116.6	2,449	100.0	0	0.0	3.0	3.5
© 2022 Ouget Analytics II C											

Adult Endocrinology - Rural

October 26, 2022

Access Analysis

Adult_Endocrinology - Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Endocrinology (SW_RURAL)

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Endocrinology	1 in 45 miles	2	50.0	100	100.0	0	0.0	9.4	10.4
Baker, GA	22	Adult_Endocrinology	1 in 45 miles	0		22	100.0	0	0.0	15.2	15.3
Ben Hill, GA	207	Adult_Endocrinology	1 in 45 miles	0		207	100.0	0	0.0	9.2	9.5
Berrien, GA	247	Adult_Endocrinology	1 in 45 miles	4	61.8	247	100.0	0	0.0	5.4	7.0
Brooks, GA	149	Adult_Endocrinology	1 in 45 miles	2	74.5	149	100.0	0	0.0	6.4	7.3
Calhoun, GA	59	Adult_Endocrinology	1 in 45 miles	1	59.0	59	100.0	0	0.0	7.0	18.7
Clay, GA	32	Adult_Endocrinology	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Clinch, GA	84	Adult_Endocrinology	1 in 45 miles	2	42.0	84	100.0	0	0.0	5.5	6.2
Coffee, GA	515	Adult_Endocrinology	1 in 45 miles	8	64.4	515	100.0	0	0.0	5.3	5.9
Colquitt, GA	550	Adult_Endocrinology	1 in 45 miles	4	137.5	550	100.0	0	0.0	5.9	7.3
Cook, GA	212	Adult_Endocrinology	1 in 45 miles	7	30.3	212	100.0	0	0.0	4.1	4.5
Decatur, GA	342	Adult_Endocrinology	1 in 45 miles	3	114.0	342	100.0	0	0.0	5.4	5.6
Early, GA	109	Adult_Endocrinology	1 in 45 miles	0		109	100.0	0	0.0	19.7	21.3
Echols, GA	88	Adult_Endocrinology	1 in 45 miles	0		88	100.0	0	0.0	25.2	28.8
Grady, GA	220	Adult_Endocrinology	1 in 45 miles	0		220	100.0	0	0.0	15.2	15.6
Irwin, GA	76	Adult_Endocrinology	1 in 45 miles	4	19.0	76	100.0	0	0.0	4.0	4.3
Lanier, GA	78	Adult_Endocrinology	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Lee, GA	235	Adult_Endocrinology	1 in 45 miles	0		235	100.0	0	0.0	22.6	23.5
Miller, GA	58	Adult_Endocrinology	1 in 45 miles	2	29.0	58	100.0	0	0.0	4.9	7.2
Mitchell, GA	222	Adult_Endocrinology	1 in 45 miles	2	111.0	222	100.0	0	0.0	9.2	9.3
Quitman, GA	30	Adult_Endocrinology	1 in 45 miles	0		30	100.0	0	0.0	18.8	22.1
Randolph, GA	73	Adult_Endocrinology	1 in 45 miles	2	36.5	73	100.0	0	0.0	3.2	3.3
Schley, GA	48	Adult_Endocrinology	1 in 45 miles	0		48	100.0	0	0.0	15.0	16.3
Seminole, GA	101	Adult_Endocrinology	1 in 45 miles	0		101	100.0	0	0.0	18.7	20.6
Stewart, GA	47	Adult_Endocrinology	1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	12.8
Sumter, GA	331	Adult_Endocrinology	1 in 45 miles	4	82.8	331	100.0	0	0.0	2.9	3.8
Terrell, GA	95	Adult_Endocrinology	1 in 45 miles	0		95	100.0	0	0.0	18.7	21.1
Thomas, GA	362	Adult_Endocrinology	1 in 45 miles	4	90.5	362	100.0	0	0.0	4.3	5.2
Tift, GA	420	Adult_Endocrinology	1 in 45 miles	12	35.0	420	100.0	0	0.0	2.2	3.0
Turner, GA	113	Adult_Endocrinology	1 in 45 miles	1	113.0	113	100.0	0	0.0	3.4	19.8
Webster, GA	11	Adult_Endocrinology	1 in 45 miles	2	5.5	11	100.0	0	0.0	3.6	3.6
Worth, GA	194	Adult_Endocrinology	1 in 45 miles	6	32.3	194	100.0	0	0.0	5.3	6.0
Grand Totals	5,430	Adult_Endocrinology	1 in 45 miles	75	72.4	5,430	100.0	0	0.0	7.6	9.3
© 2022 Quest Analytics II C											

Adult ENT - Urban

October 26, 2022

Access Analysis
Adult_ENT- Urban

Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_ENT (SW_URBAN)

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_ENT	1 in 30 miles	14	87.6		100.0		0.0	2.2	2.9
Lowndes, GA	1,223	Adult_ENT	1 in 30 miles	10	122.3	1,223	100.0	0	0.0	3.6	3.9
Grand Totals	2,449	Adult_ENT	1 in 30 miles	24	102.0	2,449	100.0	0	0.0	2.9	3.4
© 2022 Quest Analytics, LLC.											

Adult ENT - Rural

October 26, 2022

Access Analysis
Adult_ENT - Rural

Member / Provider Groups
Adult Rural Members (SW_RURAL)
Adult_ENT (SW_RURAL)

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_ENT	1 in 45 miles	2	50.0	100	100.0	0	0.0	9.4	10.4
Baker, GA	22	Adult_ENT	1 in 45 miles	0		22	100.0	0	0.0	15.2	15.3
Ben Hill, GA	207	Adult_ENT	1 in 45 miles	0		207	100.0	0	0.0	9.2	9.5
Berrien, GA	247	Adult_ENT	1 in 45 miles	4	61.8	247	100.0	0	0.0	5.4	7.0
Brooks, GA	149	Adult_ENT	1 in 45 miles	3	49.7	149	100.0	0	0.0	6.3	6.9
Calhoun, GA	59	Adult_ENT	1 in 45 miles	1	59.0	59	100.0	0	0.0	7.0	18.7
Clay, GA	32	Adult_ENT	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Clinch, GA	84	Adult_ENT	1 in 45 miles	2	42.0	84	100.0	0	0.0	5.5	6.2
Coffee, GA	515	Adult_ENT	1 in 45 miles	9	57.2	515	100.0	0	0.0	5.3	5.8
Colquitt, GA	550	Adult_ENT	1 in 45 miles	5	110.0	550	100.0	0	0.0	5.9	7.2
Cook, GA	212	Adult_ENT	1 in 45 miles	7	30.3	212	100.0	0	0.0	4.1	4.5
Decatur, GA	342	Adult_ENT	1 in 45 miles	4	85.5	342	100.0	0	0.0	5.3	5.5
Early, GA	109	Adult_ENT	1 in 45 miles	0		109	100.0	0	0.0	19.7	21.3
Echols, GA	88	Adult_ENT	1 in 45 miles	0		88	100.0	0	0.0	25.2	28.6
Grady, GA		Adult_ENT	1 in 45 miles	1	220.0	220	100.0	0	0.0	4.8	15.0
Irwin, GA	76	Adult_ENT	1 in 45 miles	4	19.0		100.0	0	0.0	4.0	
Lanier, GA		Adult_ENT	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Lee, GA		Adult_ENT	1 in 45 miles	0		235		0	0.0	22.6	23.5
Miller, GA	58	Adult_ENT	1 in 45 miles	2	29.0		100.0	0	0.0	4.9	7.2
Mitchell, GA		Adult_ENT	1 in 45 miles	3	74.0		100.0	0	0.0	8.2	9.2
Quitman, GA		Adult_ENT	1 in 45 miles	0			100.0	0	0.0	18.8	
Randolph, GA	73	Adult_ENT	1 in 45 miles	2	36.5		100.0	0	0.0	3.2	
Schley, GA		Adult_ENT	1 in 45 miles	0			100.0	0	0.0	15.0	16.3
Seminole, GA		Adult_ENT	1 in 45 miles	0		101	100.0	0	0.0	18.7	20.6
Stewart, GA		Adult_ENT	1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	
Sumter, GA		Adult_ENT	1 in 45 miles	4	82.8	331	100.0	0	0.0	2.9	
Terrell, GA		Adult_ENT	1 in 45 miles	0			100.0	0	0.0	18.7	21.1
Thomas, GA	362	Adult_ENT	1 in 45 miles	5	72.4		100.0	0	0.0	4.1	5.1
Tift, GA	420	Adult_ENT	1 in 45 miles	16	26.3		100.0	0	0.0	2.2	
Turner, GA		Adult_ENT	1 in 45 miles	1	113.0		100.0	0	0.0	3.4	19.8
Webster, GA		Adult_ENT	1 in 45 miles	2		11		0	0.0	3.6	
Worth, GA		_ Adult_ENT	1 in 45 miles	6	32.3		100.0	0	0.0	5.3	
Grand Totals	5,430	Adult_ENT	1 in 45 miles	86	63.1	5,430	100.0	0	0.0	7.2	9.2
© 2022 Quest Analytics III C											

Adult Gastroenterology - Urban

October 26, 2022

Access Analysis
Adult_Gastreontology - Urban
Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Gastroenterology
(SW_URBAN)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA	1,226	Adult_Gastroenterology	1 in 30 miles	50			100.0		0.0	2.1	2.8
Lowndes, GA	1,223	Adult_Gastroenterology	1 in 30 miles	18	67.9	1,223	100.0	0	0.0	3.3	3.6
Grand Totals	2,449	Adult_Gastroenterology	1 in 30 miles	68	36.0	2,449	100.0	0	0.0	2.7	3.2
© 2022 Quest Analytics III C											

Adult Gastroenterology - Rural

October 26, 2022

Access Analysis

Adult_Gastreontology- Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Gastroenterology
(SW_RURAL)

Baker, GA 22 Adult, Gastroenterology of the Smiles 0				Members With a	and With	out Access						
County # Group Standard # to Providers # % # % 1 2 2		Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
Baker, GA 22 Adult, Gastroenterology of the Smiles 0	County	#	Group	Standard	#		#	%	#	%	1	2
Ben Hill, GA	Atkinson, GA	100	Adult_Gastroenterology	1 in 45 miles	2	50.0	100	100.0	0	0.0	9.4	10.4
Berrien, GA	Baker, GA	22	Adult_Gastroenterology	1 in 45 miles	0		22	100.0	0	0.0	15.2	15.3
Brooks, GA	Ben Hill, GA	207	Adult_Gastroenterology	1 in 45 miles	0		207	100.0	0	0.0	9.2	9.5
Callyoun, GA 59 Adult_Gastroenterology 1 in 45 miles 1 59.0 59 100.0 0 0.0 7.0 18.1 (Clay, GA 32 Adult_Gastroenterology 1 in 45 miles 1 32.0 32 100.0 0 0.0 3.5 18.5 (Clinch, GA 84 Adult_Gastroenterology 1 in 45 miles 1 32.0 32 100.0 0 0.0 5.5 5.5 5.5 (Colquit, GA 550 Adult_Gastroenterology 1 in 45 miles 7 78.6 550 100.0 0 0.0 5.3 5.5 5.5 (Colquit, GA 550 Adult_Gastroenterology 1 in 45 miles 7 78.6 550 100.0 0 0.0 5.9 72.0 (Cook, GA 212 Adult_Gastroenterology 1 in 45 miles 7 78.6 550 100.0 0 0.0 5.9 73.0 (Cook, GA 212 Adult_Gastroenterology 1 in 45 miles 10 21.2 212 100.0 0 0.0 3.8 4.4 (Cook, GA 109 Adult_Gastroenterology 1 in 45 miles 0 10 21.2 212 100.0 0 0.0 5.9 73.0 (Cook, GA 109 Adult_Gastroenterology 1 in 45 miles 0 10 21.2 212 100.0 0 0.0 5.4 5.6 (Cook, GA 109 Adult_Gastroenterology 1 in 45 miles 0 10 21.2 212 100.0 0 0.0 5.4 5.6 (Cook, GA 109 Adult_Gastroenterology 1 in 45 miles 0 10 21.2 212 100.0 0 0.0 0.0 5.4 5.6 (Cook, GA 109 Adult_Gastroenterology 1 in 45 miles 0 10 21.2 212 100.0 0 0.0 0.0 5.4 5.6 (Cook, GA 109 Adult_Gastroenterology 1 in 45 miles 0 10 21.2 212 100.0 0 0.0 0.0 5.4 5.6 (Cook, GA 109 Adult_Gastroenterology 1 in 45 miles 0 10 21.2 212 100.0 0 0.0 0.0 5.4 5.6 (Cook, GA 109 Adult_Gastroenterology 1 in 45 miles 0 10 21.2 21.2 (Cook, GA 100.0 0 0.0 0.0 15.1 15.3 (Cook, GA 100.0 0 0.0 0.0 15.1 15.3 (Cook, GA 100.0 0 0.0 0.0 15.1 15.3 (Cook, GA 100.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0	Berrien, GA	247	Adult_Gastroenterology	1 in 45 miles	4	61.8	247	100.0	0	0.0	5.4	7.0
Clay, GA 32 Adult_Gastroenterology 1 in 45 miles 3 2.0 32 100.0 0 0.0 3.5 18.0 Clinch, GA 84 Adult_Gastroenterology 1 in 45 miles 3 28.0 84 100.0 0 0.0 5.5 3.5 5.0 Coffee, GA 515 Adult_Gastroenterology 1 in 45 miles 8 64.4 515 100.0 0 0.0 5.3 5.5 5.0 Coffee, GA 212 Adult_Gastroenterology 1 in 45 miles 7 78.6 550 100.0 0 0.0 5.9 7.2 5.0 Coffee, GA 212 Adult_Gastroenterology 1 in 45 miles 10 21.2 212 100.0 0 0.0 3.8 4.5 5.0 Early, CA 109 Adult_Gastroenterology 1 in 45 miles 3 11.4 0 342 100.0 0 0.0 5.4 5.6 5.0 Early, CA 109 Adult_Gastroenterology 1 in 45 miles 0 109 100.0 0 0.0 19.7 21.3 Early, CA 220 Adult_Gastroenterology 1 in 45 miles 0 200 0 109 100.0 0 0.0 19.7 21.3 Early, CA 220 Adult_Gastroenterology 1 in 45 miles 0 200 0 200 0 0.0 19.7 21.3 Early, CA 200 0 0 0.0 19.7 21.3 Early, CA 200 0 0 0 0.0 19.7 21.3 Early, CA 200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Brooks, GA	149	Adult_Gastroenterology	1 in 45 miles	2	74.5	149	100.0	0	0.0	6.3	7.1
Clinch, GA	Calhoun, GA	59	Adult_Gastroenterology	1 in 45 miles	1	59.0	59	100.0	0	0.0	7.0	18.7
Coffee, GA	Clay, GA	32	Adult_Gastroenterology	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Colquitt, GA 550 Adult_ Gastroenterology 1 in 45 miles 7 78.6 550 100.0 0 0.0 5.9 7.2	Clinch, GA	84	Adult_Gastroenterology	1 in 45 miles	3	28.0	84	100.0	0	0.0	5.5	5.8
Cook, GA 212 Adult_Gastroenterology 1 in 45 miles 10 21.2 212 100.0 0 0.0 3.8 4.7 Decatur, GA 342 Adult_Gastroenterology 1 in 45 miles 3 114.0 342 100.0 0 0.0 5.4 5.5 Early, GA 109 Adult_Gastroenterology 1 in 45 miles 0 109 100.0 0 0.0 1.97 21.3 Crady, GA 220 Adult_Gastroenterology 1 in 45 miles 0 220 100.0 0 0.0 25.2 28.8 Grady, GA 220 Adult_Gastroenterology 1 in 45 miles 0 220 100.0 0 0.0 25.2 28.8 Lee, GA 78 Adult_Gastroenterology 1 in 45 miles 1 78.0 78 100.0 0 0.0 22.6 22.2 Miltchell, GA 222 Adult_Gastroenterology 1 in 45 miles 2 29.0 58 100.0	Coffee, GA	515	Adult_Gastroenterology	1 in 45 miles	8	64.4	515	100.0	0	0.0	5.3	5.9
Decatur, GA 342 Adult_Gastroenterology 1 in 45 miles 3 114.0 342 100.0 0 0.0 5.4 5.6	Colquitt, GA	550	Adult_Gastroenterology	1 in 45 miles	7	78.6	550	100.0	0	0.0	5.9	7.2
Early, GA 109 Adult_Gastroenterology 1 in 45 miles 0 109 100.0 0 0.0 19.7 21.3 Echols, GA 88 Adult_Gastroenterology 1 in 45 miles 0 88 100.0 0 0.0 25.2 28.8 Grady, GA 220 Adult_Gastroenterology 1 in 45 miles 0 220 100.0 0 0.0 15.1 15.3 Inwin, GA 76 Adult_Gastroenterology 1 in 45 miles 4 19.0 76 100.0 0 0.0 4.0 4.3 Lee, GA 235 Adult_Gastroenterology 1 in 45 miles 1 78.0 78 100.0 0 0.0 3.7 17.7 Lee, GA 235 Adult_Gastroenterology 1 in 45 miles 2 29.0 58 100.0 0 0.0 22.6 22.8 Miller, GA 222 Adult_Gastroenterology 1 in 45 miles 2 111.0 222 100.0	Cook, GA	212	Adult_Gastroenterology	1 in 45 miles	10	21.2	212	100.0	0	0.0	3.8	4.1
Echols, GA	Decatur, GA	342	Adult_Gastroenterology	1 in 45 miles	3	114.0	342	100.0	0	0.0	5.4	5.6
Grady, GA 220 Adult_Gastroenterology 1 in 45 miles 0 220 100.0 0 0.0 15.1	Early, GA	109	Adult_Gastroenterology	1 in 45 miles	0		109	100.0	0	0.0	19.7	21.3
Irwin, GA	Echols, GA	88	Adult_Gastroenterology	1 in 45 miles	0		88	100.0	0	0.0	25.2	28.8
Lanier, GA 78 Adult_Gastroenterology 1 in 45 miles 1 78.0 78 100.0 0 0.0 3.7 17.4 Lee, GA 235 Adult_Gastroenterology 1 in 45 miles 0 235 100.0 0 0.0 22.6 22.8 Milter, GA 58 Adult_Gastroenterology 1 in 45 miles 2 29.0 58 100.0 0 0.0 4.9 7.3 Miltchell, GA 222 Adult_Gastroenterology 1 in 45 miles 2 111.0 222 100.0 0 0.0 9.2 9.3 Quitman, GA 30 Adult_Gastroenterology 1 in 45 miles 0 30 100.0 0 0.0 18.8 22. Randolph, GA 73 Adult_Gastroenterology 1 in 45 miles 2 36.5 73 100.0 0 0.0 18.8 22. Schley, GA 48 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 15.0 16. Sewart, GA 47 Adult_Gastroenterology 1 in 45 miles 0	Grady, GA	220	Adult_Gastroenterology	1 in 45 miles	0		220	100.0	0	0.0	15.1	15.3
Lee, GA 235 Adult_Gastroenterology 1 in 45 miles 0 235 100.0 0 0.0 22.6 22.5 Miller, GA 58 Adult_Gastroenterology 1 in 45 miles 2 29.0 58 100.0 0 0.0 4.9 7.2 Mitchell, GA 222 Adult_Gastroenterology 1 in 45 miles 2 111.0 222 100.0 0 0.0 9.2 9.3 Quitman, GA 30 Adult_Gastroenterology 1 in 45 miles 0 30 100.0 0 0.0 18.8 22. Randolph, GA 73 Adult_Gastroenterology 1 in 45 miles 0 30 100.0 0 0.0 18.8 22. Schley, GA 48 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 15.0 16.3 Seminole, GA 101 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 18.7 20.6 Sumter, GA 331 <	Irwin, GA	76	Adult_Gastroenterology	1 in 45 miles	4	19.0	76	100.0	0	0.0	4.0	4.3
Miller, GA 58 Adult_Gastroenterology 1 in 45 miles 2 29.0 58 100.0 0 0.0 4.9 7.2 Mitchell, GA 222 Adult_Gastroenterology 1 in 45 miles 2 111.0 222 100.0 0 0.0 9.2 9.3 Quitman, GA 30 Adult_Gastroenterology 1 in 45 miles 0 30 100.0 0 0.0 18.8 22.7 Randolph, GA 73 Adult_Gastroenterology 1 in 45 miles 2 36.5 73 100.0 0 0.0 3.2 3.3 Schley, GA 48 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 15.0 16.3 Seminole, GA 101 Adult_Gastroenterology 1 in 45 miles 0 101 100.0 0 0.0 18.7 20.6 Stewart, GA 47 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 0.0 0.2 12.8 Sumter, GA	Lanier, GA	78	Adult_Gastroenterology	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Miller, GA 58 Adult_Gastroenterology 1 in 45 miles 2 29.0 58 100.0 0 0.0 4.9 7.2 Mitchell, GA 222 Adult_Gastroenterology 1 in 45 miles 2 111.0 222 100.0 0 0.0 9.2 9.3 Quitman, GA 30 Adult_Gastroenterology 1 in 45 miles 0 30 100.0 0 0.0 18.8 22.7 Randolph, GA 73 Adult_Gastroenterology 1 in 45 miles 2 36.5 73 100.0 0 0.0 3.2 3.3 Schley, GA 48 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 15.0 16.3 Seminole, GA 101 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 18.7 20.6 Stewart, GA 47 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 0.0 2.2 3.8 Terrell, GA	Lee, GA	235	Adult_Gastroenterology	1 in 45 miles	0		235	100.0	0	0.0	22.6	22.9
Quitman, GA 30 Adult_Gastroenterology 1 in 45 miles 0 30 100.0 0 0.0 18.8 22.7 Randolph, GA 73 Adult_Gastroenterology 1 in 45 miles 2 36.5 73 100.0 0 0.0 3.2 3.3 Schley, GA 48 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 15.0 16.3 Seminole, GA 101 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 18.7 20.6 Stewart, GA 47 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 6.2 12.8 Sumter, GA 331 Adult_Gastroenterology 1 in 45 miles 4 82.8 331 100.0 0 0.0 2.9 3.8 Terrell, GA 95 Adult_Gastroenterology 1 in 45 miles 2 18.1 362 100.0 0 0.0 18.7 21. Tift, GA 420	Miller, GA	58	Adult_Gastroenterology	1 in 45 miles	2	29.0	58	100.0	0	0.0	4.9	7.2
Quitman, GA 30 Adult_Gastroenterology 1 in 45 miles 0 30 100.0 0 0.0 18.8 22.7 Randolph, GA 73 Adult_Gastroenterology 1 in 45 miles 2 36.5 73 100.0 0 0.0 3.2 3.3 Schley, GA 48 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 15.0 16.3 Seminole, GA 101 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 18.7 20.6 Stewart, GA 47 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 6.2 12.8 Sumter, GA 331 Adult_Gastroenterology 1 in 45 miles 4 82.8 331 100.0 0 0.0 2.9 3.8 Terrell, GA 95 Adult_Gastroenterology 1 in 45 miles 2 18.1 362 100.0 0 0.0 18.7 21. Tift, GA 420	Mitchell, GA	222	Adult_Gastroenterology	1 in 45 miles	2	111.0	222	100.0	0	0.0	9.2	9.3
Schley, GA 48 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 15.0 16.3 Seminole, GA 101 Adult_Gastroenterology 1 in 45 miles 0 101 100.0 0 0.0 18.7 20.6 Stewart, GA 47 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 6.2 12.8 Sumter, GA 331 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 6.2 12.8 Terrell, GA 95 Adult_Gastroenterology 1 in 45 miles 0 95 100.0 0 0.0 18.7 21.7 Tift, GA 362 Adult_Gastroenterology 1 in 45 miles 20 18.1 362 100.0 0 0.0 4.2 4.5 Turner, GA 113 Adult_Gastroenterology 1 in 45 miles 1 2 56.5 113 100.0 0 0.0 3.6 3.6 Worth, GA <t< td=""><td>Quitman, GA</td><td>30</td><td>Adult_Gastroenterology</td><td>1 in 45 miles</td><td>0</td><td></td><td>30</td><td>100.0</td><td>0</td><td>0.0</td><td>18.8</td><td>22.1</td></t<>	Quitman, GA	30	Adult_Gastroenterology	1 in 45 miles	0		30	100.0	0	0.0	18.8	22.1
Schley, GA 48 Adult_Gastroenterology 1 in 45 miles 0 48 100.0 0 0.0 15.0 16.3 Seminole, GA 101 Adult_Gastroenterology 1 in 45 miles 0 101 100.0 0 0.0 18.7 20.6 Stewart, GA 47 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 6.2 12.8 Sumter, GA 331 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 6.2 12.8 Terrell, GA 95 Adult_Gastroenterology 1 in 45 miles 0 95 100.0 0 0.0 2.9 3.8 Tift, GA 362 Adult_Gastroenterology 1 in 45 miles 20 18.1 362 100.0 0 0.0 4.2 4.5 Tift, GA 420 Adult_Gastroenterology 1 in 45 miles 19 22.1 420 100.0 0 0.0 3.1 7.0 Webster, GA 11 <t< td=""><td>Randolph, GA</td><td>73</td><td>Adult_Gastroenterology</td><td>1 in 45 miles</td><td>2</td><td>36.5</td><td>73</td><td>100.0</td><td>0</td><td>0.0</td><td>3.2</td><td>3.3</td></t<>	Randolph, GA	73	Adult_Gastroenterology	1 in 45 miles	2	36.5	73	100.0	0	0.0	3.2	3.3
Seminole, GA 101 Adult_Gastroenterology 1 in 45 miles 0 101 100.0 0 0.0 18.7 20.6 Stewart, GA 47 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 6.2 12.8 Sumter, GA 331 Adult_Gastroenterology 1 in 45 miles 4 82.8 331 100.0 0 0.0 2.9 3.8 Terrell, GA 95 Adult_Gastroenterology 1 in 45 miles 0 95 100.0 0 0.0 18.7 21.7 Thomas, GA 362 Adult_Gastroenterology 1 in 45 miles 20 18.1 362 100.0 0 0.0 4.2 4.8 Tift, GA 420 Adult_Gastroenterology 1 in 45 miles 19 22.1 420 100.0 0 0.0 2.2 3.6 Turner, GA 11 Adult_Gastroenterology 1 in 45 miles 2 5.5 11 100.0	Schley, GA	48	Adult_Gastroenterology	1 in 45 miles	0		48	100.0	0	0.0	15.0	16.3
Stewart, GA 47 Adult_Gastroenterology 1 in 45 miles 1 47.0 47 100.0 0 0.0 6.2 12.6 Sumter, GA 331 Adult_Gastroenterology 1 in 45 miles 4 82.8 331 100.0 0 0.0 2.9 3.8 Terrell, GA 95 Adult_Gastroenterology 1 in 45 miles 0 95 100.0 0 0.0 18.7 21.7 Thomas, GA 362 Adult_Gastroenterology 1 in 45 miles 20 18.1 362 100.0 0 0.0 4.2 4.8 Tift, GA 420 Adult_Gastroenterology 1 in 45 miles 19 22.1 420 100.0 0 0.0 2.2 3.6 Turner, GA 113 Adult_Gastroenterology 1 in 45 miles 2 56.5 113 100.0 0 0.0 3.1 7.0 Webster, GA 11 Adult_Gastroenterology 1 in 45 miles 2 5.5 11 100.0 0 0.0 3.6 3.6 Worth, GA 194 Adult_Gastroenterology 1 in 45 miles 7 27.7 194 100.0 0 0.0 5.2 5.5	Seminole, GA	101	Adult_Gastroenterology	1 in 45 miles	0		101	100.0	0	0.0	18.7	20.6
Sumter, GA 331 Adult_Gastroenterology 1 in 45 miles 4 82.8 331 100.0 0 0.0 2.9 3.8 Terrell, GA 95 Adult_Gastroenterology 1 in 45 miles 0 95 100.0 0 0.0 18.7 21.7 Thomas, GA 362 Adult_Gastroenterology 1 in 45 miles 20 18.1 362 100.0 0 0.0 4.2 4.5 Tift, GA 420 Adult_Gastroenterology 1 in 45 miles 19 22.1 420 100.0 0 0.0 2.2 3.6 Turner, GA 113 Adult_Gastroenterology 1 in 45 miles 2 56.5 113 100.0 0 0.0 3.1 7.0 Webster, GA 11 Adult_Gastroenterology 1 in 45 miles 2 5.5 11 100.0 0 0.0 3.6 3.6 Worth, GA 194 Adult_Gastroenterology 1 in 45 miles 7 27.7 194 100.0 0 0.0 5.2 5.3	Stewart, GA			1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	12.8
Terrell, GA 95 Adult_Gastroenterology 1 in 45 miles 0 95 100.0 0 0.0 18.7 21.7 Thomas, GA 362 Adult_Gastroenterology 1 in 45 miles 20 18.1 362 100.0 0 0.0 4.2 4.8 Tift, GA 420 Adult_Gastroenterology 1 in 45 miles 19 22.1 420 100.0 0 0.0 2.2 3.0 Turner, GA 113 Adult_Gastroenterology 1 in 45 miles 2 56.5 113 100.0 0 0.0 3.1 7.0 Webster, GA 11 Adult_Gastroenterology 1 in 45 miles 2 5.5 11 100.0 0 0.0 3.6 3.6 Worth, GA 194 Adult_Gastroenterology 1 in 45 miles 7 27.7 194 100.0 0 0.0 5.2 5.3	Sumter, GA	331	Adult_Gastroenterology	1 in 45 miles	4	82.8	331	100.0	0	0.0	2.9	3.8
Thomas, GA 362 Adult_Gastroenterology 1 in 45 miles 20 18.1 362 100.0 0 0.0 4.2 4.8 Tift, GA 420 Adult_Gastroenterology 1 in 45 miles 19 22.1 420 100.0 0 0.0 2.2 3.0 Turner, GA 113 Adult_Gastroenterology 1 in 45 miles 2 56.5 113 100.0 0 0.0 3.1 7.0 Webster, GA 11 Adult_Gastroenterology 1 in 45 miles 2 5.5 11 100.0 0 0.0 3.6 3.6 Worth, GA 194 Adult_Gastroenterology 1 in 45 miles 7 27.7 194 100.0 0 0.0 5.2 5.3	Terrell, GA	95	Adult_Gastroenterology	1 in 45 miles	0		95	100.0	0	0.0	18.7	21.1
Tift, GA 420 Adult_Gastroenterology 1 in 45 miles 19 22.1 420 100.0 0 0.0 2.2 3.0 Turner, GA 113 Adult_Gastroenterology 1 in 45 miles 2 56.5 113 100.0 0 0.0 3.1 7.0 Webster, GA 11 Adult_Gastroenterology 1 in 45 miles 2 5.5 11 100.0 0 0.0 3.6 3.6 Worth, GA 194 Adult_Gastroenterology 1 in 45 miles 7 27.7 194 100.0 0 0.0 5.2 5.7	Thomas, GA		• • • • • • • • • • • • • • • • • • • •	1 in 45 miles	20	18.1			0	0.0		
Turner, GA 113 Adult_Gastroenterology 1 in 45 miles 2 56.5 113 100.0 0 0.0 3.1 7.0 Webster, GA 11 Adult_Gastroenterology 1 in 45 miles 2 5.5 11 100.0 0 0.0 3.6 3.6 Worth, GA 194 Adult_Gastroenterology 1 in 45 miles 7 27.7 194 100.0 0 0.0 5.2 5.7	Tift, GA		• • • • • • • • • • • • • • • • • • • •	1 in 45 miles		22.1			0			
Webster, GA 11 Adult_Gastroenterology 1 in 45 miles 2 5.5 11 100.0 0 0.0 3.6 3.6 Worth, GA 194 Adult_Gastroenterology 1 in 45 miles 7 27.7 194 100.0 0 0.0 5.2 5.7				1 in 45 miles		56.5			0		3.1	7.0
Worth, GA 194 Adult_Gastroenterology 1 in 45 miles 7 27.7 194 100.0 0 0.0 5.2 5.7	Webster, GA			1 in 45 miles					0		3.6	
Grand Totals 5,430 Adult_Gastroenterology 1 in 45 miles 107 50.7 5,430 100.0 0 0.0 7.6 8.9	Worth, GA			1 in 45 miles	7		194					5.7
	Grand Totals	5,430	Adult_Gastroenterology	1 in 45 miles	107	50.7	5,430	100.0	0	0.0	7.6	8.9
	© 2022 Ouget Anglytics II C											

Adult Hematology/Oncology - Urban

October 26, 2022

Access Analysis

Adult_Hemotology/Oncology- Urban

Member / Provider Groups

Adult Urban Members (SW_URBAN)

Adult_Hematology/Oncology
(SW_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA			1 in 30 miles	20			100.0		0.0	3.4	4.1		
Lowndes, GA	1,223	Adult_Hematology/On	1 in 30 miles	11	111.2	1,223	100.0	0	0.0	4.2	4.2		
Grand Totals	2,449	Adult_Hematology/On	1 in 30 miles	31	79.0	2,449	100.0	0	0.0	3.8	4.1		
2022 Ouest Analytics II C													

Adult Hematology/Oncology - Rural

October 26, 2022

Access Analysis

Adult_Hemotology/Oncology - Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Hematology/Oncology
(SW_RURAL)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Hematology/On	1 in 45 miles	0		100	100.0	0	0.0	16.1	16.1
Baker, GA	22	Adult_Hematology/On	1 in 45 miles	0		22	100.0	0	0.0	15.0	34.0
Ben Hill, GA	207	Adult_Hematology/On	1 in 45 miles	4	51.8	207	100.0	0	0.0	3.2	3.2
Berrien, GA	247	Adult_Hematology/On	1 in 45 miles	0		247	100.0	0	0.0	28.5	28.5
Brooks, GA	149	Adult_Hematology/On	1 in 45 miles	0		149	100.0	0	0.0	23.1	23.1
Calhoun, GA	59	Adult_Hematology/On	1 in 45 miles	0		32	54.2	27	45.8	41.7	44.4
Clay, GA	32	Adult_Hematology/On	1 in 45 miles	0		0	0.0	32	100.0	60.5	61.4
Clinch, GA	84	Adult_Hematology/On	1 in 45 miles	0		77	91.7	7	8.3	37.4	37.4
Coffee, GA	515	Adult_Hematology/On	1 in 45 miles	6	85.8	515	100.0	0	0.0	6.2	6.7
Colquitt, GA	550	Adult_Hematology/On	1 in 45 miles	12	45.8	550	100.0	0	0.0	7.3	7.4
Cook, GA	212	Adult_Hematology/On	1 in 45 miles	1	212.0	212	100.0	0	0.0	20.9	20.9
Decatur, GA	342	Adult_Hematology/On	1 in 45 miles	5	68.4	342	100.0	0	0.0	5.4	5.5
Early, GA	109	Adult_Hematology/On	1 in 45 miles	0		26	23.9	83	76.1	44.7	45.4
Echols, GA	88	Adult_Hematology/On	1 in 45 miles	0		0	0.0	88	100.0	51.5	51.5
Grady, GA	220	Adult_Hematology/On	1 in 45 miles	0		220	100.0	0	0.0	14.0	16.1
Irwin, GA	76	Adult_Hematology/On	1 in 45 miles	0		76	100.0	0	0.0	9.7	9.7
Lanier, GA	78	Adult_Hematology/On	1 in 45 miles	0		78	100.0	0	0.0	38.4	38.4
Lee, GA	235	Adult_Hematology/On	1 in 45 miles	0		235	100.0	0	0.0	24.1	24.1
Miller, GA	58	Adult_Hematology/On	1 in 45 miles	0		58	100.0	0	0.0	23.4	23.4
Mitchell, GA	222	Adult_Hematology/On	1 in 45 miles	1	222.0	222	100.0	0	0.0	9.4	24.5
Quitman, GA	30	Adult_Hematology/On	1 in 45 miles	0		0	0.0	30	100.0	53.8	53.8
Randolph, GA	73	Adult_Hematology/On	1 in 45 miles	0		40	54.8	33	45.2	44.2	44.2
Schley, GA	48	Adult_Hematology/On	1 in 45 miles	0		48	100.0	0	0.0	14.5	14.5
Seminole, GA	101	Adult_Hematology/On	1 in 45 miles	0		101	100.0	0	0.0	24.7	24.7
Stewart, GA	47	Adult_Hematology/On	1 in 45 miles	0		46	97.9	1	2.1	29.0	29.0
Sumter, GA	331	Adult_Hematology/On	1 in 45 miles	9	36.8	331	100.0	0	0.0	3.8	3.8
Terrell, GA	95	Adult_Hematology/On	1 in 45 miles	0		95	100.0	0	0.0	27.5	27.5
Thomas, GA	362	Adult_Hematology/On	1 in 45 miles	7	51.7	362	100.0	0	0.0	4.7	5.4
Tift, GA	420	Adult_Hematology/On	1 in 45 miles	5	84.0	420	100.0	0	0.0	4.3	4.3
Turner, GA	113	Adult_Hematology/On	1 in 45 miles	0		113	100.0	0	0.0	21.6	21.6
Webster, GA	11	Adult_Hematology/On	1 in 45 miles	0		11	100.0	0	0.0	17.6	17.6
Worth, GA	194	Adult_Hematology/On	1 in 45 miles	6	32.3	194	100.0	0	0.0	6.6	6.6
Grand Totals	5,430	Adult_Hematology/On	1 in 45 miles	56	97.0	5,129	94.5	301	5.5	14.8	15.7

Adult Nephrology - Urban

October 26, 2022

Access Analysis

Adult_Nephrology - Urban

Member / Provider Groups

Adult Urban Members (SW_URBAN)

Adult_Nephrology (SW_URBAN)

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members			Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Nephrology	1 in 30 miles	54	22.7		100.0		0.0	2.0	2.5
Lowndes, GA	1,223	Adult_Nephrology	1 in 30 miles	19	64.4	1,223	100.0	0	0.0	3.3	3.5
Grand Totals	2,449	Adult_Nephrology	1 in 30 miles	73	33.5	2,449	100.0	0	0.0	2.7	3.0

Adult Nephrology - Rural

October 26, 2022

Access Analysis

Adult_Nephrology - Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Nephrology (SW_RURAL)

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Nephrology	1 in 45 miles	2	50.0	100	100.0	0	0.0	9.4	10.4
Baker, GA	22	Adult_Nephrology	1 in 45 miles	0		22	100.0	0	0.0	12.9	14.7
Ben Hill, GA	207	Adult_Nephrology	1 in 45 miles	0		207	100.0	0	0.0	9.2	9.5
Berrien, GA	247	Adult_Nephrology	1 in 45 miles	4	61.8	247	100.0	0	0.0	5.4	7.0
Brooks, GA	149	Adult_Nephrology	1 in 45 miles	11	13.5	149	100.0	0	0.0	6.3	6.3
Calhoun, GA	59	Adult_Nephrology	1 in 45 miles	3	19.7	59	100.0	0	0.0	3.7	7.9
Clay, GA	32	Adult_Nephrology	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Clinch, GA	84	Adult_Nephrology	1 in 45 miles	2	42.0	84	100.0	0	0.0	5.5	6.2
Coffee, GA	515	Adult_Nephrology	1 in 45 miles	8	64.4	515	100.0	0	0.0	5.3	5.9
Colquitt, GA	550	Adult_Nephrology	1 in 45 miles	15	36.7	550	100.0	0	0.0	5.8	7.1
Cook, GA	212	Adult_Nephrology	1 in 45 miles	7	30.3	212	100.0	0	0.0	4.1	4.5
Decatur, GA	342	Adult_Nephrology	1 in 45 miles	13	26.3	342	100.0	0	0.0	5.3	5.4
Early, GA	109	Adult_Nephrology	1 in 45 miles	5		109	100.0	0	0.0	4.8	5.0
Echols, GA	88	Adult_Nephrology	1 in 45 miles	0		88	100.0	0	0.0	25.1	28.5
Grady, GA	220	Adult_Nephrology	1 in 45 miles	8	27.5	220	100.0	0	0.0	4.8	4.9
Irwin, GA	76	Adult_Nephrology	1 in 45 miles	4	19.0		100.0	0	0.0	4.0	4.3
Lanier, GA		Adult_Nephrology	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Lee, GA	235	Adult_Nephrology	1 in 45 miles	5	47.0	235		0	0.0	7.4	7.4
Miller, GA		Adult_Nephrology	1 in 45 miles	2	29.0		100.0	0	0.0	4.9	7.2
Mitchell, GA		Adult_Nephrology	1 in 45 miles	9	24.7	222	100.0	0	0.0	8.6	9.0
Quitman, GA		Adult_Nephrology	1 in 45 miles	0				0	0.0	18.8	
Randolph, GA	73	Adult_Nephrology	1 in 45 miles	2	36.5		100.0	0	0.0	3.0	3.1
Schley, GA		Adult_Nephrology	1 in 45 miles	0		48	100.0	0	0.0	15.0	15.3
Seminole, GA		Adult_Nephrology	1 in 45 miles	0		101	100.0	0	0.0	18.7	20.5
Stewart, GA		Adult_Nephrology	1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	12.8
Sumter, GA		Adult_Nephrology	1 in 45 miles	9	36.8	331	100.0	0	0.0	2.7	3.4
Terrell, GA		Adult_Nephrology	1 in 45 miles	4	23.8	95	100.0	0	0.0	4.0	4.0
Thomas, GA		Adult_Nephrology	1 in 45 miles	26		362	100.0	0	0.0	3.8	3.9
Tift, GA		Adult_Nephrology	1 in 45 miles	22			100.0	0	0.0	2.2	2.9
Turner, GA		Adult_Nephrology	1 in 45 miles	1	113.0	113		0	0.0	3.4	19.2
Webster, GA		Adult_Nephrology	1 in 45 miles	2		11	100.0	0	0.0	3.6	3.6
Worth, GA		Adult_Nephrology	1 in 45 miles	12			100.0	0	0.0	4.3	4.8
		_ , 0,									
Grand Totals	5,430	Adult_Nephrology	1 in 45 miles	179	30.3	5,430	100.0	0	0.0	5.8	7.2
2022 Quest Analytics LLC			•		-						

Adult Dermatology - Urban

October 26, 2022

Access Analysis

Adult_Dermatology - Urban

Member / Provider Groups

Adult Urban Members (SW_URBAN)

Adult_Dermatology

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Dermatology	1 in 30 miles	3			100.0				5.0
Lowndes, GA	1,223	Adult_Dermatology	1 in 30 miles	2	611.5	1,223	100.0	0	0.0	4.8	5.5
Grand Totals	2,449	Adult_Dermatology	1 in 30 miles	5	489.8	2,449	100.0	0	0.0	4.2	5.2
© 2022 Quest Analytics, LLC											

Adult Dermatology - Rural

October 26, 2022

Access Analysis

Adult_Dermatology - Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Dermatology

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Dermatology	1 in 45 miles	0		100	100.0	0	0.0	15.9	16.4
Baker, GA	22	Adult_Dermatology	1 in 45 miles	0		22	100.0	0	0.0	26.1	28.5
Ben Hill, GA	207	Adult_Dermatology	1 in 45 miles	0		207	100.0	0	0.0	28.7	28.7
Berrien, GA	247	Adult_Dermatology	1 in 45 miles	0		247	100.0	0	0.0	20.0	20.2
Brooks, GA	149	Adult_Dermatology	1 in 45 miles	0		149	100.0	0	0.0	18.2	20.6
Calhoun, GA	59	Adult_Dermatology	1 in 45 miles	0		59	100.0	0	0.0	30.9	34.0
Clay, GA	32	Adult_Dermatology	1 in 45 miles	0		21	65.6	11	34.4	44.6	50.2
Clinch, GA	84	Adult_Dermatology	1 in 45 miles	0		84	100.0	0	0.0	32.4	32.8
Coffee, GA	515	Adult_Dermatology	1 in 45 miles	6	85.8	515	100.0	0	0.0	6.4	6.8
Colquitt, GA	550	Adult_Dermatology	1 in 45 miles	1	550.0	550	100.0	0	0.0	7.8	29.7
Cook, GA	212	Adult_Dermatology	1 in 45 miles	0		212	100.0	0	0.0	19.7	21.3
Decatur, GA	342	Adult_Dermatology	1 in 45 miles	0		342	100.0	0	0.0	26.5	36.9
Early, GA	109	Adult_Dermatology	1 in 45 miles	0		109	100.0	0	0.0	22.9	50.5
Echols, GA	88	Adult_Dermatology	1 in 45 miles	0		88	100.0	0	0.0	19.2	20.2
Grady, GA	220	Adult_Dermatology	1 in 45 miles	0		220	100.0	0	0.0	17.4	17.4
Irwin, GA	76	Adult_Dermatology	1 in 45 miles	0		76	100.0	0	0.0	19.5	19.5
Lanier, GA	78	Adult_Dermatology	1 in 45 miles	0		78	100.0	0	0.0	22.8	23.0
Lee, GA	235	Adult_Dermatology	1 in 45 miles	0		235	100.0	0	0.0	7.1	8.2
Miller, GA	58	Adult_Dermatology	1 in 45 miles	0		58	100.0	0	0.0	17.1	51.2
Mitchell, GA	222	Adult_Dermatology	1 in 45 miles	0		222	100.0	0	0.0	23.5	26.7
Quitman, GA	30	Adult_Dermatology	1 in 45 miles	0		14	46.7	16	53.3	45.8	47.8
Randolph, GA	73	Adult_Dermatology	1 in 45 miles	0		73	100.0	0	0.0	37.0	39.6
Schley, GA	48	Adult_Dermatology	1 in 45 miles	0		48	100.0	0	0.0	16.4	16.4
Seminole, GA	101	Adult_Dermatology	1 in 45 miles	1	101.0	101	100.0	0	0.0	6.8	57.4
Stewart, GA	47	Adult_Dermatology	1 in 45 miles	0		47	100.0	0	0.0	29.9	30.1
Sumter, GA	331	Adult_Dermatology	1 in 45 miles	5	66.2	331	100.0	0	0.0	3.8	3.8
Terrell, GA	95	Adult_Dermatology	1 in 45 miles	0		95	100.0	0	0.0	22.5	24.8
Thomas, GA	362	Adult_Dermatology	1 in 45 miles	4	90.5	362	100.0	0	0.0	5.5	5.7
Tift, GA	420	Adult_Dermatology	1 in 45 miles	5	84.0	420	100.0	0	0.0	4.2	4.2
Turner, GA	113	Adult_Dermatology	1 in 45 miles	0		113	100.0	0	0.0	22.6	22.6
Webster, GA	11	Adult_Dermatology	1 in 45 miles	0		11	100.0	0	0.0	19.5	19.5
Worth, GA	194	Adult_Dermatology	1 in 45 miles	0		194	100.0	0	0.0	17.6	18.1
Grand Totals	5,430	Adult_Dermatology	1 in 45 miles	22	246.8	5,403	99.5	27	0.5	15.1	20.4
© 2022 Quest Analytics III C		-	•	-	•		•	-			

Adult Rheumatology - Urban

October 26, 2022

Access Analysis
Adult_Rheumatology- Urban

Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Rheumatology

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Rheumatology	1 in 30 miles	6	204.3	1,226				3.7	4.1
Lowndes, GA	1,223	Adult_Rheumatology	1 in 30 miles	0		1,135	92.8	88	7.2	23.5	40.5
Grand Totals	2,449	Adult_Rheumatology	1 in 30 miles	6	408.2	2,361	96.4	88	3.6	13.6	22.3
© 2022 Quest Analytics. LLC											

Adult Rheumatology - Rural

October 26, 2022

Access Analysis

Adult_Rheumatology - Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Rheumatology

			Members With	and With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Rheumatology	1 in 45 miles	0		100	100.0	0	0.0	16.3	31.8
Baker, GA	22	Adult_Rheumatology	1 in 45 miles	0		22	100.0	0	0.0	26.2	28.5
Ben Hill, GA	207	Adult_Rheumatology	1 in 45 miles	0		207	100.0	0	0.0	28.8	30.4
Berrien, GA	247	Adult_Rheumatology	1 in 45 miles	0		247	100.0	0	0.0	16.0	28.6
Brooks, GA	149	Adult_Rheumatology	1 in 45 miles	0		149	100.0	0	0.0	21.1	23.1
Calhoun, GA	59	Adult_Rheumatology	1 in 45 miles	0		59	100.0	0	0.0	32.5	34.7
Clay, GA		Adult_Rheumatology	1 in 45 miles	0		0	0.0	32	100.0	50.1	52.3
Clinch, GA	84	Adult_Rheumatology	1 in 45 miles	0		83	98.8	1	1.2	33.5	37.9
Coffee, GA	515	Adult_Rheumatology	1 in 45 miles	1	515.0	515	100.0	0	0.0	6.7	36.2
Colquitt, GA	550	Adult_Rheumatology	1 in 45 miles	3	183.3	550	100.0	0	0.0	7.6	7.7
Cook, GA	212	Adult_Rheumatology	1 in 45 miles	1	212.0	212	100.0	0	0.0	5.7	20.8
Decatur, GA	342	Adult_Rheumatology	1 in 45 miles	0		330	96.5	12	3.5	36.9	36.9
Early, GA	109	Adult_Rheumatology	1 in 45 miles	0		5	4.6	104	95.4	50.7	52.5
Echols, GA	88	Adult_Rheumatology	1 in 45 miles	0		68	77.3	20	22.7	39.6	51.5
Grady, GA	220	Adult_Rheumatology	1 in 45 miles	0		220	100.0	0	0.0	17.4	17.4
Irwin, GA	76	Adult_Rheumatology	1 in 45 miles	0		76	100.0	0	0.0	19.6	21.8
Lanier, GA	78	Adult_Rheumatology	1 in 45 miles	0		78	100.0	0	0.0	23.6	38.4
Lee, GA	235	Adult_Rheumatology	1 in 45 miles	0		235	100.0	0	0.0	8.5	9.1
Miller, GA	58	Adult_Rheumatology	1 in 45 miles	0		9	15.5	49	84.5	51.4	52.1
Mitchell, GA	222	Adult_Rheumatology	1 in 45 miles	0		222	100.0	0	0.0	23.9	24.0
Quitman, GA	30	Adult_Rheumatology	1 in 45 miles	0		25	83.3	5	16.7	42.6	44.2
Randolph, GA	73	Adult_Rheumatology	1 in 45 miles	0		73	100.0	0	0.0	37.2	39.7
Schley, GA	48	Adult_Rheumatology	1 in 45 miles	0		40	83.3	8	16.7	43.4	44.5
Seminole, GA	101	Adult_Rheumatology	1 in 45 miles	0		0	0.0	101	100.0	57.4	57.4
Stewart, GA	47	Adult_Rheumatology	1 in 45 miles	0		47	100.0	0	0.0	36.3	38.5
Sumter, GA	331	Adult_Rheumatology	1 in 45 miles	0		331	100.0	0	0.0	32.9	33.8
Terrell, GA	95	Adult_Rheumatology	1 in 45 miles	0		95	100.0	0	0.0	23.1	25.6
Thomas, GA		Adult_Rheumatology	1 in 45 miles	4	90.5	362	100.0	0	0.0	5.5	5.5
Tift, GA		Adult_Rheumatology	1 in 45 miles	3	140.0	420		0	0.0	3.5	4.1
Turner, GA		Adult_Rheumatology	1 in 45 miles	0		113		0	0.0	21.7	23.0
Webster, GA		Adult_Rheumatology	1 in 45 miles	0		11	100.0	0	0.0	42.4	44.7
Worth, GA		Adult_Rheumatology	1 in 45 miles	0		194		0	0.0	17.4	17.9
Grand Totals	5,430	Adult_Rheumatology	1 in 45 miles	12	452.5	5,098	93.9	332	6.1	19.5	24.8
© 2022 Ouget Analytics III C							<u> </u>		<u> </u>		

Adult Infectious Disease - Urban

October 26, 2022

Access Analysis

Adult_Infectious Disease_Urban

Member / Provider Groups

Adult Urban Members (SW_URBAN)

Adult_Infectious Disease
(SW_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA		Adult_Infectious Disease		16			100.0		0.0	2.1	2.5		
Lowndes, GA	1,223	Adult_Infectious Disease	1 in 30 miles	12	101.9	1,223	100.0	0	0.0	3.3	3.8		
Grand Totals	2.440	Adult_Infectious Disease	1 in 20 miles	28	87.5	2 440	100.0	0	0.0	2.7	3.1		
Grand rotals	2,449	Adult_injectious Disease	1 III 30 IIIIles	20	07.10	2,449	100.0	U	0.0	2.1	3.1		
© 2022 Quest Analytics LLC				L									

Adult Infectious Disease - Rural

October 26, 2022

Access Analysis
Adult_Infectious Disease_Rural
Member / Provider Groups
Adult Rural Members (SW_RURAL)
Adult_Infectious Disease
(SW_RURAL)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Infectious Disease	1 in 45 miles	2	50.0	100	100.0	0	0.0	9.4	10.4
Baker, GA	22	Adult_Infectious Disease	1 in 45 miles	0		22	100.0	0	0.0	15.2	15.3
Ben Hill, GA	207	Adult_Infectious Disease	1 in 45 miles	0		207	100.0	0	0.0	9.2	9.5
Berrien, GA	247	Adult_Infectious Disease	1 in 45 miles	4	61.8	247	100.0	0	0.0	5.4	7.0
Brooks, GA	149	Adult_Infectious Disease	1 in 45 miles	2	74.5	149	100.0	0	0.0	6.4	7.3
Calhoun, GA	59	Adult_Infectious Disease	1 in 45 miles	1	59.0	59	100.0	0	0.0	7.0	18.7
Clay, GA	32	Adult_Infectious Disease	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Clinch, GA	84	Adult_Infectious Disease	1 in 45 miles	2	42.0	84	100.0	0	0.0	5.5	6.2
Coffee, GA	515	Adult_Infectious Disease	1 in 45 miles	7	73.6	515	100.0	0	0.0	5.3	5.9
Colquitt, GA	550	Adult_Infectious Disease	1 in 45 miles	6	91.7	550	100.0	0	0.0	5.9	7.2
Cook, GA	212	Adult_Infectious Disease	1 in 45 miles	8	26.5	212	100.0	0	0.0	4.1	4.5
Decatur, GA	342	Adult_Infectious Disease	1 in 45 miles	3	114.0	342	100.0	0	0.0	5.4	5.6
Early, GA	109	Adult_Infectious Disease	1 in 45 miles	0		109	100.0	0	0.0	19.7	21.3
Echols, GA	88	Adult_Infectious Disease	1 in 45 miles	0		88	100.0	0	0.0	25.2	28.8
Grady, GA	220	Adult_Infectious Disease	1 in 45 miles	0		220	100.0	0	0.0	15.2	15.6
Irwin, GA	76	Adult_Infectious Disease	1 in 45 miles	4	19.0	76	100.0	0	0.0	4.0	4.3
Lanier, GA	78	Adult_Infectious Disease	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Lee, GA	235	Adult_Infectious Disease	1 in 45 miles	0		235	100.0	0	0.0	22.6	23.4
Miller, GA	58	Adult_Infectious Disease	1 in 45 miles	2	29.0	58	100.0	0	0.0	4.9	7.2
Mitchell, GA	222	Adult_Infectious Disease	1 in 45 miles	2	111.0	222	100.0	0	0.0	9.2	9.3
Quitman, GA	30	Adult_Infectious Disease	1 in 45 miles	0		30	100.0	0	0.0	18.8	22.1
Randolph, GA	73	Adult_Infectious Disease	1 in 45 miles	2	36.5	73	100.0	0	0.0	3.2	3.3
Schley, GA	48	Adult_Infectious Disease	1 in 45 miles	0		48	100.0	0	0.0	15.0	15.4
Seminole, GA	101	Adult_Infectious Disease	1 in 45 miles	0		101	100.0	0	0.0	18.7	20.6
Stewart, GA	47	Adult_Infectious Disease	1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	12.8
Sumter, GA	331	Adult_Infectious Disease	1 in 45 miles	5	66.2	331	100.0	0	0.0	2.9	3.5
Terrell, GA	95	Adult_Infectious Disease	1 in 45 miles	0		95	100.0	0	0.0	18.7	21.1
Thomas, GA	362	Adult_Infectious Disease	1 in 45 miles	6	60.3	362	100.0	0	0.0	4.2	4.7
Tift, GA	420	Adult_Infectious Disease	1 in 45 miles	14	30.0		100.0	0	0.0	2.2	2.9
Turner, GA	113	Adult_Infectious Disease	1 in 45 miles	1	113.0		100.0	0	0.0	3.4	19.8
Webster, GA	11	Adult_Infectious Disease	1 in 45 miles	2	5.5	11	100.0	0	0.0	3.6	3.6
Worth, GA	194	Adult_Infectious Disease	1 in 45 miles	6	32.3	194	100.0	0	0.0	5.3	6.0
Grand Totals	5,430	Adult_Infectious Disease	1 in 45 miles	82	66.2	5,430	100.0	0	0.0	7.6	9.2
@ 2022 Quest Analytics LLC											

Adult General Surgery - Urban

October 26, 2022

Access Analysis
Adult_General Surgery_Urban
Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_General Surgery
(SW_URBAN)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_General Surgery	1 in 30 miles	47	26.1		100.0		0.0	2.1	2.8
Lowndes, GA	1,223	Adult_General Surgery	1 in 30 miles	43	28.4	1,223	100.0	0	0.0	3.2	3.4
Grand Totals	2,449	Adult_General Surgery	1 in 30 miles	90	27.2	2,449	100.0	0	0.0	2.7	3.1
© 2022 Ouget Analytics II C											

Adult General Surgery - Rural

October 26, 2022

Access Analysis

Adult_General Surgery_Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_General Surgery
(SW_RURAL)

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_General Surgery	1 in 45 miles	7	14.3	100	100.0	0	0.0	5.2	9.4
Baker, GA	22	Adult_General Surgery	1 in 45 miles	0		22	100.0	0	0.0	14.7	15.0
Ben Hill, GA	207	Adult_General Surgery	1 in 45 miles	10	20.7	207	100.0	0	0.0	2.1	2.2
Berrien, GA	247	Adult_General Surgery	1 in 45 miles	6	41.2	247	100.0	0	0.0	5.4	6.9
Brooks, GA	149	Adult_General Surgery	1 in 45 miles	7	21.3	149	100.0	0	0.0	6.2	6.3
Calhoun, GA	59	Adult_General Surgery	1 in 45 miles	3	19.7	59	100.0	0	0.0	3.8	7.0
Clay, GA	32	Adult_General Surgery	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Clinch, GA	84	Adult_General Surgery	1 in 45 miles	5	16.8	84	100.0	0	0.0	5.4	5.6
Coffee, GA	515	Adult_General Surgery	1 in 45 miles	21	24.5	515	100.0	0	0.0	4.9	5.3
Colquitt, GA	550	Adult_General Surgery	1 in 45 miles	14	39.3	550	100.0	0	0.0	5.9	7.1
Cook, GA	212	Adult_General Surgery	1 in 45 miles	15	14.1	212	100.0	0	0.0	3.8	4.1
Decatur, GA	342	Adult_General Surgery	1 in 45 miles	5	68.4	342	100.0	0	0.0	5.4	5.5
Early, GA	109	Adult_General Surgery	1 in 45 miles	0		109	100.0	0	0.0	15.3	19.6
Echols, GA	88	Adult_General Surgery	1 in 45 miles	0		88	100.0	0	0.0	25.1	28.5
Grady, GA	220	Adult_General Surgery	1 in 45 miles	11	20.0	220	100.0	0	0.0	4.8	4.9
Irwin, GA	76	Adult_General Surgery	1 in 45 miles	12	6.3	76	100.0	0	0.0	3.9	4.2
Lanier, GA	78	Adult_General Surgery	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Lee, GA	235	Adult_General Surgery	1 in 45 miles	0		235	100.0	0	0.0	22.6	23.3
Miller, GA	58	Adult_General Surgery	1 in 45 miles	3	19.3		100.0	0	0.0	4.7	5.5
Mitchell, GA	222	Adult_General Surgery	1 in 45 miles	9	24.7	222	100.0	0	0.0	5.7	9.0
Quitman, GA	30	Adult_General Surgery	1 in 45 miles	0		30	100.0	0	0.0	18.8	22.0
Randolph, GA	73	Adult_General Surgery	1 in 45 miles	3	24.3	73	100.0	0	0.0	3.2	3.2
Schley, GA	48	Adult_General Surgery	1 in 45 miles	0		48	100.0	0	0.0	15.0	15.4
Seminole, GA	101	Adult_General Surgery	1 in 45 miles	10	10.1	101	100.0	0	0.0	6.2	6.7
Stewart, GA		Adult_General Surgery	1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	12.8
Sumter, GA	331	Adult_General Surgery	1 in 45 miles	8	41.4	331	100.0	0	0.0	2.9	3.5
Terrell, GA	95	Adult_General Surgery	1 in 45 miles	0		95	100.0	0	0.0	18.7	20.9
Thomas, GA		Adult_General Surgery	1 in 45 miles	29	12.5		100.0	0	0.0	3.9	4.6
Tift, GA		Adult_General Surgery	1 in 45 miles	28	15.0		100.0	0	0.0	2.2	3.0
Turner, GA		Adult_General Surgery	1 in 45 miles	1	113.0		100.0	0	0.0	3.4	19.4
Webster, GA		Adult_General Surgery	1 in 45 miles	2	5.5	11	100.0	0	0.0	3.6	3.6
Worth, GA		Adult_General Surgery	1 in 45 miles	7	27.7		100.0	0	0.0	5.3	6.0
Grand Totals	5,430	Adult_General Surgery	1 in 45 miles	219	24.8	5,430	100.0	0	0.0	6.3	7.9
© 2022 Quest Analytics LLC											

Adult Neurology- Urban

October 26, 2022

Access Analysis
Adult_Neurology - Urban
Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Neurology (SW_URBAN)

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Neurology	1 in 30 miles	45			100.0				2.8
Lowndes, GA	1,223	Adult_Neurology	1 in 30 miles	21	58.2	1,223	100.0	0	0.0	3.2	3.4
Grand Totals	2,449	Adult_Neurology	1 in 30 miles	66	37.1	2,449	100.0	0	0.0	2.6	3.1

Adult Neurology - Rural

October 26, 2022

Access Analysis
Adult_Neurology - Rural

Member / Provider Groups
Adult Rural Members (SW_RURAL)
Adult_Neurology (SW_RURAL)

			Members With a	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Neurology	1 in 45 miles	2	50.0	100	100.0	0	0.0	9.4	10.4
Baker, GA	22	Adult_Neurology	1 in 45 miles	0		22	100.0	0	0.0	15.2	15.3
Ben Hill, GA	207	Adult_Neurology	1 in 45 miles	0		207	100.0	0	0.0	9.2	9.5
Berrien, GA	247	Adult_Neurology	1 in 45 miles	4	61.8	247	100.0	0	0.0	5.4	7.0
Brooks, GA	149	Adult_Neurology	1 in 45 miles	2	74.5	149	100.0	0	0.0	6.3	7.2
Calhoun, GA	59	Adult_Neurology	1 in 45 miles	1	59.0	59	100.0	0	0.0	7.0	18.7
Clay, GA	32	Adult_Neurology	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Clinch, GA	84	Adult_Neurology	1 in 45 miles	2	42.0	84	100.0	0	0.0	5.5	6.2
Coffee, GA	515	Adult_Neurology	1 in 45 miles	10	51.5	515	100.0	0	0.0	5.3	5.8
Colquitt, GA	550	Adult_Neurology	1 in 45 miles	5	110.0	550	100.0	0	0.0	5.9	7.2
Cook, GA	212	Adult_Neurology	1 in 45 miles	8	26.5	212	100.0	0	0.0	3.8	4.4
Decatur, GA	342	Adult_Neurology	1 in 45 miles	3	114.0	342	100.0	0	0.0	5.4	5.6
Early, GA	109	Adult_Neurology	1 in 45 miles	0		109	100.0	0	0.0	19.7	21.3
Echols, GA	88	Adult_Neurology	1 in 45 miles	0		88	100.0	0	0.0	25.2	28.8
Grady, GA	220	Adult_Neurology	1 in 45 miles	0		220	100.0	0	0.0	15.2	15.5
Irwin, GA	76	Adult_Neurology	1 in 45 miles	4	19.0	76	100.0	0	0.0	4.0	4.3
Lanier, GA	78	Adult_Neurology	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Lee, GA	235	Adult_Neurology	1 in 45 miles	0		235	100.0	0	0.0	22.6	23.4
Miller, GA	58	Adult_Neurology	1 in 45 miles	2	29.0	58	100.0	0	0.0	4.9	7.2
Mitchell, GA	222	Adult_Neurology	1 in 45 miles	2	111.0	222	100.0	0	0.0	9.2	9.3
Quitman, GA	30	Adult_Neurology	1 in 45 miles	0		30	100.0	0	0.0	18.8	22.1
Randolph, GA	73	Adult_Neurology	1 in 45 miles	2	36.5	73	100.0	0	0.0	3.2	3.3
Schley, GA	48	Adult_Neurology	1 in 45 miles	0		48	100.0	0	0.0	15.0	15.4
Seminole, GA	101	Adult_Neurology	1 in 45 miles	0		101	100.0	0	0.0	18.7	20.6
Stewart, GA	47	Adult_Neurology	1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	12.8
Sumter, GA	331	Adult_Neurology	1 in 45 miles	7	47.3	331	100.0	0	0.0	2.7	3.5
Terrell, GA	95	Adult_Neurology	1 in 45 miles	0		95	100.0	0	0.0	18.7	21.1
Thomas, GA	362	Adult_Neurology	1 in 45 miles	19	19.1	362	100.0	0	0.0	4.3	5.1
Tift, GA	420	Adult_Neurology	1 in 45 miles	16	26.3	420	100.0	0	0.0	2.2	3.0
Turner, GA	113	Adult_Neurology	1 in 45 miles	1	113.0	113	100.0	0	0.0	3.4	19.8
Webster, GA	11	Adult_Neurology	1 in 45 miles	2	5.5	11	100.0	0	0.0	3.6	3.6
Worth, GA	194	Adult_Neurology	1 in 45 miles	7	27.7	194	100.0	0	0.0	5.3	6.0
Grand Totals	5,430	Adult_Neurology	1 in 45 miles	102	53.2	5,430	100.0	0	0.0	7.6	9.2

Adult Ophthalmology - Urban

October 26, 2022

Access Analysis
Adult_Ophthalmology- Urban
Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Ophthalmology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Ophthalmology	1 in 30 miles	4	306.5		100.0	0	0.0	3.6	
Lowndes, GA	1,223	Adult_Ophthalmology	1 in 30 miles	5	244.6	1,223	100.0	0	0.0	4.4	5.7
0 17.1	0.440		4: 00 "		070.4	0.440	400.0	0	0.0	4.0	
Grand Totals	2,449	Adult_Ophthalmology	1 in 30 miles	9	272.1	2,449	100.0	0	0.0	4.0	5.1
© 2022 Ouget Analytics II C											

Adult Ophthalmology - Rural

October 26, 2022

Access Analysis

Adult_Ophthalmology - Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Ophthalmology

			Members With	and With	out Access_						
	Member	Pi	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Ophthalmology	1 in 45 miles	0		100	100.0	0	0.0	15.9	15.9
Baker, GA	22	Adult_Ophthalmology	1 in 45 miles	0		22	100.0	0	0.0	26.2	26.2
Ben Hill, GA	207	Adult_Ophthalmology	1 in 45 miles	0		207	100.0	0	0.0	28.9	30.1
Berrien, GA	247	Adult_Ophthalmology	1 in 45 miles	0		247	100.0	0	0.0	20.3	20.5
Brooks, GA	149	Adult_Ophthalmology	1 in 45 miles	0		149	100.0	0	0.0	20.9	21.7
Calhoun, GA	59	Adult_Ophthalmology	1 in 45 miles	0		59	100.0	0	0.0	32.5	32.5
Clay, GA	32	Adult_Ophthalmology	1 in 45 miles	0		22	68.8	10	31.2	43.2	50.3
Clinch, GA	84	Adult_Ophthalmology	1 in 45 miles	0		84	100.0	0	0.0	31.7	32.4
Coffee, GA	515	Adult_Ophthalmology	1 in 45 miles	3	171.7	515	100.0	0	0.0	6.5	6.7
Colquitt, GA	550	Adult_Ophthalmology	1 in 45 miles	0		550	100.0	0	0.0	31.1	31.6
Cook, GA	212	Adult_Ophthalmology	1 in 45 miles	0		212	100.0	0	0.0	19.5	20.8
Decatur, GA	342	Adult_Ophthalmology	1 in 45 miles	0		340	99.4	2	0.6	39.7	39.7
Early, GA	109	Adult_Ophthalmology	1 in 45 miles	0		109	100.0	0	0.0	32.7	46.9
Echols, GA	88	Adult_Ophthalmology	1 in 45 miles	0		88	100.0	0	0.0	18.6	20.9
Grady, GA	220	Adult_Ophthalmology	1 in 45 miles	0		220	100.0	0	0.0	29.6	29.6
Irwin, GA	76	Adult_Ophthalmology	1 in 45 miles	0		76	100.0	0	0.0	19.7	20.7
Lanier, GA	78	Adult_Ophthalmology	1 in 45 miles	0		78	100.0	0	0.0	23.3	23.5
Lee, GA	235	Adult_Ophthalmology	1 in 45 miles	1	235.0	235	100.0	0	0.0	5.6	7.6
Miller, GA	58	Adult_Ophthalmology	1 in 45 miles	0		49	84.5	9	15.5	40.5	47.6
Mitchell, GA	222	Adult_Ophthalmology	1 in 45 miles	0		222	100.0	0	0.0	29.4	30.4
Quitman, GA	30	Adult_Ophthalmology	1 in 45 miles	0		23	76.7	7	23.3	43.6	44.4
Randolph, GA	73	Adult_Ophthalmology	1 in 45 miles	0		73	100.0	0	0.0	35.5	37.2
Schley, GA		Adult_Ophthalmology	1 in 45 miles	0		48	100.0	0	0.0	15.5	16.2
Seminole, GA	101	Adult_Ophthalmology	1 in 45 miles	0		101	100.0	0	0.0	31.5	32.0
Stewart, GA		Adult_Ophthalmology	1 in 45 miles	0		47	100.0	0	0.0	29.6	29.7
Sumter, GA		Adult_Ophthalmology	1 in 45 miles	4	82.8	331	100.0	0	0.0	3.6	3.9
Terrell, GA		Adult_Ophthalmology	1 in 45 miles	0		95	100.0	0	0.0	18.1	22.7
Thomas, GA		Adult_Ophthalmology	1 in 45 miles	0		362		0	0.0	35.9	36.2
Tift, GA		Adult_Ophthalmology	1 in 45 miles	6	70.0		100.0	0	0.0	3.4	3.7
Turner, GA		Adult_Ophthalmology	1 in 45 miles	0		113	100.0	0	0.0	22.9	22.9
Webster, GA		Adult_Ophthalmology	1 in 45 miles	0		11	100.0	0	0.0	19.3	19.3
Worth, GA		Adult_Ophthalmology	1 in 45 miles	0		194	100.0	0	0.0	17.3	18.3
		_ 1 07									
Grand Totals	5,430	Adult_Ophthalmology	1 in 45 miles	14	387.9	5,402	99.5	28	0.5	21.8	22.8

Adult Orthopedics - Urban

October 26, 2022

Access Analysis
Adult_Orhopedics- Urban

Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Orthopedics

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA	1,226	Adult_Orthopedics	1 in 30 miles	45	27.2	1,226	100.0	0	0.0	1.9	
Lowndes, GA	1,223	Adult_Orthopedics	1 in 30 miles	51	24.0	1,223	100.0	0	0.0	3.0	3.4
Grand Totals	2,449	Adult_Orthopedics	1 in 30 miles	96	25.5	2,449	100.0	0	0.0	2.5	2.9
© 2022 Quest Analytics II C											

Adult Orthopedics - Rural

October 26, 2022

Access Analysis

Adult_Orhopedics- Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Orthopedics

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Orthopedics	1 in 45 miles	2	50.0	100	100.0	0	0.0	9.4	10.4
Baker, GA	22	Adult_Orthopedics	1 in 45 miles	4	5.5	22	100.0	0	0.0	3.9	3.9
Ben Hill, GA	207	Adult_Orthopedics	1 in 45 miles	2	103.5	207	100.0	0	0.0	3.1	5.0
Berrien, GA	247	Adult_Orthopedics	1 in 45 miles	4	61.8	247	100.0	0	0.0	5.4	6.9
Brooks, GA	149	Adult_Orthopedics	1 in 45 miles	2	74.5	149	100.0	0	0.0	6.1	6.9
Calhoun, GA	59	Adult_Orthopedics	1 in 45 miles	3	19.7	59	100.0	0	0.0	6.6	6.6
Clay, GA	32	Adult_Orthopedics	1 in 45 miles	1	32.0	32	100.0	0	0.0	3.5	18.9
Clinch, GA	84	Adult_Orthopedics	1 in 45 miles	8	10.5	84	100.0	0	0.0	5.5	5.8
Coffee, GA	515	Adult_Orthopedics	1 in 45 miles	16	32.2	515	100.0	0	0.0	4.8	5.2
Colquitt, GA	550	Adult_Orthopedics	1 in 45 miles	17	32.4	550	100.0	0	0.0	5.8	7.1
Cook, GA	212	Adult_Orthopedics	1 in 45 miles	24	8.8	212	100.0	0	0.0	3.8	4.0
Decatur, GA	342	Adult_Orthopedics	1 in 45 miles	5	68.4	342	100.0	0	0.0	4.5	5.4
Early, GA	109	Adult_Orthopedics	1 in 45 miles	0		109	100.0	0	0.0	19.4	20.4
Echols, GA	88	Adult_Orthopedics	1 in 45 miles	0		88	100.0	0	0.0	16.2	16.2
Grady, GA	220	Adult_Orthopedics	1 in 45 miles	4	55.0	220	100.0	0	0.0	4.0	4.8
Irwin, GA	76	Adult_Orthopedics	1 in 45 miles	4	19.0	76	100.0	0	0.0	3.9	4.3
Lanier, GA	78	Adult_Orthopedics	1 in 45 miles	1	78.0	78	100.0	0	0.0	3.7	17.4
Lee, GA		Adult_Orthopedics	1 in 45 miles	15		235	100.0	0	0.0	4.8	5.0
Miller, GA		Adult_Orthopedics	1 in 45 miles	2			100.0	0	0.0	4.7	6.8
Mitchell, GA		Adult_Orthopedics	1 in 45 miles	6	37.0		100.0	0	0.0	5.4	8.4
Quitman, GA		Adult_Orthopedics	1 in 45 miles	0				0	0.0	18.8	22.1
Randolph, GA		Adult_Orthopedics	1 in 45 miles	2	36.5		100.0	0	0.0	3.1	3.1
Schley, GA		Adult_Orthopedics	1 in 45 miles	2			100.0	0	0.0	3.9	4.2
Seminole, GA		Adult_Orthopedics	1 in 45 miles	3		101	100.0	0	0.0	6.6	6.7
Stewart, GA		Adult_Orthopedics	1 in 45 miles	1	47.0	47	100.0	0	0.0	6.2	12.7
Sumter, GA		Adult_Orthopedics	1 in 45 miles	9	36.8	331	100.0	0	0.0	2.6	3.3
Terrell, GA		Adult_Orthopedics	1 in 45 miles	3	31.7	95	100.0	0	0.0	3.3	3.3
Thomas, GA		Adult_Orthopedics	1 in 45 miles	15	24.1	362	100.0	0	0.0	3.9	4.1
Tift, GA		Adult_Orthopedics	1 in 45 miles	35			100.0	0	0.0	2.1	2.6
Turner, GA		Adult_Orthopedics	1 in 45 miles	1	113.0			0	0.0	3.1	19.0
Webster, GA		Adult_Orthopedics	1 in 45 miles	2		11	100.0	0	0.0	3.6	3.6
Worth, GA		Adult_Orthopedics	1 in 45 miles	9	21.6		100.0	0	0.0	4.8	5.3
		_ '									
Grand Totals	5,430	Adult_Orthopedics	1 in 45 miles	202	26.9	5,430	100.0	0	0.0	5.0	6.5
© 2022 Quest Analytics III C											

Adult Optometry - Urban

October 26, 2022

Access Analysis
Adult_Optometry - Urban

Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Optometry

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Optometry	1 in 30 miles	9			100.0				5.0
Lowndes, GA	1,223	Adult_Optometry	1 in 30 miles	4	305.8	1,223	100.0	0	0.0	4.7	4.9
Grand Totals	2,449	Adult_Optometry	1 in 30 miles	13	188.4	2,449	100.0	0	0.0	4.0	4.9
© 2022 Quest Analytics, LLC.											

Adult Optometry - Rural

October 26, 2022

Access Analysis
Adult_Optometry - Rural

Member / Provider Groups
Adult Rural Members (SW_RURAL)
Adult_Optometry

			Members With a	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Optometry	1 in 45 miles	0		100	100.0	0	0.0	15.7	16.2
Baker, GA	22	Adult_Optometry	1 in 45 miles	0		22	100.0	0	0.0	15.3	26.0
Ben Hill, GA	207	Adult_Optometry	1 in 45 miles	0		207	100.0	0	0.0	32.7	34.1
Berrien, GA	247	Adult_Optometry	1 in 45 miles	0			100.0	0	0.0	16.7	24.1
Brooks, GA	149	Adult_Optometry	1 in 45 miles	1	149.0	149	100.0	0	0.0	7.8	19.1
Calhoun, GA	59	Adult_Optometry	1 in 45 miles	0		59	100.0	0	0.0	32.0	32.4
Clay, GA	32	Adult_Optometry	1 in 45 miles	0		32	100.0	0	0.0	21.0	21.0
Clinch, GA	84	Adult_Optometry	1 in 45 miles	0		84	100.0	0	0.0	32.3	32.4
Coffee, GA	515	Adult_Optometry	1 in 45 miles	2	257.5	515	100.0	0	0.0	6.2	6.9
Colquitt, GA	550	Adult_Optometry	1 in 45 miles	0		550	100.0	0	0.0	21.3	27.0
Cook, GA	212	Adult_Optometry	1 in 45 miles	1	212.0	212	100.0	0	0.0	5.0	25.8
Decatur, GA	342	Adult_Optometry	1 in 45 miles	2	171.0	342	100.0	0	0.0	5.5	5.7
Early, GA	109	Adult_Optometry	1 in 45 miles	0		107	98.2	2	1.8	40.6	40.7
Echols, GA	88	Adult_Optometry	1 in 45 miles	0		88	100.0	0	0.0	18.3	18.3
Grady, GA	220	Adult_Optometry	1 in 45 miles	0		220	100.0	0	0.0	15.9	16.4
Irwin, GA	76	Adult_Optometry	1 in 45 miles	0		76	100.0	0	0.0	25.8	26.7
Lanier, GA	78	Adult_Optometry	1 in 45 miles	0		78	100.0	0	0.0	23.1	24.0
Lee, GA	235	Adult_Optometry	1 in 45 miles	4	58.8	235	100.0	0	0.0	5.4	6.2
Miller, GA	58	Adult_Optometry	1 in 45 miles	0		58	100.0	0	0.0	23.7	23.8
Mitchell, GA	222	Adult_Optometry	1 in 45 miles	1	222.0	222	100.0	0	0.0	9.1	24.5
Quitman, GA	30	Adult_Optometry	1 in 45 miles	0		30	100.0	0	0.0	5.0	5.0
Randolph, GA	73	Adult_Optometry	1 in 45 miles	0		73	100.0	0	0.0	26.8	26.8
Schley, GA	48	Adult_Optometry	1 in 45 miles	0		48	100.0	0	0.0	15.5	15.9
Seminole, GA	101	Adult_Optometry	1 in 45 miles	0		101	100.0	0	0.0	24.9	25.0
Stewart, GA	47	Adult_Optometry	1 in 45 miles	0		47	100.0	0	0.0	26.5	27.0
Sumter, GA	331	Adult_Optometry	1 in 45 miles	7	47.3	331	100.0	0	0.0	3.4	3.9
Terrell, GA	95	Adult_Optometry	1 in 45 miles	0		95	100.0	0	0.0	18.1	18.1
Thomas, GA	362	Adult_Optometry	1 in 45 miles	6	60.3	362	100.0	0	0.0	5.4	5.5
Tift, GA	420	Adult_Optometry	1 in 45 miles	0		420	100.0	0	0.0	24.1	38.7
Turner, GA	113	Adult_Optometry	1 in 45 miles	0		113	100.0	0	0.0	30.4	31.8
Webster, GA	11	Adult_Optometry	1 in 45 miles	0		11	100.0	0	0.0	19.3	19.8
Worth, GA	194	Adult_Optometry	1 in 45 miles	0		194	100.0	0	0.0	22.1	24.3
Grand Totals	5,430	Adult_Optometry	1 in 45 miles	24	226.3	5,428	99.9	2	0.1	15.6	19.8

Adult Urology - Urban

October 26, 2022

Access Analysis
Adult_Urology- Urban

Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Urology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Urology	1 in 30 miles	6	204.3		100.0				
Lowndes, GA	1,223	Adult_Urology	1 in 30 miles	1	1,223.0	1,223	100.0	0	0.0	5.0	20.0
Grand Totals	2,449	Adult_Urology	1 in 30 miles	7	349.9	2,449	100.0	0	0.0	4.3	11.9
© 2022 Quest Analytics, LLC											

Adult Urology - Rural

October 26, 2022

Access Analysis
Adult_Urology- Rural
Member / Provider Groups
Adult Rural Members (SW_RURAL)
Adult_Urology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Urology	1 in 45 miles	0		100	100.0	0	0.0	16.1	16.4
Baker, GA	22	Adult_Urology	1 in 45 miles	0		22	100.0	0	0.0	25.6	26.0
Ben Hill, GA	207	Adult_Urology	1 in 45 miles	0		207	100.0	0	0.0	28.7	28.7
Berrien, GA	247	Adult_Urology	1 in 45 miles	0		247	100.0	0	0.0	15.8	20.5
Brooks, GA	149	Adult_Urology	1 in 45 miles	3	49.7	149	100.0	0	0.0	6.7	7.0
Calhoun, GA	59	Adult_Urology	1 in 45 miles	0		59	100.0	0	0.0	32.1	32.2
Clay, GA	32	Adult_Urology	1 in 45 miles	0		0	0.0	32	100.0	50.1	50.1
Clinch, GA	84	Adult_Urology	1 in 45 miles	0		84	100.0	0	0.0	32.3	36.5
Coffee, GA	515	Adult_Urology	1 in 45 miles	3	171.7	515	100.0	0	0.0	6.0	7.0
Colquitt, GA	550	Adult_Urology	1 in 45 miles	2	275.0	550	100.0	0	0.0	7.6	7.7
Cook, GA	212	Adult_Urology	1 in 45 miles	2	106.0	212	100.0	0	0.0	5.7	19.9
Decatur, GA	342	Adult_Urology	1 in 45 miles	1	342.0	342	100.0	0	0.0	5.6	23.4
Early, GA	109	Adult_Urology	1 in 45 miles	0		26	23.9	83	76.1	45.5	50.1
Echols, GA	88	Adult_Urology	1 in 45 miles	0		88	100.0	0	0.0	19.6	28.9
Grady, GA	220	Adult_Urology	1 in 45 miles	2	110.0	220	100.0	0	0.0	4.9	4.9
Irwin, GA	76	Adult_Urology	1 in 45 miles	0		76	100.0	0	0.0	19.4	19.4
Lanier, GA	78	Adult_Urology	1 in 45 miles	0		78	100.0	0	0.0	22.2	24.4
Lee, GA	235	Adult_Urology	1 in 45 miles	0		235	100.0	0	0.0	7.7	7.8
Miller, GA	58	Adult_Urology	1 in 45 miles	0		58	100.0	0	0.0	23.7	42.7
Mitchell, GA	222	Adult_Urology	1 in 45 miles	0		222	100.0	0	0.0	20.6	20.9
Quitman, GA	30	Adult_Urology	1 in 45 miles	0		23	76.7	7	23.3	44.0	44.4
Randolph, GA	73	Adult_Urology	1 in 45 miles	0		73	100.0	0	0.0	37.0	37.0
Schley, GA	48	Adult_Urology	1 in 45 miles	0		48	100.0	0	0.0	13.9	15.6
Seminole, GA	101	Adult_Urology	1 in 45 miles	0		101	100.0	0	0.0	25.0	44.1
Stewart, GA	47	Adult_Urology	1 in 45 miles	0		47	100.0	0	0.0	28.1	28.3
Sumter, GA		Adult_Urology	1 in 45 miles	2	165.5	331	100.0	0	0.0	4.2	4.6
Terrell, GA	95	Adult_Urology	1 in 45 miles	0		95	100.0	0	0.0	22.2	22.3
Thomas, GA	362	Adult_Urology	1 in 45 miles	7	51.7	362	100.0	0	0.0	5.2	5.2
Tift, GA	420	Adult_Urology	1 in 45 miles	10		420		0	0.0	4.2	4.2
Turner, GA	113	Adult_Urology	1 in 45 miles	0		113		0	0.0	22.7	23.5
Webster, GA	11	Adult_Urology	1 in 45 miles	0		11	100.0	0	0.0	17.7	17.8
Worth, GA	194	Adult_Urology	1 in 45 miles	0			100.0	0	0.0	17.5	18.2
Grand Totals	5,430	Adult_Urology	1 in 45 miles	32	169.7	5,308	97.8	122	2.2	12.9	15.9
© 2022 Quaet Anglutics II C											

Adult Vascular Surgery - Urban

October 26, 2022

Access Analysis
Adult_Vascular Surgery- Urban
Member / Provider Groups
Adult Urban Members (SW_URBAN)
Adult_Vascular Surgery

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Adult_Vascular Surgery	1 in 30 miles	13	94.3		100.0		0.0	3.6	
Lowndes, GA	1,223	Adult_Vascular Surgery	1 in 30 miles	9	135.9	1,223	100.0	0	0.0	4.4	4.5
Grand Totals	2,449	Adult_Vascular Surgery	1 in 30 miles	22	111.3	2,449	100.0	0	0.0	4.0	4.0
© 2022 Ouget Analytics III C	•	•	•	-	•		-			•	

Adult Vascular Surgery - Rural

October 26, 2022

Access Analysis

Adult_Vascular Surgery- Rural

Member / Provider Groups

Adult Rural Members (SW_RURAL)

Adult_Vascular Surgery

			Members With a	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	100	Adult_Vascular Surgery	1 in 45 miles	0		100	100.0	0	0.0	16.3	16.3
Baker, GA	22	Adult_Vascular Surgery	1 in 45 miles	0		22	100.0	0	0.0	15.3	23.8
Ben Hill, GA	207	Adult_Vascular Surgery	1 in 45 miles	0		207	100.0	0	0.0	28.7	28.8
Berrien, GA	247	Adult_Vascular Surgery	1 in 45 miles	0		247	100.0	0	0.0	15.8	15.8
Brooks, GA	149	Adult_Vascular Surgery	1 in 45 miles	2	74.5	149	100.0	0	0.0	6.3	8.4
Calhoun, GA	59	Adult_Vascular Surgery	1 in 45 miles	0		59	100.0	0	0.0	32.3	32.9
Clay, GA	32	Adult_Vascular Surgery	1 in 45 miles	0		0	0.0	32	100.0	51.0	51.0
Clinch, GA	84	Adult_Vascular Surgery	1 in 45 miles	0		84	100.0	0	0.0	32.1	32.7
Coffee, GA	515	Adult_Vascular Surgery	1 in 45 miles	2	257.5	515	100.0	0	0.0	6.7	6.8
Colquitt, GA	550	Adult_Vascular Surgery	1 in 45 miles	1	550.0	550	100.0	0	0.0	7.6	21.1
Cook, GA	212	Adult_Vascular Surgery	1 in 45 miles	2	106.0	212	100.0	0	0.0	5.7	5.7
Decatur, GA	342	Adult_Vascular Surgery	1 in 45 miles	0		342	100.0	0	0.0	23.4	23.4
Early, GA	109	Adult_Vascular Surgery	1 in 45 miles	0		19	17.4	90	82.6	45.4	49.1
Echols, GA	88	Adult_Vascular Surgery	1 in 45 miles	0		88	100.0	0	0.0	18.6	18.6
Grady, GA	220	Adult_Vascular Surgery	1 in 45 miles	4	55.0	220	100.0	0	0.0	4.8	4.9
Irwin, GA	76	Adult_Vascular Surgery	1 in 45 miles	0		76	100.0	0	0.0	19.6	19.6
Lanier, GA	78	Adult_Vascular Surgery	1 in 45 miles	0		78	100.0	0	0.0	22.2	22.2
Lee, GA	235	Adult_Vascular Surgery	1 in 45 miles	0		235	100.0	0	0.0	8.3	8.3
Miller, GA	58	Adult_Vascular Surgery	1 in 45 miles	0		58	100.0	0	0.0	31.3	33.9
Mitchell, GA	222	Adult_Vascular Surgery	1 in 45 miles	2	111.0	222	100.0	0	0.0	5.8	12.1
Quitman, GA	30	Adult_Vascular Surgery	1 in 45 miles	0		23	76.7	7	23.3	44.2	44.3
Randolph, GA	73	Adult_Vascular Surgery	1 in 45 miles	0		73	100.0	0	0.0	38.0	38.0
Schley, GA	48	Adult_Vascular Surgery	1 in 45 miles	0		48	100.0	0	0.0	41.8	42.0
Seminole, GA	101	Adult_Vascular Surgery	1 in 45 miles	0		65	64.4	36	35.6	43.8	43.9
Stewart, GA		Adult_Vascular Surgery	1 in 45 miles	0		46	97.9	1		38.3	38.3
Sumter, GA		Adult_Vascular Surgery	1 in 45 miles	0		331	100.0	0	0.0	29.3	29.6
Terrell, GA		Adult_Vascular Surgery	1 in 45 miles	0		95	100.0	0	0.0	24.0	24.0
Thomas, GA		Adult_Vascular Surgery	1 in 45 miles	6	60.3	362		0	0.0	5.0	5.3
Tift, GA		Adult_Vascular Surgery	1 in 45 miles	4	105.0	420	100.0	0	0.0	4.3	4.3
Turner, GA		Adult_Vascular Surgery	1 in 45 miles	0		113	100.0	0	0.0	22.6	22.7
Webster, GA		Adult_Vascular Surgery	1 in 45 miles	0		10	90.9	1		43.4	43.4
Worth, GA		Adult_Vascular Surgery	1 in 45 miles	0		194	100.0	0	0.0	17.6	17.6
		_ ,									
Grand Totals	5,430	Adult_Vascular Surgery	1 in 45 miles	23	236.1	5,263	96.9	167	3.1	15.9	17.8
							<u> </u>		<u> </u>		

Audiology- Urban

October 26, 2022

Access Analysis Audiology- Urban Member / Provider Groups Urban Members (SW_URBAN) Audiology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Audiology	1 in 30 miles	2	1,976.0	3,952	100.0	0	0.0	4.4	
Lowndes, GA	4,611	Audiology	1 in 30 miles	0		4,506	97.7	105	2.3	20.5	40.6
Grand Totals	8,563	Audiology	1 in 30 miles	2	4,281.5	8,458	98.8	105	1.2	13.1	25.1
© 2022 Quest Analytics, LLC											

Audiology - Rural

October 26, 2022

Access Analysis
Audiology- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Audiology

			Members With a	nd With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Audiology	1 in 45 miles	0		412	100.0	0	0.0	31.7	36.1
Baker, GA	68	Audiology	1 in 45 miles	0		68	100.0	0	0.0	10.4	25.2
Ben Hill, GA	829	Audiology	1 in 45 miles	0		829	100.0	0	0.0	30.5	57.4
Berrien, GA	916	Audiology	1 in 45 miles	0			100.0	0	0.0	28.4	35.8
Brooks, GA	562	Audiology	1 in 45 miles	1	562.0	562	100.0	0	0.0	6.9	23.3
Calhoun, GA	175	Audiology	1 in 45 miles	0		175	100.0	0	0.0	30.6	32.0
Clay, GA	100	Audiology	1 in 45 miles	0		8	8.0	92	92.0	47.2	49.5
Clinch, GA	326	Audiology	1 in 45 miles	0		326	100.0	0	0.0	33.0	33.3
Coffee, GA	2,024	Audiology	1 in 45 miles	0		1,973	97.5	51	2.5	38.5	43.2
Colquitt, GA	2,049	Audiology	1 in 45 miles	3	683.0	2,049	100.0	0	0.0	5.4	7.4
Cook, GA	796	Audiology	1 in 45 miles	0		796	100.0	0	0.0	20.8	22.5
Decatur, GA	1,249	Audiology	1 in 45 miles	1	1,249.0	1,249	100.0	0	0.0	5.5	23.6
Early, GA	380	Audiology	1 in 45 miles	0		356	93.7	24	6.3	39.9	45.2
Echols, GA	382	Audiology	1 in 45 miles	0		382	100.0	0	0.0	28.2	49.8
Grady, GA	975	Audiology	1 in 45 miles	1	975.0	975	100.0	0	0.0	4.6	15.9
Irwin, GA	306	Audiology	1 in 45 miles	0		306	100.0	0	0.0	22.1	52.4
Lanier, GA	298	Audiology	1 in 45 miles	0		298	100.0	0	0.0	39.9	43.1
Lee, GA	851	Audiology	1 in 45 miles	1	851.0	851	100.0	0	0.0	8.6	9.9
Miller, GA	196	Audiology	1 in 45 miles	0		196	100.0	0	0.0	22.7	26.0
Mitchell, GA	771	Audiology	1 in 45 miles	1	771.0	771	100.0	0	0.0	12.6	21.1
Quitman, GA	117	Audiology	1 in 45 miles	0		89	76.1	28	23.9	44.2	44.4
Randolph, GA	262	Audiology	1 in 45 miles	0		262	100.0	0	0.0	33.3	36.9
Schley, GA	158	Audiology	1 in 45 miles	0		158	100.0	0	0.0	41.4	43.7
Seminole, GA	358	Audiology	1 in 45 miles	0		358	100.0	0	0.0	24.9	40.1
Stewart, GA	141	Audiology	1 in 45 miles	0		141	100.0	0	0.0	37.8	38.0
Sumter, GA	1,117	Audiology	1 in 45 miles	0		1,117	100.0	0	0.0	30.5	32.9
Terrell, GA	339	Audiology	1 in 45 miles	0		339	100.0	0	0.0	18.5	22.8
Thomas, GA	1,294	Audiology	1 in 45 miles	1	1,294.0	1,294	100.0	0	0.0	5.2	15.3
Tift, GA	1,652	Audiology	1 in 45 miles	1	1,652.0	1,652	100.0	0	0.0	4.0	32.3
Turner, GA	402	Audiology	1 in 45 miles	0		402	100.0	0	0.0	23.0	35.7
Webster, GA	45	Audiology	1 in 45 miles	0		45	100.0	0	0.0	39.5	42.6
Worth, GA	643	Audiology	1 in 45 miles	0		643	100.0	0	0.0	18.6	23.3
Grand Totals	20,193	Audiology	1 in 45 miles	10	2,019.3	19,998	99.0	195	1.0	19.0	28.8

Behavioral Health - Urban

October 26, 2022

Access Analysis
Behavioral Health- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Behavioral Health

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Behavioral Health	1 in 30 miles	107			100.0			1.6	1.8
Lowndes, GA	4,611	Behavioral Health	1 in 30 miles	144	32.0	4,611	100.0	0	0.0	1.9	2.3
Grand Totals	8,563	Behavioral Health	1 in 30 miles	251	34.1	8,563	100.0	0	0.0	1.8	2.1
© 2022 Quest Analytics, LLC.											

Behavioral Health - Rural

October 26, 2022

Access Analysis

Behavioral Health- Rural

Member / Provider Groups

Rural Members (SW_RURAL)

Behavioral Health

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Behavioral Health	1 in 45 miles	11	37.5		100.0	0	0.0	3.8	4.0
Baker, GA	68	Behavioral Health	1 in 45 miles	0		68	100.0	0	0.0	12.6	
Ben Hill, GA	829	Behavioral Health	1 in 45 miles	14	59.2	829	100.0	0	0.0	1.7	2.1
Berrien, GA	916	Behavioral Health	1 in 45 miles	16		916	100.0	0	0.0	4.6	5.2
Brooks, GA	562	Behavioral Health	1 in 45 miles	16	35.1	562	100.0	0	0.0	4.5	5.8
Calhoun, GA	175	Behavioral Health	1 in 45 miles	4	43.8	175	100.0	0	0.0	7.2	7.3
Clay, GA	100	Behavioral Health	1 in 45 miles	1	100.0	100	100.0	0	0.0	3.8	18.3
Clinch, GA	326	Behavioral Health	1 in 45 miles	3	108.7	326	100.0	0	0.0	4.0	4.4
Coffee, GA	2,024	Behavioral Health	1 in 45 miles	69	29.3	2,024	100.0	0	0.0	2.5	4.0
Colquitt, GA	2,049	Behavioral Health	1 in 45 miles	39	52.5	2,049	100.0	0	0.0	2.2	3.7
Cook, GA	796	Behavioral Health	1 in 45 miles	21	37.9	796	100.0	0	0.0	3.1	3.4
Decatur, GA	1,249	Behavioral Health	1 in 45 miles	31	40.3	1,249	100.0	0	0.0	3.6	4.4
Early, GA	380	Behavioral Health	1 in 45 miles	7	54.3	380	100.0	0	0.0	3.7	4.1
Echols, GA	382	Behavioral Health	1 in 45 miles	2	191.0	382	100.0	0	0.0	8.6	8.8
Grady, GA	975	Behavioral Health	1 in 45 miles	8	121.9	975	100.0	0	0.0	2.7	3.9
Irwin, GA	306	Behavioral Health	1 in 45 miles	14	21.9	306	100.0	0	0.0	3.0	3.3
Lanier, GA	298	Behavioral Health	1 in 45 miles	7	42.6	298	100.0	0	0.0	3.0	3.3
Lee, GA	851	Behavioral Health	1 in 45 miles	14	60.8	851	100.0	0	0.0	3.6	4.1
Miller, GA	196	Behavioral Health	1 in 45 miles	4	49.0	196	100.0	0	0.0	4.3	5.1
Mitchell, GA	771	Behavioral Health	1 in 45 miles	8	96.4	771	100.0	0	0.0	4.3	6.4
Quitman, GA	117	Behavioral Health	1 in 45 miles	0		117	100.0	0	0.0	18.1	20.8
Randolph, GA	262	Behavioral Health	1 in 45 miles	6	43.7	262	100.0	0	0.0	3.0	3.1
Schley, GA	158	Behavioral Health	1 in 45 miles	0		158	100.0	0	0.0	13.0	13.5
Seminole, GA	358	Behavioral Health	1 in 45 miles	3	119.3	358	100.0	0	0.0	5.5	6.1
Stewart, GA	141	Behavioral Health	1 in 45 miles	2		141	100.0	0	0.0	6.2	6.9
Sumter, GA	1,117	Behavioral Health	1 in 45 miles	23	48.6		100.0	0	0.0	2.1	2.9
Terrell, GA		Behavioral Health	1 in 45 miles	4	84.8	339		0	0.0	3.3	3.4
Thomas, GA	1,294	Behavioral Health	1 in 45 miles	68			100.0	0	0.0	2.8	3.5
Tift, GA	1,652	Behavioral Health	1 in 45 miles	57	29.0		100.0	0	0.0	1.4	2.1
Turner, GA		Behavioral Health	1 in 45 miles	4	100.5		100.0	0	0.0	3.0	3.2
Webster, GA	45	Behavioral Health	1 in 45 miles	2	22.5	45	100.0	0	0.0	3.4	3.4
Worth, GA	643	Behavioral Health	1 in 45 miles	6	107.2		100.0	0	0.0	3.9	
Grand Totals	20,193	Behavioral Health	1 in 45 miles	464	43.5	20,193	100.0	0	0.0	3.4	4.2
	l				<u> </u>						L

Behavioral Health Facilities - Urban

October 26, 2022

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

Urban Members (SW_URBAN)

Behavioral Health Facilities

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Behavioral Health Fac	1 in 30 miles	4			100.0	0	0.0	4.3	5.1
Lowndes, GA	4,611	Behavioral Health Fac	1 in 30 miles	20	230.6	4,611	100.0	0	0.0	2.7	3.5
					2-0.0						
Grand Totals	8,563	Behavioral Health Fac	1 in 30 miles	24	356.8	8,563	100.0	0	0.0	3.4	4.2
@ 2022 Quest Analytics III C											

Behavioral Health Facilities - Rural

October 26, 2022

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Rural Members (SW_RURAL)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Behavioral Health Fac	1 in 45 miles	1	412.0	412	100.0	0	0.0	6.6	13.6
Baker, GA	68	Behavioral Health Fac	1 in 45 miles	0		68	100.0	0	0.0	24.1	26.2
Ben Hill, GA	829	Behavioral Health Fac	1 in 45 miles	1	829.0	829	100.0	0	0.0	2.6	9.9
Berrien, GA	916	Behavioral Health Fac	1 in 45 miles	1	916.0	916	100.0	0	0.0	6.5	13.6
Brooks, GA	562	Behavioral Health Fac	1 in 45 miles	1	562.0	562	100.0	0	0.0	6.3	16.3
Calhoun, GA	175	Behavioral Health Fac	1 in 45 miles	0		175	100.0	0	0.0	18.7	26.6
Clay, GA	100	Behavioral Health Fac	1 in 45 miles	0		100	100.0	0	0.0	21.7	43.1
Clinch, GA	326	Behavioral Health Fac	1 in 45 miles	0		326	100.0	0	0.0	19.9	22.2
Coffee, GA	2,024	Behavioral Health Fac	1 in 45 miles	16	126.5	2,024	100.0	0	0.0	4.7	5.6
Colquitt, GA	2,049	Behavioral Health Fac	1 in 45 miles	2	1,024.5	2,049	100.0	0	0.0	5.3	8.3
Cook, GA	796	Behavioral Health Fac	1 in 45 miles	2	398.0	796	100.0	0	0.0	5.1	5.6
Decatur, GA	1,249	Behavioral Health Fac	1 in 45 miles	0		1,249	100.0	0	0.0	26.2	35.5
Early, GA	380	Behavioral Health Fac	1 in 45 miles	0		380	100.0	0	0.0	21.9	33.5
Echols, GA	382	Behavioral Health Fac	1 in 45 miles	1	382.0	382	100.0	0	0.0	8.8	15.9
Grady, GA	975	Behavioral Health Fac	1 in 45 miles	0		975	100.0	0	0.0	14.9	16.4
Irwin, GA	306	Behavioral Health Fac	1 in 45 miles	1	306.0		100.0	0	0.0	3.8	10.0
Lanier, GA	298	Behavioral Health Fac	1 in 45 miles	1	298.0		100.0	0	0.0	3.4	12.8
Lee, GA	851	Behavioral Health Fac	1 in 45 miles	2	425.5	851	100.0	0	0.0	5.4	7.5
Miller, GA	196	Behavioral Health Fac	1 in 45 miles	1	196.0	196	100.0	0	0.0	5.6	43.8
Mitchell, GA	771	Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	22.4	24.0
Quitman, GA	117	Behavioral Health Fac	1 in 45 miles	0		117	100.0	0	0.0	20.9	43.0
Randolph, GA	262	Behavioral Health Fac	1 in 45 miles	1	262.0	262	100.0	0	0.0	3.7	30.5
Schley, GA	158	Behavioral Health Fac	1 in 45 miles	0		158	100.0	0	0.0	15.4	30.4
Seminole, GA		Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	19.9	52.1
Stewart, GA		Behavioral Health Fac	1 in 45 miles	0		141	100.0	0	0.0	22.7	30.1
Sumter, GA	1.117	Behavioral Health Fac	1 in 45 miles	1	1,117.0	1,117	100.0	0	0.0	4.1	25.8
Terrell, GA	,	Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	13.9	20.9
Thomas, GA		Behavioral Health Fac	1 in 45 miles	6	215.7	1,294		0	0.0	4.2	4.9
Tift, GA	,	Behavioral Health Fac	1 in 45 miles	2				0	0.0	4.3	9.6
Turner, GA		Behavioral Health Fac	1 in 45 miles	1	402.0		100.0	0	0.0	3.4	16.7
Webster, GA		Behavioral Health Fac	1 in 45 miles	0		45	100.0	0	0.0	19.5	32.8
Worth, GA		Behavioral Health Fac	1 in 45 miles	0					0.0	13.0	18.9
	0.0			,		0.10		, and the second	0.0		10.0
Grand Totals	20.193	Behavioral Health Fac	1 in 45 miles	41	492.5	20,193	100.0	0	0.0	9.2	16.1
	,										

Dental - Urban

October 26, 2022

Access Analysis Dental- Urban

Member / Provider Groups
Urban Members (SW_URBAN)
Dental

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA		Dental	1 in 30 miles	51		3,952	100.0	0				
Lowndes, GA	4,611	Dental	1 in 30 miles	11	419.2	4,611	100.0	0	0.0	4.5	4.6	
Grand Totals	8,563	Dental	1 in 30 miles	62	138.1	8,563	100.0	0	0.0	3.4	3.8	
@ 2022 Quest Analytics III C												

Dental - Rural

October 26, 2022

Access Analysis
Dental- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Dental

			Members With a	nd With	out Access						
	Member	Pi	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Dental	1 in 45 miles	0		412	100.0	0	0.0	15.2	15.7
Baker, GA	68	Dental	1 in 45 miles	0		68	100.0	0	0.0	14.8	22.2
Ben Hill, GA	829	Dental	1 in 45 miles	0		829	100.0	0	0.0	9.8	23.3
Berrien, GA	916	Dental	1 in 45 miles	1	916.0	916	100.0	0	0.0	7.8	14.8
Brooks, GA	562	Dental	1 in 45 miles	0		562	100.0	0	0.0	17.8	18.5
Calhoun, GA	175	Dental	1 in 45 miles	2	87.5	175	100.0	0	0.0	7.8	7.8
Clay, GA	100	Dental	1 in 45 miles	0		100	100.0	0	0.0	18.8	18.8
Clinch, GA	326	Dental	1 in 45 miles	2	163.0	326	100.0	0	0.0	4.2	5.3
Coffee, GA	2,024	Dental	1 in 45 miles	5	404.8	2,024	100.0	0	0.0	5.7	6.2
Colquitt, GA	2,049	Dental	1 in 45 miles	5	409.8	2,049	100.0	0	0.0	5.2	5.8
Cook, GA	796	Dental	1 in 45 miles	2	398.0	796	100.0	0	0.0	4.4	4.6
Decatur, GA	1,249	Dental	1 in 45 miles	4	312.3	1,249	100.0	0	0.0	4.8	5.5
Early, GA	380	Dental	1 in 45 miles	3	126.7	380	100.0	0	0.0	4.4	5.0
Echols, GA	382	Dental	1 in 45 miles	0		382	100.0	0	0.0	18.0	18.1
Grady, GA	975	Dental	1 in 45 miles	4	243.8	975	100.0	0	0.0	4.1	4.2
Irwin, GA	306	Dental	1 in 45 miles	1	306.0	306	100.0	0	0.0	4.1	20.9
Lanier, GA	298	Dental	1 in 45 miles	0		298	100.0	0	0.0	17.5	19.2
Lee, GA	851	Dental	1 in 45 miles	1	851.0	851	100.0	0	0.0	5.2	6.7
Miller, GA	196	Dental	1 in 45 miles	1	196.0	196	100.0	0	0.0	5.2	15.6
Mitchell, GA	771	Dental	1 in 45 miles	2	385.5	771	100.0	0	0.0	5.2	11.7
Quitman, GA	117	Dental	1 in 45 miles	0		117	100.0	0	0.0	21.5	21.5
Randolph, GA	262	Dental	1 in 45 miles	3	87.3	262	100.0	0	0.0	3.3	3.5
Schley, GA	158	Dental	1 in 45 miles	0		158	100.0	0	0.0	14.0	15.5
Seminole, GA	358	Dental	1 in 45 miles	2	179.0	358	100.0	0	0.0	6.1	6.1
Stewart, GA	141	Dental	1 in 45 miles	0		141	100.0	0	0.0	20.8	22.5
Sumter, GA	1,117	Dental	1 in 45 miles	2	558.5	1,117	100.0	0	0.0	3.9	4.1
Terrell, GA	339	Dental	1 in 45 miles	1	339.0	339	100.0	0	0.0	3.7	20.3
Thomas, GA	1,294	Dental	1 in 45 miles	0		1,294	100.0	0	0.0	16.0	16.4
Tift, GA	1,652	Dental	1 in 45 miles	2	826.0		100.0	0	0.0	3.9	3.9
Turner, GA	402	Dental	1 in 45 miles	2	201.0	402	100.0	0	0.0	3.2	4.0
Webster, GA	45	Dental	1 in 45 miles	0		45	100.0	0	0.0	17.5	19.9
Worth, GA	643	Dental	1 in 45 miles	0		643	100.0	0	0.0	15.2	16.9
Grand Totals	20,193	Dental	1 in 45 miles	45	448.7	20,193	100.0	0	0.0	7.6	9.8
© 2022 Quest Analytics III C											

Dental Subspeciality - Urban

October 26, 2022

Access Analysis

Dental Subspeciality- Urban

Member / Provider Groups

Urban Members (SW_URBAN)

Dental Subspecialty

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Dental Subspecialty	1 in 30 miles	8			100.0			3.7	4.3
Lowndes, GA	4,611	Dental Subspecialty	1 in 30 miles	1	4,611.0	4,611	100.0	0	0.0	5.1	41.7
Grand Totals	8,563	Dental Subspecialty	1 in 30 miles	9	951.4	8,563	100.0	0	0.0	4.5	24.4
© 2022 Quest Analytics, LLC											

Dental Subspeciality - Rural

October 26, 2022

Access Analysis

Dental Subspeciality- Rural

Member / Provider Groups

Rural Members (SW_RURAL)

Dental Subspecialty

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	412	Dental Subspecialty	1 in 45 miles	0		412	100.0	0	0.0	15.9	34.6		
Baker, GA	68	Dental Subspecialty	1 in 45 miles	0		68	100.0	0	0.0	26.1	26.1		
Ben Hill, GA	829	Dental Subspecialty	1 in 45 miles	0		823	99.3	6	0.7	35.1	56.8		
Berrien, GA	916	Dental Subspecialty	1 in 45 miles	0		916	100.0	0	0.0	24.0	35.8		
Brooks, GA	562	Dental Subspecialty	1 in 45 miles	0		562	100.0	0	0.0	18.8	31.5		
Calhoun, GA	175	Dental Subspecialty	1 in 45 miles	0		175	100.0	0	0.0	21.4	31.1		
Clay, GA	100	Dental Subspecialty	1 in 45 miles	0		100	100.0	0	0.0	22.4	44.3		
Clinch, GA	326	Dental Subspecialty	1 in 45 miles	0		326	100.0	0	0.0	31.8	35.1		
Coffee, GA	2,024	Dental Subspecialty	1 in 45 miles	1	2,024.0	2,024	100.0	0	0.0	6.5	43.0		
Colquitt, GA	2,049	Dental Subspecialty	1 in 45 miles	1	2,049.0	2,049	100.0	0	0.0	7.6	40.9		
Cook, GA	796	Dental Subspecialty	1 in 45 miles	0		796	100.0	0	0.0	22.2	27.3		
Decatur, GA	1,249	Dental Subspecialty	1 in 45 miles	0		1,244	99.6	5	0.4	27.2	53.2		
Early, GA	380	Dental Subspecialty	1 in 45 miles	0		380	100.0	0	0.0	22.8	34.0		
Echols, GA	382	Dental Subspecialty	1 in 45 miles	0		382	100.0	0	0.0	18.0	56.6		
Grady, GA	975	Dental Subspecialty	1 in 45 miles	0		948	97.2	27	2.8	37.2	45.1		
Irwin, GA	306	Dental Subspecialty	1 in 45 miles	0		306	100.0	0	0.0	27.2	51.0		
Lanier, GA	298	Dental Subspecialty	1 in 45 miles	0		298	100.0	0	0.0	23.6	38.4		
Lee, GA	851	Dental Subspecialty	1 in 45 miles	0		851	100.0	0	0.0	9.4	11.1		
Miller, GA	196	Dental Subspecialty	1 in 45 miles	0		196	100.0	0	0.0	17.2	44.4		
Mitchell, GA	771	Dental Subspecialty	1 in 45 miles	0		771	100.0	0	0.0	22.7	28.2		
Quitman, GA	117	Dental Subspecialty	1 in 45 miles	0		117	100.0	0	0.0	21.5	46.5		
Randolph, GA	262	Dental Subspecialty	1 in 45 miles	1	262.0	262	100.0	0	0.0	3.5	37.2		
Schley, GA		Dental Subspecialty	1 in 45 miles	0		128	81.0	30	19.0	43.5	45.9		
Seminole, GA		Dental Subspecialty	1 in 45 miles	1	358.0	358	100.0	0	0.0	6.1	55.4		
Stewart, GA		Dental Subspecialty	1 in 45 miles	0		141	100.0	0	0.0	23.3			
Sumter, GA		Dental Subspecialty	1 in 45 miles	0		1,117	100.0	0	0.0	32.6	36.0		
Terrell, GA		Dental Subspecialty	1 in 45 miles	0		339	100.0	0	0.0	20.4	23.9		
Thomas, GA		Dental Subspecialty	1 in 45 miles	0		1,291	99.8	3	0.2	26.2			
Tift, GA		Dental Subspecialty	1 in 45 miles	0		1,652	100.0	0	0.0	34.2			
Turner, GA		Dental Subspecialty	1 in 45 miles	0		382	95.0	20	5.0	36.0	36.2		
Webster, GA	45	Dental Subspecialty	1 in 45 miles	0		45	100.0	0	0.0	32.3	42.8		
Worth, GA		Dental Subspecialty	1 in 45 miles	0		643	100.0	0	0.0	22.3			
Grand Totals	20,193	Dental Subspecialty	1 in 45 miles	4	5,048.3	20,102	99.5	91	0.5	21.9	38.9		

Dialysis - Urban

October 26, 2022

Access Analysis
Dialysis- Urban

Member / Provider Groups
Urban Members (SW_URBAN)
Dialysis

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA		Dialysis	1 in 30 miles	9			100.0		0.0	2.3	3.5		
Lowndes, GA	4,611	Dialysis	1 in 30 miles	6	768.5	4,611	100.0	0	0.0	3.9	4.7		
Grand Totals	8,563	Dialysis	1 in 30 miles	15	570.9	8,563	100.0	0	0.0	3.2	4.1		
© 2022 Quest Analytics, LLC.													

Dialysis - Rural

October 26, 2022

Access Analysis
Dialysis- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Dialysis

	Members With and Without Access Member Provider Counts Retic Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	412	Dialysis	1 in 45 miles	0		412	100.0	0	0.0	16.4	31.3		
Baker, GA	68	Dialysis	1 in 45 miles	0		68	100.0	0	0.0	15.1	22.6		
Ben Hill, GA	829	Dialysis	1 in 45 miles	0		829	100.0	0	0.0	28.5	30.4		
Berrien, GA	916	Dialysis	1 in 45 miles	0		916	100.0	0	0.0	15.1	20.2		
Brooks, GA	562	Dialysis	1 in 45 miles	1	562.0	562	100.0	0	0.0	6.6	17.1		
Calhoun, GA	175	Dialysis	1 in 45 miles	0		175	100.0	0	0.0	21.2	29.6		
Clay, GA	100	Dialysis	1 in 45 miles	0		100	100.0	0	0.0	18.6	24.7		
Clinch, GA	326	Dialysis	1 in 45 miles	0		326	100.0	0	0.0	31.3	32.2		
Coffee, GA	2,024	Dialysis	1 in 45 miles	1	2,024.0	2,024	100.0	0	0.0	6.6	36.2		
Colquitt, GA	2,049	Dialysis	1 in 45 miles	2	1,024.5	2,049	100.0	0	0.0	6.5	7.6		
Cook, GA	796	Dialysis	1 in 45 miles	1	796.0	796	100.0	0	0.0	4.5	18.8		
Decatur, GA	1,249	Dialysis	1 in 45 miles	2	624.5	1,249	100.0	0	0.0	5.1	6.0		
Early, GA	380	Dialysis	1 in 45 miles	1	380.0			0	0.0	5.8	31.0		
Echols, GA	382	Dialysis	1 in 45 miles	0		382	100.0	0	0.0	14.7	16.4		
Grady, GA		Dialysis	1 in 45 miles	1	975.0		100.0	0	0.0	4.7	14.1		
Irwin, GA		Dialysis	1 in 45 miles	0			100.0	0	0.0	19.7	22.2		
Lanier, GA		Dialysis	1 in 45 miles	0		298	100.0	0	0.0	22.8	23.7		
Lee, GA		Dialysis	1 in 45 miles	1	851.0	851	100.0	0	0.0	5.2			
Miller, GA	196	Dialysis	1 in 45 miles	0			100.0	0	0.0	22.4	23.6		
Mitchell, GA		Dialysis	1 in 45 miles	1	771.0	771	100.0	0	0.0	9.0	19.7		
Quitman, GA		Dialysis	1 in 45 miles	0		117	100.0	0	0.0	5.8	36.8		
Randolph, GA	262	Dialysis	1 in 45 miles	0			100.0	0	0.0	19.5			
Schley, GA		Dialysis	1 in 45 miles	0			100.0	0	0.0	14.8	15.4		
Seminole, GA		Dialysis	1 in 45 miles	0		358	100.0	0	0.0	23.0	24.7		
Stewart, GA		Dialysis	1 in 45 miles	0		141	100.0	0	0.0	25.9	27.8		
Sumter, GA		Dialysis	1 in 45 miles	3	372.3		100.0	0	0.0	3.4	4.3		
Terrell, GA		Dialysis	1 in 45 miles	1	339.0		100.0	0	0.0	4.1	18.6		
Thomas, GA		Dialysis	1 in 45 miles	3	431.3	1,294		0	0.0	4.7	5.4		
Tift, GA		Dialysis	1 in 45 miles	2			100.0	0	0.0	3.6			
Turner, GA		Dialysis	1 in 45 miles	0			100.0	0	0.0	19.5	21.9		
Webster, GA		Dialysis	1 in 45 miles	0				0	0.0	18.4	19.4		
Worth, GA		Dialysis	1 in 45 miles	1	643.0		100.0	0	0.0	6.0	15.4		
,		,											
Grand Totals	20,193	Dialysis	1 in 45 miles	21	961.6	20,193	100.0	0	0.0	9.5	16.9		

DME - Urban

October 26, 2022

Access Analysis DME- Urban

Member / Provider Groups
Urban Members (SW_URBAN)
DMF

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA	3,952		1 in 30 miles	34	116.2		100.0		0.0	2.3	2.5		
Lowndes, GA	4,611	DME	1 in 30 miles	36	128.1	4,611	100.0	0	0.0	2.2	2.5		
Grand Totals	8,563	DME	1 in 30 miles	70	122.3	8,563	100.0	0	0.0	2.2	2.5		
© 2022 Quest Analytics. LLC													

DME - Rural

October 26, 2022

Access Analysis

DME- Rural

Member / Provider Groups

Rural Members (SW_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	412	DME	1 in 45 miles	16	25.8	412	100.0	0	0.0	3.8	4.4		
Baker, GA	68	DME	1 in 45 miles	19	3.6	68	100.0	0	0.0	1.3			
Ben Hill, GA	829	DME	1 in 45 miles	35	23.7	829	100.0	0	0.0	1.2	1.7		
Berrien, GA		DME	1 in 45 miles	25	36.6	916	100.0	0	0.0	3.4	4.0		
Brooks, GA	562	DME	1 in 45 miles	0		562	100.0	0	0.0	9.4	10.9		
Calhoun, GA	175	DME	1 in 45 miles	20	8.8	175	100.0	0	0.0	7.9	8.8		
Clay, GA	100	DME	1 in 45 miles	22	4.5	100	100.0	0	0.0	1.6	3.2		
Clinch, GA	326	DME	1 in 45 miles	28	11.6	326	100.0	0	0.0	2.0	2.4		
Coffee, GA	2,024	DME	1 in 45 miles	32	63.3	2,024	100.0	0	0.0	3.4	3.8		
Colquitt, GA	2,049	DME	1 in 45 miles	27	75.9	2,049	100.0	0	0.0	4.4	4.7		
Cook, GA	796	DME	1 in 45 miles	27	29.5	796	100.0	0	0.0	2.1	2.5		
Decatur, GA	1,249	DME	1 in 45 miles	22	56.8	1,249	100.0	0	0.0	4.2	4.4		
Early, GA	380	DME	1 in 45 miles	13	29.2	380	100.0	0	0.0	2.1	3.1		
Echols, GA	382	DME	1 in 45 miles	24	15.9	382	100.0	0	0.0	4.5	5.8		
Grady, GA	975	DME	1 in 45 miles	15	65.0	975	100.0	0	0.0	2.4	3.0		
Irwin, GA	306	DME	1 in 45 miles	25	12.2	306	100.0	0	0.0	7.4	7.5		
Lanier, GA	298	DME	1 in 45 miles	25	11.9	298	100.0	0	0.0	6.8	7.3		
Lee, GA	851	DME	1 in 45 miles	20	42.6	851	100.0	0	0.0	2.6	3.5		
Miller, GA	196	DME	1 in 45 miles	25		196	100.0	0	0.0	2.1	2.9		
Mitchell, GA	771	DME	1 in 45 miles	19		771	100.0	0	0.0	5.8	6.6		
Quitman, GA	117	DME	1 in 45 miles	17	6.9	117	100.0	0	0.0	1.5	1.8		
Randolph, GA	262	DME	1 in 45 miles	17	15.4	262	100.0	0	0.0	1.7	2.1		
Schley, GA	158	DME	1 in 45 miles	20	7.9	158	100.0	0	0.0	1.4	1.9		
Seminole, GA	358	DME	1 in 45 miles	17	21.1	358	100.0	0	0.0	2.1	2.8		
Stewart, GA	141	DME	1 in 45 miles	9	15.7	141	100.0	0	0.0	4.8	5.2		
Sumter, GA	1,117	DME	1 in 45 miles	10	111.7	1,117	100.0	0	0.0	3.5	3.7		
Terrell, GA	339	DME	1 in 45 miles	20	17.0	339	100.0	0	0.0	2.0	2.6		
Thomas, GA	1,294		1 in 45 miles	54	24.0		100.0	0	0.0	2.7	3.0		
Tift, GA	1,652		1 in 45 miles	45			100.0	0	0.0	1.9	2.3		
Turner, GA		DME	1 in 45 miles	21	19.1		100.0	0	0.0	3.8	4.2		
Webster, GA		DME	1 in 45 miles	32	1.4		100.0	0	0.0	3.8	5.4		
Worth, GA		DME	1 in 45 miles	24			100.0	0	0.0	3.7	6.2		
Grand Totals	20,193	DME	1 in 45 miles	725	27.9	20,193	100.0	0	0.0	3.4	4.0		
© 2022 Quaet Analytics III C													

FQHCs AND RHCs - Urban

October 26, 2022

Access Analysis
FQHCs and RHCs- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
FQHCs and RHCs

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	P		Counts	Ratio Members	With Ac			cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Dougherty, GA		FQHCs and RHCs	1 in 30 miles	29		3,952	100.0	0	0.0	1.9				
Lowndes, GA	4,611	FQHCs and RHCs	1 in 30 miles	2	2,305.5	4,611	100.0	0	0.0	4.5	5.6			
Grand Totals	8,563	FQHCs and RHCs	1 in 30 miles	31	276.2	8,563	100.0	0	0.0	3.3	4.1			
© 2022 Quaet Analytics II C														

FQHCs AND RHCs - Rural

October 26, 2022

Access Analysis
FQHCs and RHCs- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
FQHCs and RHCs

	Members With and Without Access Member Provider Counts Retig Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA		FQHCs and RHCs	1 in 45 miles	1	412.0		100.0	0	0.0	7.3	15.8		
Baker, GA	68	FQHCs and RHCs	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.5			
Ben Hill, GA	829	FQHCs and RHCs	1 in 45 miles	3	276.3	829	100.0	0	0.0	3.3	3.3		
Berrien, GA	916	FQHCs and RHCs	1 in 45 miles	2	458.0		100.0	0	0.0	7.4	8.0		
Brooks, GA	562	FQHCs and RHCs	1 in 45 miles	1	562.0	562	100.0	0	0.0	6.6	18.1		
Calhoun, GA	175	FQHCs and RHCs	1 in 45 miles	15	11.7	175	100.0	0	0.0	3.7	7.2		
Clay, GA	100	FQHCs and RHCs	1 in 45 miles	0		100	100.0	0	0.0	17.2	19.1		
Clinch, GA	326	FQHCs and RHCs	1 in 45 miles	0		326	100.0	0	0.0	23.1	31.2		
Coffee, GA	2,024	FQHCs and RHCs	1 in 45 miles	4	506.0	2,024	100.0	0	0.0	6.0	6.1		
Colquitt, GA	2,049	FQHCs and RHCs	1 in 45 miles	5	409.8	2,049	100.0	0	0.0	4.7	5.7		
Cook, GA	796	FQHCs and RHCs	1 in 45 miles	2	398.0	796	100.0	0	0.0	4.3	12.9		
Decatur, GA	1,249	FQHCs and RHCs	1 in 45 miles	1	1,249.0	1,249	100.0	0	0.0	5.5	21.5		
Early, GA	380	FQHCs and RHCs	1 in 45 miles	1	380.0	380	100.0	0	0.0	4.5	15.9		
Echols, GA	382	FQHCs and RHCs	1 in 45 miles	0		382	100.0	0	0.0	17.9	18.7		
Grady, GA	975	FQHCs and RHCs	1 in 45 miles	1	975.0	975	100.0	0	0.0	4.4	11.7		
Irwin, GA	306	FQHCs and RHCs	1 in 45 miles	3	102.0	306	100.0	0	0.0	3.7	4.1		
Lanier, GA	298	FQHCs and RHCs	1 in 45 miles	0		298	100.0	0	0.0	19.4	20.0		
Lee, GA	851	FQHCs and RHCs	1 in 45 miles	1	851.0	851	100.0	0	0.0	4.7	6.5		
Miller, GA	196	FQHCs and RHCs	1 in 45 miles	0		196	100.0	0	0.0	15.4	16.3		
Mitchell, GA	771	FQHCs and RHCs	1 in 45 miles	0		771	100.0	0	0.0	15.5	20.4		
Quitman, GA	117	FQHCs and RHCs	1 in 45 miles	1	117.0	117	100.0	0	0.0	3.1	21.4		
Randolph, GA	262	FQHCs and RHCs	1 in 45 miles	1	262.0	262	100.0	0	0.0	3.1	15.3		
Schley, GA	158	FQHCs and RHCs	1 in 45 miles	2	79.0	158	100.0	0	0.0	3.3	3.6		
Seminole, GA	358	FQHCs and RHCs	1 in 45 miles	2	179.0	358	100.0	0	0.0	6.2	6.3		
Stewart, GA	141	FQHCs and RHCs	1 in 45 miles	0		141	100.0	0	0.0	17.1	20.6		
Sumter, GA	1,117	FQHCs and RHCs	1 in 45 miles	8	139.6		100.0	0	0.0	2.9	3.7		
Terrell, GA		FQHCs and RHCs	1 in 45 miles	3	113.0		100.0	0	0.0	3.4	3.9		
Thomas, GA		FQHCs and RHCs	1 in 45 miles	4	323.5	1,294		0	0.0	4.2	5.3		
Tift, GA		FQHCs and RHCs	1 in 45 miles	3	550.7		100.0	0	0.0	3.5			
Turner, GA	402	FQHCs and RHCs	1 in 45 miles	1	402.0		100.0	0	0.0	3.1	18.0		
Webster, GA		FQHCs and RHCs	1 in 45 miles	0		45	100.0	0	0.0	11.2	17.6		
Worth, GA		FQHCs and RHCs	1 in 45 miles	1	643.0		100.0	0	0.0	5.3			
Grand Totals	20,193	FQHCs and RHCs	1 in 45 miles	67	301.4	20,193	100.0	0	0.0	6.1	10.3		

Home Health Infusion Services - Urban

October 26, 2022

Access Analysis

Home Health and Infusion Services-

Member / Provider Groups
Urban Members (SW_URBAN)
Home Health and Infusion Services

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA		Home Health and Infu	1 in 30 miles	16			100.0		0.0	2.6			
Lowndes, GA	4,611	Home Health and Infu	1 in 30 miles	14	329.4	4,611	100.0	0	0.0	2.8	3.2		
0 17.1	0.500	11 11 11 11 11 6	4: 00 "	00	205.4	0.500	400.0	0	0.0		0.4		
Grand Totals	8,563	Home Health and Infu	1 in 30 miles	30	285.4	8,563	100.0	0	0.0	2.8	3.1		
© 2022 Quest Analytics LLC													

Home Health Infusion Services - Rural

October 26, 2022

Access Analysis

Home Health and Infusion Services-

Member / Provider Groups
Rural Members (SW_RURAL)
Home Health and Infusion Services

	Members With and Without Access Member Provider Counts Retig Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	412	Home Health and Infu	1 in 45 miles	9	45.8	412	100.0	0	0.0	4.2	5.1		
Baker, GA	68	Home Health and Infu	1 in 45 miles	10	6.8	68	100.0	0	0.0	1.7	2.1		
Ben Hill, GA	829	Home Health and Infu	1 in 45 miles	11	75.4	829	100.0	0	0.0	1.6	2.1		
Berrien, GA	916	Home Health and Infu	1 in 45 miles	10		916	100.0	0	0.0	3.5	4.7		
Brooks, GA	562	Home Health and Infu	1 in 45 miles	0		562	100.0	0	0.0	11.4	12.0		
Calhoun, GA	175	Home Health and Infu	1 in 45 miles	10	17.5	175	100.0	0	0.0	9.3	9.7		
Clay, GA	100	Home Health and Infu	1 in 45 miles	8	12.5	100	100.0	0	0.0	1.8	3.7		
Clinch, GA	326	Home Health and Infu	1 in 45 miles	12	27.2	326	100.0	0	0.0	2.6	3.4		
Coffee, GA	2,024	Home Health and Infu	1 in 45 miles	13	155.7	2,024	100.0	0	0.0	3.8	4.3		
Colquitt, GA	2,049	Home Health and Infu	1 in 45 miles	13	157.6	2,049	100.0	0	0.0	4.7	5.2		
Cook, GA	796	Home Health and Infu	1 in 45 miles	8	99.5	796	100.0	0	0.0	3.4	4.0		
Decatur, GA	1,249	Home Health and Infu	1 in 45 miles	14	89.2	1,249	100.0	0	0.0	4.0	4.8		
Early, GA	380	Home Health and Infu	1 in 45 miles	9	42.2	380	100.0	0	0.0	2.6	3.3		
Echols, GA	382	Home Health and Infu	1 in 45 miles	10	38.2	382	100.0	0	0.0	5.7	5.9		
Grady, GA	975	Home Health and Infu	1 in 45 miles	11	88.6	975	100.0	0	0.0	2.8	3.2		
Irwin, GA	306	Home Health and Infu	1 in 45 miles	11	27.8	306	100.0	0	0.0	7.5	7.6		
Lanier, GA	298	Home Health and Infu	1 in 45 miles	10	29.8	298	100.0	0	0.0	7.2	7.6		
Lee, GA	851	Home Health and Infu	1 in 45 miles	11	77.4	851	100.0	0	0.0	3.4	4.8		
Miller, GA	196	Home Health and Infu	1 in 45 miles	11	17.8	196	100.0	0	0.0	2.9			
Mitchell, GA	771	Home Health and Infu	1 in 45 miles	11	70.1	771	100.0	0	0.0	5.2			
Quitman, GA	117	Home Health and Infu	1 in 45 miles	10	11.7	117	100.0	0	0.0	1.9	2.3		
Randolph, GA	262	Home Health and Infu	1 in 45 miles	13	20.2	262	100.0	0	0.0	2.0	2.4		
Schley, GA	158	Home Health and Infu	1 in 45 miles	11		158	100.0	0	0.0	2.1	2.7		
Seminole, GA	358	Home Health and Infu	1 in 45 miles	10	35.8	358	100.0	0	0.0	2.3	5.0		
Stewart, GA	141	Home Health and Infu	1 in 45 miles	4	35.3	141	100.0	0	0.0	2.1	5.7		
Sumter, GA	1,117	Home Health and Infu	1 in 45 miles	5	223.4		100.0	0	0.0	3.5			
Terrell, GA		Home Health and Infu	1 in 45 miles	11	30.8			0	0.0	1.9			
Thomas, GA	1,294	Home Health and Infu	1 in 45 miles	26	49.8		100.0	0	0.0	2.8			
Tift, GA	1,652	Home Health and Infu	1 in 45 miles	8			100.0	0	0.0	8.8			
Turner, GA	402	Home Health and Infu	1 in 45 miles	11	36.5		100.0	0	0.0	4.3	6.7		
Webster, GA	45	Home Health and Infu	1 in 45 miles	17	2.6	45	100.0	0	0.0	5.2			
Worth, GA	643	Home Health and Infu	1 in 45 miles	11	58.5		100.0	0	0.0	6.0			
Grand Totals	20,193	Home Health and Infu	1 in 45 miles	339	59.6	20,193	100.0	0	0.0	4.4	5.2		

Hospitals - Urban

October 26, 2022

Hospitals

Access Analysis
Hospitals- Urban
Member / Provider Groups
Urban Members (SW_URBAN)

		Members With and Without Access Member Provider Counts Datis Mambers With Access Without Access Average Distance													
County # Group Standard # to Providers # % # % 1 2 Dougherty, GA 3,952 Hospitals 1 in 30 miles 1 3,952.0 3,952 100.0 0 0.0 4.8 19.8 Lowndes, GA 4,611 Hospitals 1 in 30 miles 3 1,537.0 4,611 100.0 0 0.0 4.7 7.5		Member			Counts	Ratio Members	With Ac			cess	Average	Distance			
Lowndes, GA 4,611 Hospitals 1 in 30 miles 3 1,537.0 4,611 100.0 0 0.0 4.7 7.5	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
	Dougherty, GA				1										
Grand Totals 8.563 Hospitals 1 in 30 miles 4 2,140.8 8,563 100.0 0 0.0 4.7 13.2	Lowndes, GA	4,611	Hospitals	1 in 30 miles	3	1,537.0	4,611	100.0	0	0.0	4.7	7.5			
Grand Totals 8,563 Hospitals 1 in 30 miles 4 2,140.8 8,563 100.0 0 0.0 4.7 13.2															
	Grand Totals	8,563	Hospitals	1 in 30 miles	4	2,140.8	8,563	100.0	0	0.0	4.7	13.2			
	© 2022 Quest Analytics II C														

Hospitals -Rural

October 26, 2022

Access Analysis
Hospitals- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Hospitals

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	412	Hospitals	1 in 45 miles	0		412	100.0	0	0.0	15.4	22.5		
Baker, GA	68	Hospitals	1 in 45 miles	0		68	100.0	0	0.0	15.4	26.2		
Ben Hill, GA	829	Hospitals	1 in 45 miles	1	829.0	829	100.0	0	0.0	3.4	9.6		
Berrien, GA	916	Hospitals	1 in 45 miles	1	916.0	916	100.0	0	0.0	6.5	15.2		
Brooks, GA	562	Hospitals	1 in 45 miles	2	281.0	562	100.0	0	0.0	6.5	7.3		
Calhoun, GA	175	Hospitals	1 in 45 miles	0		175	100.0	0	0.0	21.3	24.5		
Clay, GA	100	Hospitals	1 in 45 miles	0		100	100.0	0	0.0	22.1	43.4		
Clinch, GA	326	Hospitals	1 in 45 miles	2	163.0	326	100.0	0	0.0	4.6	4.6		
Coffee, GA	2,024	Hospitals	1 in 45 miles	1	2,024.0	2,024	100.0	0	0.0	6.2	22.0		
Colquitt, GA	2,049	Hospitals	1 in 45 miles	2	1,024.5	2,049	100.0	0	0.0	5.4	8.0		
Cook, GA	796	Hospitals	1 in 45 miles	1	796.0	796	100.0	0	0.0	5.3	14.4		
Decatur, GA	1,249	Hospitals	1 in 45 miles	1	1,249.0	1,249	100.0	0	0.0	5.5	22.1		
Early, GA		Hospitals	1 in 45 miles	1	380.0	380	100.0	0	0.0	4.5	22.2		
Echols, GA		Hospitals	1 in 45 miles	0		382	100.0	0	0.0	14.4	22.0		
Grady, GA		Hospitals	1 in 45 miles	1	975.0		100.0	0	0.0	4.7	16.0		
Irwin, GA	306	Hospitals	1 in 45 miles	1	306.0		100.0	0	0.0	4.1	9.5		
Lanier, GA		Hospitals	1 in 45 miles	1	298.0	298	100.0	0	0.0	3.6	17.6		
Lee, GA		Hospitals	1 in 45 miles	0		851	100.0	0	0.0	7.3	24.1		
Miller, GA		Hospitals	1 in 45 miles	1	196.0		100.0	0	0.0	5.2	16.0		
Mitchell, GA		Hospitals	1 in 45 miles	1	771.0	771	100.0	0	0.0	9.0	20.9		
Quitman, GA		Hospitals	1 in 45 miles	0		117		0	0.0	37.0	44.4		
Randolph, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	31.7	40.7		
Schley, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	14.5	19.2		
Seminole, GA		Hospitals	1 in 45 miles	1	358.0	358		0	0.0	6.3	18.6		
Stewart, GA		Hospitals	1 in 45 miles	0		141		0	0.0	28.3	38.3		
Sumter, GA		Hospitals	1 in 45 miles	1	1,117.0		100.0	0	0.0	4.4	25.6		
Terrell, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	24.5	28.6		
Thomas, GA		Hospitals	1 in 45 miles	1	1,294.0		100.0	0	0.0	5.4	15.4		
Tift, GA		Hospitals	1 in 45 miles	1	1,652.0		100.0	0	0.0	4.4	21.9		
Turner, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	20.9	22.8		
Webster, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	18.2	39.1		
Worth, GA		Hospitals	1 in 45 miles	1	643.0		100.0	0	0.0	6.0	19.4		
,								_					
Grand Totals	20,193	Hospitals	1 in 45 miles	22	917.9	20,193	100.0	0	0.0	7.5	18.6		
© 2022 Ouget Analytics II C													

Outpatient Laboratory Services - Urban

October 26, 2022

Access Analysis
Outpatient Laboratory Services- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Outpatient Laboratory Services

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA		Outpatient Laboratory	1 in 30 miles	10			100.0			2.8	3.5		
Lowndes, GA	4,611	Outpatient Laboratory	1 in 30 miles	5	922.2	4,611	100.0	0	0.0	4.5	4.8		
Grand Totals	8,563	Outpatient Laboratory	1 in 30 miles	15	570.9	8,563	100.0	0	0.0	3.7	4.2		
© 2022 Quest Analytics, LLC.													

Outpatient Laboratory Services - Rural

October 26, 2022

Access Analysis
Outpatient Laboratory Services- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Outpatient Laboratory Services

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Outpatient Laboratory	1 in 45 miles	2	206.0	412	100.0	0	0.0	6.9	10.7
Baker, GA	68	Outpatient Laboratory	1 in 45 miles	2	34.0	68	100.0	0	0.0	2.7	7.1
Ben Hill, GA	829	Outpatient Laboratory	1 in 45 miles	2	414.5	829	100.0	0	0.0	2.3	2.9
Berrien, GA	916	Outpatient Laboratory	1 in 45 miles	2	458.0	916	100.0	0	0.0	5.3	9.1
Brooks, GA	562	Outpatient Laboratory	1 in 45 miles	0		562	100.0	0	0.0	14.3	14.3
Calhoun, GA	175	Outpatient Laboratory	1 in 45 miles	2	87.5	175	100.0	0	0.0	11.7	12.4
Clay, GA	100	Outpatient Laboratory	1 in 45 miles	2	50.0	100	100.0	0	0.0	4.1	6.7
Clinch, GA	326	Outpatient Laboratory	1 in 45 miles	2	163.0	326	100.0	0	0.0	3.7	5.1
Coffee, GA	2,024	Outpatient Laboratory	1 in 45 miles	11	184.0	2,024	100.0	0	0.0	5.0	6.1
Colquitt, GA	2,049	Outpatient Laboratory	1 in 45 miles	6	341.5	2,049	100.0	0	0.0	5.0	5.2
Cook, GA	796	Outpatient Laboratory	1 in 45 miles	2	398.0	796	100.0	0	0.0	3.9	7.6
Decatur, GA	1,249	Outpatient Laboratory	1 in 45 miles	2	624.5	1,249	100.0	0	0.0	5.4	5.6
Early, GA	380	Outpatient Laboratory	1 in 45 miles	2	190.0	380	100.0	0	0.0	9.4	14.0
Echols, GA		Outpatient Laboratory	1 in 45 miles	2	191.0	382		0	0.0	9.0	13.9
Grady, GA		Outpatient Laboratory	1 in 45 miles	2	487.5	975	100.0	0	0.0	4.0	8.6
Irwin, GA		Outpatient Laboratory	1 in 45 miles	2	153.0			0	0.0	7.6	7.7
Lanier, GA	298	Outpatient Laboratory	1 in 45 miles	2	149.0			0	0.0	8.7	10.9
Lee, GA		Outpatient Laboratory	1 in 45 miles	2	425.5	851	100.0	0	0.0	5.8	6.4
Miller, GA	196	Outpatient Laboratory	1 in 45 miles	2	98.0	196	100.0	0	0.0	4.0	8.8
Mitchell, GA		Outpatient Laboratory	1 in 45 miles	2	385.5		100.0	0	0.0	7.7	11.1
Quitman, GA		Outpatient Laboratory	1 in 45 miles	2	58.5	117	100.0	0	0.0	2.5	3.8
Randolph, GA		Outpatient Laboratory	1 in 45 miles	2		262	100.0	0	0.0	3.3	11.3
Schley, GA		Outpatient Laboratory	1 in 45 miles	2	79.0		100.0	0	0.0	5.2	7.9
Seminole, GA		Outpatient Laboratory	1 in 45 miles	3	119.3			0	0.0	3.4	8.6
Stewart, GA	141	Outpatient Laboratory	1 in 45 miles	1	141.0	141	100.0	0	0.0	9.6	10.6
Sumter, GA		Outpatient Laboratory	1 in 45 miles	3	372.3	1,117	100.0	0	0.0	3.4	4.9
Terrell, GA	,	Outpatient Laboratory	1 in 45 miles	2	169.5	339	100.0	0	0.0	3.9	5.5
Thomas, GA		Outpatient Laboratory	1 in 45 miles	9	143.8		100.0	0	0.0	3.9	4.2
Tift, GA		Outpatient Laboratory	1 in 45 miles	8	206.5			0	0.0	4.0	4.1
Turner, GA		Outpatient Laboratory	1 in 45 miles	0			100.0	0	0.0	16.6	16.9
Webster, GA		Outpatient Laboratory	1 in 45 miles	3	15.0	45	100.0	0	0.0	10.1	11.1
Worth, GA		Outpatient Laboratory	1 in 45 miles	2	321.5	643	100.0	0	0.0	7.4	8.3
	0.0			_	02.110	0.0		·	0.0		0.0
Grand Totals	20,193	Outpatient Laboratory	1 in 45 miles	88	229.5	20,193	100.0	0	0.0	5.6	7.2
		, , , , ,									

Obstetrics/Gynecology -Urban

October 26, 2022

Access Analysis
Obstetrics/Gynecology- Urban
Member / Provider Groups
Female Urban Members (SW_URBAN)
Obstetrics/Gynecology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Obstetrics/Gynecology	2 in 30 miles	69	21.8		100.0		0.0	1.8	2.1
Lowndes, GA	1,530	Obstetrics/Gynecology	2 in 30 miles	52	29.4	1,530	100.0	0	0.0	2.9	3.3
Grand Totals	3,036	Obstetrics/Gynecology	2 in 30 miles	121	25.1	3,036	100.0	0	0.0	2.4	2.7

Obstetrics/Gynecology -Rural

October 26, 2022

Access Analysis
Obstetrics/Gynecology- Rural
Member / Provider Groups
Female Rural Members (SW_RURAL)
Obstetrics/Gynecology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	126	Obstetrics/Gynecology	2 in 45 miles	7	18.0	126		0	0.0	3.9	4.3
Baker, GA	23	Obstetrics/Gynecology	2 in 45 miles	0		23	100.0	0	0.0	12.6	12.6
Ben Hill, GA		Obstetrics/Gynecology	2 in 45 miles	9	31.9	287	100.0	0	0.0	1.8	2.2
Berrien, GA	289	Obstetrics/Gynecology	2 in 45 miles	11	26.3	289	100.0	0	0.0	5.0	5.6
Brooks, GA	195	Obstetrics/Gynecology	2 in 45 miles	9	21.7	195	100.0	0	0.0	4.6	6.1
Calhoun, GA	66	Obstetrics/Gynecology	2 in 45 miles	5	13.2	66	100.0	0	0.0	7.4	7.5
Clay, GA	34	Obstetrics/Gynecology	2 in 45 miles	1	34.0	34	100.0	0	0.0	3.6	18.6
Clinch, GA	108	Obstetrics/Gynecology	2 in 45 miles	4	27.0	108	100.0	0	0.0	4.4	4.9
Coffee, GA	656	Obstetrics/Gynecology	2 in 45 miles	29	22.6	656	100.0	0	0.0	2.6	3.9
Colquitt, GA	637	Obstetrics/Gynecology	2 in 45 miles	36	17.7	637	100.0	0	0.0	2.3	3.9
Cook, GA	256	Obstetrics/Gynecology	2 in 45 miles	13	19.7	256	100.0	0	0.0	2.7	3.5
Decatur, GA	418	Obstetrics/Gynecology	2 in 45 miles	16	26.1	418	100.0	0	0.0	3.7	4.7
Early, GA	125	Obstetrics/Gynecology	2 in 45 miles	2	62.5	125	100.0	0	0.0	4.4	4.5
Echols, GA	108	Obstetrics/Gynecology	2 in 45 miles	1	108.0	108	100.0	0	0.0	7.1	14.7
Grady, GA	289	Obstetrics/Gynecology	2 in 45 miles	13	22.2	289	100.0	0	0.0	2.6	3.9
Irwin, GA	90	Obstetrics/Gynecology	2 in 45 miles	11	8.2	90	100.0	0	0.0	2.9	3.6
Lanier, GA	106	Obstetrics/Gynecology	2 in 45 miles	6	17.7	106	100.0	0	0.0	3.1	3.3
Lee, GA	294	Obstetrics/Gynecology	2 in 45 miles	3	98.0	294	100.0	0	0.0	5.5	5.6
Miller, GA	64	Obstetrics/Gynecology	2 in 45 miles	2	32.0	64	100.0	0	0.0	4.5	6.5
Mitchell, GA	268	Obstetrics/Gynecology	2 in 45 miles	5	53.6	268	100.0	0	0.0	7.1	8.0
Quitman, GA	32	Obstetrics/Gynecology	2 in 45 miles	0		32	100.0	0	0.0	18.6	22.0
Randolph, GA	88	Obstetrics/Gynecology	2 in 45 miles	2	44.0	88	100.0	0	0.0	3.0	3.1
Schley, GA	53	Obstetrics/Gynecology	2 in 45 miles	0		53	100.0	0	0.0	13.5	13.5
Seminole, GA	128	Obstetrics/Gynecology	2 in 45 miles	7	18.3	128	100.0	0	0.0	6.3	6.4
Stewart, GA	60	Obstetrics/Gynecology	2 in 45 miles	1	60.0	60	100.0	0	0.0	6.5	12.7
Sumter, GA	381	Obstetrics/Gynecology	2 in 45 miles	23	16.6	381	100.0	0	0.0	2.1	2.3
Terrell, GA	119	Obstetrics/Gynecology	2 in 45 miles	3	39.7	119	100.0	0	0.0	3.3	3.3
Thomas, GA	445	Obstetrics/Gynecology	2 in 45 miles	23	19.3	445	100.0	0	0.0	3.2	4.3
Tift, GA	536	Obstetrics/Gynecology	2 in 45 miles	61	8.8	536	100.0	0	0.0	1.5	2.2
Turner, GA	143	Obstetrics/Gynecology	2 in 45 miles	1	143.0	143	100.0	0	0.0	3.0	19.0
Webster, GA	16	Obstetrics/Gynecology	2 in 45 miles	2	8.0	16	100.0	0	0.0	4.6	4.6
Worth, GA	227	Obstetrics/Gynecology	2 in 45 miles	8	28.4	227	100.0	0	0.0	4.5	4.8
Grand Totals	6,667	Obstetrics/Gynecology	2 in 45 miles	314	21.2	6,667	100.0	0	0.0	3.6	5.0
2022 Ouget Analytics LLC		!	!								

Pediatric Allergy/Immunology - Urban

October 26, 2022

Access Analysis
Pediatric Allergy/Immunology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Allergy/Immunology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Pediatric_Allergy/Imm	1 in 30 miles	17	160.4		100.0		0.0	1.9	2.3
Lowndes, GA	3,388	Pediatric_Allergy/Imm	1 in 30 miles	8	423.5	3,388	100.0	0	0.0	3.7	4.0
Grand Totals	6 111	Dadiatria Allaray/Imm	1 in 20 miles	25	244.6	6 111	100.0	0	0.0	2.9	3.3
Grand Totals	0,114	Pediatric_Allergy/Imm	1 in 30 miles	25	244.0	0,114	100.0	0	0.0	2.9	3.3
© 2022 Quest Analytics LLC											<u> </u>

Pediatric Allergy/Immunology -Rural

October 26, 2022

Access Analysis
Pediatric Allergy/Immunology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Allergy/Immunology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Allergy/Imm	1 in 45 miles	7	44.6	312	100.0	0	0.0	4.0	4.4
Baker, GA	46	Pediatric_Allergy/Imm	1 in 45 miles	0		46	100.0	0	0.0	12.6	12.7
Ben Hill, GA	622	Pediatric_Allergy/Imm	1 in 45 miles	4	155.5	622	100.0	0	0.0	2.0	2.6
Berrien, GA	669	Pediatric_Allergy/Imm	1 in 45 miles	9	74.3		100.0	0	0.0	5.3	6.0
Brooks, GA	413	Pediatric_Allergy/Imm	1 in 45 miles	9	45.9	413	100.0	0	0.0	4.8	6.5
Calhoun, GA		Pediatric_Allergy/Imm	1 in 45 miles	1	116.0	116	100.0	0	0.0	7.3	17.9
Clay, GA	68	Pediatric_Allergy/Imm	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.9
Clinch, GA	242	Pediatric_Allergy/Imm	1 in 45 miles	2	121.0	242	100.0	0	0.0	3.8	4.5
Coffee, GA	1,509	Pediatric_Allergy/Imm	1 in 45 miles	22	68.6	1,509	100.0	0	0.0	2.8	4.6
Colquitt, GA	1,499	Pediatric_Allergy/Imm	1 in 45 miles	15	99.9	1,499	100.0	0	0.0	2.4	3.9
Cook, GA	584	Pediatric_Allergy/Imm	1 in 45 miles	9	64.9	584	100.0	0	0.0	3.5	4.0
Decatur, GA	907	Pediatric_Allergy/Imm	1 in 45 miles	10	90.7	907	100.0	0	0.0	3.9	4.8
Early, GA	271	Pediatric_Allergy/Imm	1 in 45 miles	0		271	100.0	0	0.0	19.4	21.2
Echols, GA	294	Pediatric_Allergy/Imm	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.8
Grady, GA	755	Pediatric_Allergy/Imm	1 in 45 miles	6	125.8	755	100.0	0	0.0	2.7	4.1
Irwin, GA	230	Pediatric_Allergy/Imm	1 in 45 miles	7	32.9	230	100.0	0	0.0	3.0	3.5
Lanier, GA	220	Pediatric_Allergy/Imm	1 in 45 miles	5	44.0	220	100.0	0	0.0	3.0	3.3
Lee, GA	616	Pediatric_Allergy/Imm	1 in 45 miles	4	154.0	616	100.0	0	0.0	6.1	6.5
Miller, GA	138	Pediatric_Allergy/Imm	1 in 45 miles	2	69.0	138	100.0	0	0.0	4.5	6.6
Mitchell, GA	549	Pediatric_Allergy/Imm	1 in 45 miles	5	109.8	549	100.0	0	0.0	7.0	8.1
Quitman, GA	87	Pediatric_Allergy/Imm	1 in 45 miles	0		87	100.0	0	0.0	18.0	21.0
Randolph, GA	189	Pediatric_Allergy/Imm	1 in 45 miles	2	94.5	189	100.0	0	0.0	3.2	3.4
Schley, GA	110	Pediatric_Allergy/Imm	1 in 45 miles	0		110	100.0	0	0.0	13.4	15.3
Seminole, GA	257	Pediatric_Allergy/Imm	1 in 45 miles	0		257	100.0	0	0.0	17.7	19.8
Stewart, GA	94	Pediatric_Allergy/Imm	1 in 45 miles	1	94.0	94	100.0	0	0.0	6.6	13.3
Sumter, GA	786	Pediatric_Allergy/Imm	1 in 45 miles	5	157.2	786	100.0	0	0.0	2.7	3.8
Terrell, GA	244	Pediatric_Allergy/Imm	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	17.4
Thomas, GA	932	Pediatric_Allergy/Imm	1 in 45 miles	4	233.0	932	100.0	0	0.0	4.0	5.0
Tift, GA	1,232	Pediatric_Allergy/Imm	1 in 45 miles	30	41.1	1,232	100.0	0	0.0	1.6	2.4
Turner, GA	289	Pediatric_Allergy/Imm	1 in 45 miles	1	289.0	289	100.0	0	0.0	3.5	19.0
Webster, GA	34	Pediatric_Allergy/Imm	1 in 45 miles	2	17.0	34	100.0	0	0.0	3.3	3.3
Worth, GA	449	Pediatric_Allergy/Imm	1 in 45 miles	6	74.8	449	100.0	0	0.0	4.5	4.8
Grand Totals	14,763	Pediatric_Allergy/Imm	1 in 45 miles	170	86.8	14,763	100.0	0	0.0	4.5	6.2

Pediatric Cardiology - Urban

October 26, 2022

Access Analysis
Pediatric Cardiology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Cardiology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Р		Counts	Ratio Members	With Ac			cess	Average		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA		Pediatric_Cardiology	1 in 30 miles	54			100.0		0.0	1.7	2.2	
Lowndes, GA	3,388	Pediatric_Cardiology	1 in 30 miles	58	58.4	3,388	100.0	0	0.0	3.5	3.7	
Grand Totals	6,114	Pediatric_Cardiology	1 in 30 miles	112	54.6	6,114	100.0	0	0.0	2.7	3.0	

Pediatric Cardiology - Rural

October 26, 2022

Access Analysis
Pediatric Cardiology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Cardiology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Cardiology	1 in 45 miles	8	39.0	312	100.0	0	0.0	3.9	4.4
Baker, GA	46	Pediatric_Cardiology	1 in 45 miles	1	46.0	46	100.0	0	0.0	3.8	12.5
Ben Hill, GA	622	Pediatric_Cardiology	1 in 45 miles	12	51.8	622	100.0	0	0.0	1.9	2.2
Berrien, GA	669	Pediatric_Cardiology	1 in 45 miles	11	60.8		100.0	0	0.0	4.4	5.8
Brooks, GA	413	Pediatric_Cardiology	1 in 45 miles	32	12.9	413	100.0	0	0.0	3.9	5.8
Calhoun, GA		Pediatric_Cardiology	1 in 45 miles	3	38.7	116	100.0	0	0.0	6.2	7.4
Clay, GA	68	Pediatric_Cardiology	1 in 45 miles	2	34.0	68	100.0	0	0.0	3.7	4.3
Clinch, GA	242	Pediatric_Cardiology	1 in 45 miles	11	22.0	242	100.0	0	0.0	3.4	4.0
Coffee, GA	1,509	Pediatric_Cardiology	1 in 45 miles	45	33.5	1,509	100.0	0	0.0	2.7	4.5
Colquitt, GA	1,499	Pediatric_Cardiology	1 in 45 miles	35	42.8	1,499	100.0	0	0.0	2.4	3.8
Cook, GA	584	Pediatric_Cardiology	1 in 45 miles	13	44.9	584	100.0	0	0.0	2.9	3.5
Decatur, GA	907	Pediatric_Cardiology	1 in 45 miles	32	28.3	907	100.0	0	0.0	3.8	4.7
Early, GA	271	Pediatric_Cardiology	1 in 45 miles	1	271.0	271	100.0	0	0.0	8.7	18.4
Echols, GA	294	Pediatric_Cardiology	1 in 45 miles	1	294.0	294	100.0	0	0.0	9.4	15.0
Grady, GA	755	Pediatric_Cardiology	1 in 45 miles	27	28.0	755	100.0	0	0.0	2.6	3.7
Irwin, GA	230	Pediatric_Cardiology	1 in 45 miles	10	23.0	230	100.0	0	0.0	2.5	3.3
Lanier, GA	220	Pediatric_Cardiology	1 in 45 miles	6	36.7	220	100.0	0	0.0	2.5	3.3
Lee, GA	616	Pediatric_Cardiology	1 in 45 miles	1	616.0	616	100.0	0	0.0	5.9	6.4
Miller, GA	138	Pediatric_Cardiology	1 in 45 miles	4	34.5	138	100.0	0	0.0	4.1	4.9
Mitchell, GA	549	Pediatric_Cardiology	1 in 45 miles	32	17.2	549	100.0	0	0.0	5.8	7.5
Quitman, GA	87	Pediatric_Cardiology	1 in 45 miles	1	87.0	87	100.0	0	0.0	9.5	18.1
Randolph, GA	189	Pediatric_Cardiology	1 in 45 miles	3	63.0	189	100.0	0	0.0	2.8	3.2
Schley, GA	110	Pediatric_Cardiology	1 in 45 miles	1	110.0	110	100.0	0	0.0	6.9	13.1
Seminole, GA	257	Pediatric_Cardiology	1 in 45 miles	4	64.3	257	100.0	0	0.0	5.8	6.0
Stewart, GA	94	Pediatric_Cardiology	1 in 45 miles	1	94.0	94	100.0	0	0.0	4.2	11.6
Sumter, GA	786	Pediatric_Cardiology	1 in 45 miles	24	32.8	786	100.0	0	0.0	2.3	3.2
Terrell, GA	244	Pediatric_Cardiology	1 in 45 miles	2	122.0	244	100.0	0	0.0	3.0	7.9
Thomas, GA	932	Pediatric_Cardiology	1 in 45 miles	62	15.0	932	100.0	0	0.0	3.5	4.8
Tift, GA	1,232	Pediatric_Cardiology	1 in 45 miles	35	35.2	1,232	100.0	0	0.0	1.4	2.3
Turner, GA	289	Pediatric_Cardiology	1 in 45 miles	2	144.5	289	100.0	0	0.0	3.2	9.6
Webster, GA	34	Pediatric_Cardiology	1 in 45 miles	4	8.5	34	100.0	0	0.0	2.6	3.3
Worth, GA	449	Pediatric_Cardiology	1 in 45 miles	19	23.6	449	100.0	0	0.0	4.0	4.7
Grand Totals	14,763	Pediatric_Cardiology	1 in 45 miles	445	33.2	14,763	100.0	0	0.0	3.5	5.1

Pediatric Dermatology - Urban

October 26, 2022

Access Analysis
Pediatric Dermatology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Dermatology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA	2,726	Pediatric_Dermatology	1 in 30 miles	3			100.0				
Lowndes, GA	3,388	Pediatric_Dermatology	1 in 30 miles	2	1,694.0	3,388	100.0	0	0.0	5.2	5.9
Grand Totals	6,114	Pediatric_Dermatology	1 in 30 miles	5	1,222.8	6,114	100.0	0	0.0	4.6	5.6
© 2022 Quest Analytics, LLC.											

Pediatric Dermatology - Rural

October 26, 2022

Access Analysis
Pediatric Dermatology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Dermatology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA		Pediatric_Dermatology	1 in 45 miles	0		312		0	0.0	16.1	16.7
Baker, GA	46	Pediatric_Dermatology	1 in 45 miles	0		46	100.0	0	0.0	25.7	28.2
Ben Hill, GA	622	Pediatric_Dermatology	1 in 45 miles	0		622	100.0	0	0.0	28.7	28.7
Berrien, GA	669	Pediatric_Dermatology	1 in 45 miles	0		669	100.0	0	0.0	19.8	19.9
Brooks, GA	413	Pediatric_Dermatology	1 in 45 miles	0		413	100.0	0	0.0	18.2	20.6
Calhoun, GA	116	Pediatric_Dermatology	1 in 45 miles	0		116	100.0	0	0.0	30.8	34.0
Clay, GA	68	Pediatric_Dermatology	1 in 45 miles	0		46	67.6	22	32.4	43.9	49.8
Clinch, GA	242	Pediatric_Dermatology	1 in 45 miles	0		242	100.0	0	0.0	31.9	32.3
Coffee, GA	1,509	Pediatric_Dermatology	1 in 45 miles	6	251.5	1,509	100.0	0	0.0	6.3	6.7
Colquitt, GA	1,499	Pediatric_Dermatology	1 in 45 miles	1	1,499.0	1,499	100.0	0	0.0	7.5	29.6
Cook, GA	584	Pediatric_Dermatology	1 in 45 miles	0		584	100.0	0	0.0	20.0	21.6
Decatur, GA	907	Pediatric_Dermatology	1 in 45 miles	0		907	100.0	0	0.0	26.4	37.3
Early, GA	271	Pediatric_Dermatology	1 in 45 miles	0		271	100.0	0	0.0	22.6	50.7
Echols, GA	294	Pediatric_Dermatology	1 in 45 miles	0		294	100.0	0	0.0	18.8	19.8
Grady, GA	755	Pediatric_Dermatology	1 in 45 miles	0		755	100.0	0	0.0	17.3	17.3
Irwin, GA	230	Pediatric_Dermatology	1 in 45 miles	0		230	100.0	0	0.0	19.6	19.6
Lanier, GA	220	Pediatric_Dermatology	1 in 45 miles	0		220	100.0	0	0.0	23.2	23.4
Lee, GA	616	Pediatric_Dermatology	1 in 45 miles	0		616	100.0	0	0.0	7.0	8.0
Miller, GA	138	Pediatric_Dermatology	1 in 45 miles	0		138	100.0	0	0.0	16.9	51.4
Mitchell, GA	549	Pediatric_Dermatology	1 in 45 miles	0		549	100.0	0	0.0	23.3	26.3
Quitman, GA	87	Pediatric_Dermatology	1 in 45 miles	0		34	39.1	53	60.9	45.9	47.8
Randolph, GA	189	Pediatric_Dermatology	1 in 45 miles	0		188	99.5	1	0.5	37.3	40.0
Schley, GA	110	Pediatric_Dermatology	1 in 45 miles	0		110	100.0	0	0.0	15.7	15.7
Seminole, GA	257	Pediatric_Dermatology	1 in 45 miles	1	257.0	257	100.0	0	0.0	6.0	57.6
Stewart, GA	94	Pediatric_Dermatology	1 in 45 miles	0		94	100.0	0	0.0	30.2	30.4
Sumter, GA	786	Pediatric_Dermatology	1 in 45 miles	5	157.2	786	100.0	0	0.0	4.1	4.1
Terrell, GA	244	Pediatric_Dermatology	1 in 45 miles	0		244	100.0	0	0.0	22.7	25.0
Thomas, GA	932	Pediatric_Dermatology	1 in 45 miles	4	233.0	932	100.0	0	0.0	5.6	5.8
Tift, GA	1,232	Pediatric_Dermatology	1 in 45 miles	5	246.4	1,232	100.0	0	0.0	4.3	4.3
Turner, GA	289	Pediatric_Dermatology	1 in 45 miles	0		289	100.0	0	0.0	22.3	22.3
Webster, GA	34	Pediatric_Dermatology	1 in 45 miles	0		34	100.0	0	0.0	20.1	20.1
Worth, GA		Pediatric_Dermatology	1 in 45 miles	0		449	100.0	0	0.0	17.9	18.5
Grand Totals	14,763	Pediatric_Dermatology	1 in 45 miles	22	671.0	14,687	99.5	76	0.5	15.0	20.2
@ 2022 Quest Analytics III C											

Pediatric Endocrinology - Urban

October 26, 2022

Access Analysis
Pediatric Endocrinology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatrio_Endocrinology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA			1 in 30 miles	18			100.0		0.0	2.0	2.4
Lowndes, GA	3,388	Pediatric_Endocrinology	1 in 30 miles	10	338.8	3,388	100.0	0	0.0	3.7	4.0
Grand Totals	6,114	Pediatric_Endocrinology	1 in 30 miles	28	218.4	6,114	100.0	0	0.0	2.9	3.3
© 2022 Quaet Analytics II C											

Pediatric Endocrinology - Rural

October 26, 2022

Access Analysis
Pediatric Endocrinology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Endocrinology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Endocrinology	1 in 45 miles	7	44.6	312	100.0	0	0.0	4.0	4.4
Baker, GA	46	Pediatric_Endocrinology	1 in 45 miles	0		46	100.0	0	0.0	12.6	12.7
Ben Hill, GA	622	Pediatric_Endocrinology	1 in 45 miles	4	155.5	622	100.0	0	0.0	2.0	2.6
Berrien, GA	669	Pediatric_Endocrinology	1 in 45 miles	9	74.3	669	100.0	0	0.0	5.3	6.0
Brooks, GA	413	Pediatric_Endocrinology	1 in 45 miles	9	45.9	413	100.0	0	0.0	4.8	6.5
Calhoun, GA	116	Pediatric_Endocrinology	1 in 45 miles	1	116.0	116	100.0	0	0.0	7.3	17.9
Clay, GA	68	Pediatric_Endocrinology	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.9
Clinch, GA	242	Pediatric_Endocrinology	1 in 45 miles	2	121.0	242	100.0	0	0.0	3.8	4.5
Coffee, GA	1,509	Pediatric_Endocrinology	1 in 45 miles	21	71.9	1,509	100.0	0	0.0	2.8	4.6
Colquitt, GA	1,499	Pediatric_Endocrinology	1 in 45 miles	15	99.9	1,499	100.0	0	0.0	2.4	3.9
Cook, GA	584	Pediatric_Endocrinology	1 in 45 miles	9	64.9	584	100.0	0	0.0	3.5	4.0
Decatur, GA	907	Pediatric_Endocrinology	1 in 45 miles	10	90.7	907	100.0	0	0.0	3.9	4.8
Early, GA	271	Pediatric_Endocrinology	1 in 45 miles	0		271	100.0	0	0.0	19.3	21.2
Echols, GA		Pediatric_Endocrinology	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.8
Grady, GA		Pediatric_Endocrinology	1 in 45 miles	6	125.8	755	100.0	0	0.0	2.7	4.1
Irwin, GA	230	Pediatric_Endocrinology	1 in 45 miles	7	32.9	230	100.0	0	0.0	3.0	3.5
Lanier, GA	220	Pediatric_Endocrinology	1 in 45 miles	5	44.0	220	100.0	0	0.0	3.0	3.3
Lee, GA	616	Pediatric_Endocrinology	1 in 45 miles	0		616	100.0	0	0.0	6.2	6.7
Miller, GA	138	Pediatric_Endocrinology	1 in 45 miles	2	69.0	138	100.0	0	0.0	4.5	6.6
Mitchell, GA	549	Pediatric_Endocrinology	1 in 45 miles	5	109.8	549	100.0	0	0.0	7.0	8.1
Quitman, GA		Pediatric_Endocrinology	1 in 45 miles	0		87	100.0	0	0.0	18.0	21.0
Randolph, GA	189	Pediatric_Endocrinology	1 in 45 miles	2	94.5	189	100.0	0	0.0	3.2	3.4
Schley, GA	110	Pediatric_Endocrinology	1 in 45 miles	0		110	100.0	0	0.0	13.4	15.3
Seminole, GA	257	Pediatric_Endocrinology	1 in 45 miles	0		257	100.0	0	0.0	17.7	19.8
Stewart, GA	94	Pediatric_Endocrinology	1 in 45 miles	1	94.0	94	100.0	0	0.0	6.6	13.3
Sumter, GA	786	Pediatric_Endocrinology	1 in 45 miles	5	157.2	786		0	0.0	2.7	3.9
Terrell, GA	244	Pediatric_Endocrinology	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	17.4
Thomas, GA	932	Pediatric_Endocrinology	1 in 45 miles	4	233.0	932	100.0	0	0.0	4.0	5.0
Tift, GA	1,232	Pediatric_Endocrinology	1 in 45 miles	25	49.3	1,232	100.0	0	0.0	1.6	2.4
Turner, GA	289	Pediatric_Endocrinology	1 in 45 miles	1	289.0	289	100.0	0	0.0	3.5	19.0
Webster, GA	34	Pediatric_Endocrinology	1 in 45 miles	2	17.0	34	100.0	0	0.0	3.3	3.3
Worth, GA	449	Pediatric_Endocrinology	1 in 45 miles	6	74.8	449	100.0	0	0.0	4.5	4.9
Grand Totals	14,763	Pediatric_Endocrinology	1 in 45 miles	160	92.3	14,763	100.0	0	0.0	4.5	6.2
				_		_					

Pediatric ENT - Urban

October 26, 2022

Access Analysis

Pediatric ENT- Urban

Member / Provider Groups

Pediatric Urban Members
(SW_URBAN)

Pediatric_ENT

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Pediatric_ENT	1 in 30 miles	19			100.0				2.3
Lowndes, GA	3,388	Pediatric_ENT	1 in 30 miles	10	338.8	3,388	100.0	0	0.0	3.7	4.0
Grand Totals	6,114	Pediatric_ENT	1 in 30 miles	29	210.8	6,114	100.0	0	0.0	3.0	3.3
© 2022 Quest Analytics, LLC.											

Pediatric ENT - Rural

October 26, 2022

Access Analysis
Pediatric ENT- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_ENT

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_ENT	1 in 45 miles	7	44.6	312	100.0	0	0.0	4.0	4.4
Baker, GA	46	Pediatric_ENT	1 in 45 miles	0		46	100.0	0	0.0	12.6	12.7
Ben Hill, GA	622	Pediatric_ENT	1 in 45 miles	4	155.5	622	100.0	0	0.0	2.0	2.6
Berrien, GA	669	Pediatric_ENT	1 in 45 miles	9	74.3	669	100.0	0	0.0	5.3	6.0
Brooks, GA	413	Pediatric_ENT	1 in 45 miles	10	41.3	413	100.0	0	0.0	4.7	6.3
Calhoun, GA	116	Pediatric_ENT	1 in 45 miles	1	116.0	116	100.0	0	0.0	7.3	17.9
Clay, GA	68	Pediatric_ENT	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.9
Clinch, GA	242	Pediatric_ENT	1 in 45 miles	2	121.0	242	100.0	0	0.0	3.8	4.5
Coffee, GA	1,509	Pediatric_ENT	1 in 45 miles	22	68.6	1,509	100.0	0	0.0	2.8	4.5
Colquitt, GA	1,499	Pediatric_ENT	1 in 45 miles	16	93.7	1,499	100.0	0	0.0	2.4	3.9
Cook, GA	584	Pediatric_ENT	1 in 45 miles	9	64.9	584	100.0	0	0.0	3.5	4.0
Decatur, GA	907	Pediatric_ENT	1 in 45 miles	11	82.5	907	100.0	0	0.0	3.9	4.8
Early, GA	271	Pediatric_ENT	1 in 45 miles	0		271	100.0	0	0.0	19.4	21.2
Echols, GA	294	Pediatric_ENT	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.8
Grady, GA	755	Pediatric_ENT	1 in 45 miles	7	107.9	755	100.0	0	0.0	2.6	4.0
Irwin, GA	230	Pediatric_ENT	1 in 45 miles	7	32.9		100.0	0	0.0	3.0	3.5
Lanier, GA	220	Pediatric_ENT	1 in 45 miles	5		220	100.0	0	0.0	3.0	3.3
Lee, GA		Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0	6.9	7.2
Miller, GA		Pediatric_ENT	1 in 45 miles	2	69.0		100.0	0	0.0	4.5	6.6
Mitchell, GA		Pediatric_ENT	1 in 45 miles	6			100.0	0	0.0	6.5	7.9
Quitman, GA		Pediatric_ENT	1 in 45 miles	0		87	100.0	0	0.0	18.0	
Randolph, GA		Pediatric_ENT	1 in 45 miles	2	94.5		100.0	0	0.0	3.2	3.4
Schley, GA		Pediatric_ENT	1 in 45 miles	0			100.0	0	0.0	13.4	15.3
Seminole, GA		Pediatric_ENT	1 in 45 miles	0		257	100.0	0	0.0	17.7	19.8
Stewart, GA		Pediatric_ENT	1 in 45 miles	1	94.0	94	100.0		0.0	6.6	13.3
Sumter, GA		Pediatric_ENT	1 in 45 miles	5	157.2		100.0	0	0.0	2.7	3.8
Terrell, GA		Pediatric_ENT	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	17.4
Thomas, GA		Pediatric_ENT	1 in 45 miles	5	186.4		100.0	0	0.0	4.0	5.0
Tift, GA		Pediatric_ENT	1 in 45 miles	29			100.0	0	0.0	1.6	2.4
Turner, GA		Pediatric_ENT	1 in 45 miles	1	289.0		100.0	0	0.0	3.5	19.0
Webster, GA		Pediatric_ENT	1 in 45 miles	2		34	100.0	0	0.0	3.3	3.3
Worth, GA		Pediatric_ENT	1 in 45 miles	6	74.8		100.0	0	0.0	4.5	4.8
,				_				_			
Grand Totals	14,763	Pediatric_ENT	1 in 45 miles	171	86.3	14,763	100.0	0	0.0	4.5	6.2
© 2022 Quest Analytics 11 C											

Pediatric Gastroenterology - Urban

October 26, 2022

Access Analysis
Pediatric Gastroenterology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Gastroenterology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	# Group Standard # to Providers # % # %					Average	Distance					
County	#	Group	Standard	#	to Providers				%	1	2	
Dougherty, GA		Pediatric_Gastroenter	1 in 30 miles	55			100.0		0.0	1.9	2.2	
Lowndes, GA	3,388	Pediatric_Gastroenter	1 in 30 miles	18	188.2	3,388	100.0	0	0.0	3.4	3.7	
Grand Totals	6 11/	Pediatric_Gastroenter	1 in 30 miles	73	83.8	6 11/	100.0	0	0.0	2.7	3.1	
Grand Totals	0,114	rediatile_Gastioenter	T III 30 TIMES	13	03.0	0,114	100.0	U	0.0	2.1	3.1	
© 2022 Ouget Analytics III C			I	1			Ь					

Pediatric Gastroenterology - Rural

October 26, 2022

Access Analysis
Pediatric Gastroenterology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Gastroenterology

			Members With a	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Gastroenter	1 in 45 miles	7	44.6	312	100.0	0	0.0	4.0	4.4
Baker, GA	46	Pediatric_Gastroenter	1 in 45 miles	0		46	100.0	0	0.0	12.6	12.7
Ben Hill, GA	622	Pediatric_Gastroenter	1 in 45 miles	4	155.5	622	100.0	0	0.0	2.0	2.6
Berrien, GA	669	Pediatric_Gastroenter	1 in 45 miles	9	74.3	669	100.0	0	0.0	5.3	6.0
Brooks, GA	413	Pediatric_Gastroenter	1 in 45 miles	9	45.9	413	100.0	0	0.0	4.8	6.3
Calhoun, GA	116	Pediatric_Gastroenter	1 in 45 miles	1	116.0	116	100.0	0	0.0	7.3	17.9
Clay, GA	68	Pediatric_Gastroenter	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.9
Clinch, GA	242	Pediatric_Gastroenter	1 in 45 miles	3	80.7	242	100.0	0	0.0	3.8	4.1
Coffee, GA	1,509	Pediatric_Gastroenter	1 in 45 miles	21	71.9	1,509	100.0	0	0.0	2.8	4.5
Colquitt, GA	1,499	Pediatric_Gastroenter	1 in 45 miles	18	83.3	1,499	100.0	0	0.0	2.4	3.9
Cook, GA	584	Pediatric_Gastroenter	1 in 45 miles	12	48.7	584	100.0	0	0.0	3.2	3.6
Decatur, GA	907	Pediatric_Gastroenter	1 in 45 miles	10	90.7	907	100.0	0	0.0	3.9	4.8
Early, GA	271	Pediatric_Gastroenter	1 in 45 miles	0		271	100.0	0	0.0	19.3	21.2
Echols, GA	294	Pediatric_Gastroenter	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.8
Grady, GA	755	Pediatric_Gastroenter	1 in 45 miles	6	125.8	755	100.0	0	0.0	2.7	4.1
Irwin, GA	230	Pediatric_Gastroenter	1 in 45 miles	7	32.9	230	100.0	0	0.0	3.0	3.5
Lanier, GA	220	Pediatric_Gastroenter	1 in 45 miles	5	44.0	220	100.0	0	0.0	3.0	3.3
Lee, GA	616	Pediatric_Gastroenter	1 in 45 miles	0		616		0	0.0	6.3	6.5
Miller, GA	138	Pediatric_Gastroenter	1 in 45 miles	2	69.0		100.0	0	0.0	4.5	6.6
Mitchell, GA	549	Pediatric_Gastroenter	1 in 45 miles	5	109.8	549		0	0.0	7.0	8.1
Quitman, GA	87	Pediatric_Gastroenter	1 in 45 miles	0		87	100.0	0	0.0	18.0	21.0
Randolph, GA	189	Pediatric_Gastroenter	1 in 45 miles	2	94.5	189	100.0	0	0.0	3.2	3.4
Schley, GA	110	Pediatric_Gastroenter	1 in 45 miles	0				0	0.0	13.4	15.3
Seminole, GA		Pediatric_Gastroenter	1 in 45 miles	0		257	100.0	0	0.0	17.7	19.8
Stewart, GA		Pediatric_Gastroenter	1 in 45 miles	1	94.0	94	100.0	0	0.0	6.6	13.3
Sumter, GA		Pediatric_Gastroenter	1 in 45 miles	5	157.2	786	100.0	0	0.0	2.7	3.8
Terrell, GA		Pediatric_Gastroenter	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	17.4
Thomas, GA		Pediatric_Gastroenter	1 in 45 miles	20			100.0	0	0.0	4.0	4.5
Tift, GA	1,232	Pediatric_Gastroenter	1 in 45 miles	32			100.0	0	0.0	1.6	2.4
Turner, GA		Pediatric_Gastroenter	1 in 45 miles	2		289		0	0.0	3.3	6.6
Webster, GA		Pediatric_Gastroenter	1 in 45 miles	2		34	100.0	0	0.0	3.3	3.3
Worth, GA		Pediatric_Gastroenter	1 in 45 miles	7	64.1		100.0	0	0.0	4.5	4.7
		_									
Grand Totals	14,763	Pediatric_Gastroenter	1 in 45 miles	192	76.9	14,763	100.0	0	0.0	4.5	5.9

Pediatric General Surgery - Urban

October 26, 2022

Access Analysis
Pediatric General Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_General Surgery

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA			1 in 30 miles	55			100.0		0.0	1.9	2.2	
Lowndes, GA	3,388	Pediatric_General Sur	1 in 30 miles	43	78.8	3,388	100.0	0	0.0	3.3	3.5	
Grand Totals	6,114	Pediatric_General Sur	1 in 30 miles	98	62.4	6,114	100.0	0	0.0	2.7	2.9	
@ 2022 Queet Analytics LLC												

Pediatric General Surgery - Rural

October 26, 2022

Access Analysis
Pediatric General Surgery- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_General Surgery

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance										
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_General Sur	1 in 45 miles	12	26.0		100.0	0	0.0	3.5	4.3
Baker, GA	46	Pediatric_General Sur	1 in 45 miles	0		46	100.0	0	0.0	12.4	12.6
Ben Hill, GA	622	Pediatric_General Sur	1 in 45 miles	14	44.4	622	100.0	0	0.0	1.8	2.1
Berrien, GA	669	Pediatric_General Sur	1 in 45 miles	11	60.8	669	100.0	0	0.0	5.3	6.0
Brooks, GA	413	Pediatric_General Sur	1 in 45 miles	14	29.5	413	100.0	0	0.0	4.7	5.9
Calhoun, GA	116	Pediatric_General Sur	1 in 45 miles	3	38.7	116	100.0	0	0.0	3.9	7.4
Clay, GA	68	Pediatric_General Sur	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.8
Clinch, GA	242	Pediatric_General Sur	1 in 45 miles	5	48.4	242	100.0	0	0.0	3.7	3.9
Coffee, GA	1,509	Pediatric_General Sur	1 in 45 miles	34	44.4	1,509	100.0	0	0.0	2.7	4.3
Colquitt, GA	1,499	Pediatric_General Sur	1 in 45 miles	25	60.0	1,499	100.0	0	0.0	2.4	3.9
Cook, GA	584	Pediatric_General Sur	1 in 45 miles	17	34.4	584	100.0	0	0.0	3.2	3.6
Decatur, GA	907	Pediatric_General Sur	1 in 45 miles	12	75.6	907	100.0	0	0.0	3.9	4.8
Early, GA	271	Pediatric_General Sur	1 in 45 miles	0		271	100.0	0	0.0	15.1	19.1
Echols, GA	294	Pediatric_General Sur	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.7
Grady, GA	755	Pediatric_General Sur	1 in 45 miles	17	44.4	755	100.0	0	0.0	2.6	3.9
Irwin, GA	230	Pediatric_General Sur	1 in 45 miles	15	15.3	230	100.0	0	0.0	3.0	3.4
Lanier, GA	220	Pediatric_General Sur	1 in 45 miles	5	44.0	220	100.0	0	0.0	3.0	3.3
Lee, GA		Pediatric_General Sur	1 in 45 miles	0		616	100.0	0	0.0	6.0	6.4
Miller, GA	138	Pediatric_General Sur	1 in 45 miles	3	46.0	138	100.0	0	0.0	4.3	5.0
Mitchell, GA	549	Pediatric_General Sur	1 in 45 miles	12	45.8	549	100.0	0	0.0	4.5	7.5
Quitman, GA	87	Pediatric_General Sur	1 in 45 miles	0		87	100.0	0	0.0	18.0	20.9
Randolph, GA	189	Pediatric_General Sur	1 in 45 miles	3	63.0	189	100.0	0	0.0	3.1	3.4
Schley, GA	110	Pediatric_General Sur	1 in 45 miles	0		110	100.0	0	0.0	13.2	13.2
Seminole, GA	257	Pediatric_General Sur	1 in 45 miles	10	25.7	257	100.0	0	0.0	5.5	6.0
Stewart, GA	94	Pediatric_General Sur	1 in 45 miles	1	94.0	94	100.0	0	0.0	6.6	13.3
Sumter, GA	786	Pediatric_General Sur	1 in 45 miles	10	78.6	786	100.0	0	0.0	2.5	2.8
Terrell, GA	244	Pediatric_General Sur	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	17.4
Thomas, GA		Pediatric_General Sur	1 in 45 miles	29	32.1		100.0	0	0.0	3.8	4.7
Tift, GA		Pediatric_General Sur	1 in 45 miles	41			100.0	0	0.0	1.6	2.4
Turner, GA		Pediatric_General Sur	1 in 45 miles	1	289.0			0	0.0	3.5	19.0
Webster, GA		Pediatric_General Sur	1 in 45 miles	2		34	100.0	0	0.0	3.3	3.3
Worth, GA	449	Pediatric_General Sur	1 in 45 miles	7	64.1	449	100.0	0	0.0	4.4	4.8
Grand Totals	14,763	Pediatric_General Sur	1 in 45 miles	305	48.4	14,763	100.0	0	0.0	4.0	5.6
@ 2022 Quest Analytics LLC											

Pediatric Hematology/Oncology - Urban

October 26, 2022

Access Analysis
Pediatric Hematology/Oncology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Hematology/Oncology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pr		Counts	Ratio Members	With Ac			cess	Average		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA		Pediatric_Hematology	1 in 30 miles	25			100.0		0.0	3.5	4.1	
Lowndes, GA	3,388	Pediatric_Hematology	1 in 30 miles	14	242.0	3,388	100.0	0	0.0	4.5	4.5	
Grand Totals	6.114	Pediatric_Hematology	1 in 30 miles	39	156.8	6 114	100.0	0	0.0	4.0	4.3	
Grand Totalo	0,111	- rodiatio_riomatology	T III GO TIIIIGG		100.0	0,111	100.0	Ů	0.0	1.0	1.0	

Pediatric Hematology/Oncology -Rural

October 26, 2022

Access Analysis
Pediatric Hematology/Oncology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Hematology/Oncology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Hematology	1 in 45 miles	0		312	100.0	0	0.0	16.3	16.3
Baker, GA	46	Pediatric_Hematology	1 in 45 miles	0		46	100.0	0	0.0	15.3	25.2
Ben Hill, GA	622	Pediatric_Hematology	1 in 45 miles	4	155.5	622	100.0	0	0.0	3.5	3.5
Berrien, GA	669	Pediatric_Hematology	1 in 45 miles	0			100.0	0	0.0	20.2	20.2
Brooks, GA	413	Pediatric_Hematology	1 in 45 miles	0		413	100.0	0	0.0	17.4	17.4
Calhoun, GA	116	Pediatric_Hematology	1 in 45 miles	0		116	100.0	0	0.0	32.8	34.4
Clay, GA	68	Pediatric_Hematology	1 in 45 miles	0		53	77.9	15	22.1	42.2	42.2
Clinch, GA	242	Pediatric_Hematology	1 in 45 miles	0		242	100.0	0	0.0	31.5	31.5
Coffee, GA	1,509	Pediatric_Hematology	1 in 45 miles	6	251.5	1,509	100.0	0	0.0	5.8	6.2
Colquitt, GA	1,499	Pediatric_Hematology	1 in 45 miles	12	124.9	1,499	100.0	0	0.0	7.1	7.2
Cook, GA	584	Pediatric_Hematology	1 in 45 miles	1	584.0	584	100.0	0	0.0	20.2	20.2
Decatur, GA	907	Pediatric_Hematology	1 in 45 miles	5	181.4	907	100.0	0	0.0	5.4	5.4
Early, GA	271	Pediatric_Hematology	1 in 45 miles	0		271	100.0	0	0.0	31.3	31.3
Echols, GA	294	Pediatric_Hematology	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.7
Grady, GA	755	Pediatric_Hematology	1 in 45 miles	0		755	100.0	0	0.0	13.9	16.1
Irwin, GA	230	Pediatric_Hematology	1 in 45 miles	0		230	100.0	0	0.0	9.4	9.4
Lanier, GA	220	Pediatric_Hematology	1 in 45 miles	0		220	100.0	0	0.0	23.8	23.8
Lee, GA	616	Pediatric_Hematology	1 in 45 miles	0		616	100.0	0	0.0	7.2	7.2
Miller, GA	138	Pediatric_Hematology	1 in 45 miles	0		138	100.0	0	0.0	23.7	23.7
Mitchell, GA	549	Pediatric_Hematology	1 in 45 miles	1	549.0	549	100.0	0	0.0	9.0	21.8
Quitman, GA	87	Pediatric_Hematology	1 in 45 miles	0		68	78.2	19	21.8	44.0	44.0
Randolph, GA	189	Pediatric_Hematology	1 in 45 miles	0		187	98.9	2	1.1	40.0	40.0
Schley, GA	110	Pediatric_Hematology	1 in 45 miles	0		110	100.0	0	0.0	13.8	13.8
Seminole, GA	257	Pediatric_Hematology	1 in 45 miles	0		257	100.0	0	0.0	24.9	24.9
Stewart, GA	94	Pediatric_Hematology	1 in 45 miles	0		94	100.0	0	0.0	28.4	28.4
Sumter, GA	786	Pediatric_Hematology	1 in 45 miles	9	87.3	786	100.0	0	0.0	3.9	3.9
Terrell, GA	244	Pediatric_Hematology	1 in 45 miles	0		244	100.0	0	0.0	24.5	24.5
Thomas, GA	932	Pediatric_Hematology	1 in 45 miles	7	133.1	932	100.0	0	0.0	4.8	5.5
Tift, GA	1,232	Pediatric_Hematology	1 in 45 miles	5	246.4	1,232	100.0	0	0.0	4.4	4.4
Turner, GA	289	Pediatric_Hematology	1 in 45 miles	0		289	100.0	0	0.0	21.0	21.0
Webster, GA	34	Pediatric_Hematology	1 in 45 miles	0		34	100.0	0	0.0	18.2	18.2
Worth, GA		Pediatric_Hematology	1 in 45 miles	6	74.8	449	100.0	0	0.0	5.8	5.8
Grand Totals	14,763	Pediatric_Hematology	1 in 45 miles	56	263.6	14,727	99.8	36	0.2	11.7	12.4

Pediatric Infectious Disease - Urban

October 26, 2022

Access Analysis
Pediatric Infectious Disease- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Infectious Disease

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA			1 in 30 miles	21	129.8	2,726	100.0	0	0.0	1.9	2.3	
Lowndes, GA	3,388	Pediatric_Infectious Di	1 in 30 miles	12	282.3	3,388	100.0	0	0.0	3.4	3.9	
Grand Totals	6,114	Pediatric_Infectious Di	1 in 30 miles	33	185.3	6,114	100.0	0	0.0	2.7	3.2	
© 2022 Quest Analytics II C												

Pediatric Infectious Disease - Rural

October 26, 2022

Access Analysis
Pediatric Infectious Disease- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Infectious Disease

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Infectious Di	1 in 45 miles	7	44.6	312	100.0	0	0.0	4.0	4.4
Baker, GA	46	Pediatric_Infectious Di	1 in 45 miles	0		46	100.0	0	0.0	12.6	12.7
Ben Hill, GA	622	Pediatric_Infectious Di	1 in 45 miles	4	155.5	622	100.0	0	0.0	2.0	2.6
Berrien, GA	669	Pediatric_Infectious Di	1 in 45 miles	9	74.3	669	100.0	0	0.0	5.3	6.0
Brooks, GA	413	Pediatric_Infectious Di	1 in 45 miles	9	45.9	413	100.0	0	0.0	4.8	6.4
Calhoun, GA	116	Pediatric_Infectious Di	1 in 45 miles	1	116.0	116	100.0	0	0.0	7.3	17.9
Clay, GA	68	Pediatric_Infectious Di	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.9
Clinch, GA	242	Pediatric_Infectious Di	1 in 45 miles	2	121.0	242	100.0	0	0.0	3.8	4.5
Coffee, GA	1,509	Pediatric_Infectious Di	1 in 45 miles	20	75.5	1,509	100.0	0	0.0	2.8	4.6
Colquitt, GA	1,499	Pediatric_Infectious Di	1 in 45 miles	17	88.2	1,499	100.0	0	0.0	2.4	3.9
Cook, GA	584	Pediatric_Infectious Di	1 in 45 miles	10	58.4	584	100.0	0	0.0	3.5	4.0
Decatur, GA	907	Pediatric_Infectious Di	1 in 45 miles	10	90.7	907	100.0	0	0.0	3.9	4.8
Early, GA	271	Pediatric_Infectious Di	1 in 45 miles	0		271	100.0	0	0.0	19.4	21.2
Echols, GA	294	Pediatric_Infectious Di	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.8
Grady, GA	755	Pediatric_Infectious Di	1 in 45 miles	6	125.8	755	100.0	0	0.0	2.7	4.1
Irwin, GA	230	Pediatric_Infectious Di	1 in 45 miles	7	32.9	230	100.0	0	0.0	3.0	3.5
Lanier, GA	220	Pediatric_Infectious Di	1 in 45 miles	5	44.0	220	100.0	0	0.0	3.0	3.3
Lee, GA	616	Pediatric_Infectious Di	1 in 45 miles	0		616	100.0	0	0.0	6.3	6.6
Miller, GA	138	Pediatric_Infectious Di	1 in 45 miles	2	69.0	138	100.0	0	0.0	4.5	6.6
Mitchell, GA	549	Pediatric_Infectious Di	1 in 45 miles	5	109.8		100.0	0	0.0	7.0	8.1
Quitman, GA		Pediatric_Infectious Di	1 in 45 miles	0		87	100.0	0	0.0	18.0	21.0
Randolph, GA	189	Pediatric_Infectious Di	1 in 45 miles	2	94.5	189	100.0	0	0.0	3.2	3.4
Schley, GA	110	Pediatric_Infectious Di	1 in 45 miles	0		110	100.0	0	0.0	13.4	14.3
Seminole, GA	257	Pediatric_Infectious Di	1 in 45 miles	0		257	100.0	0	0.0	17.7	19.8
Stewart, GA		Pediatric_Infectious Di	1 in 45 miles	1	94.0	94	100.0	0	0.0	6.6	13.3
Sumter, GA		Pediatric_Infectious Di	1 in 45 miles	6	131.0	786	100.0	0	0.0	2.6	3.6
Terrell, GA		Pediatric_Infectious Di	1 in 45 miles	1	244.0		100.0	0	0.0	3.8	17.4
Thomas, GA		Pediatric Infectious Di	1 in 45 miles	6	155.3	932	100.0	0	0.0	3.9	4.6
Tift, GA	1,232	Pediatric Infectious Di	1 in 45 miles	27	45.6		100.0	0	0.0	1.6	2.4
Turner, GA		Pediatric Infectious Di	1 in 45 miles	1	289.0		100.0	0	0.0	3.5	19.0
Webster, GA		Pediatric_Infectious Di	1 in 45 miles	2	17.0	34	100.0	0	0.0	3.3	3.3
Worth, GA		Pediatric_Infectious Di	1 in 45 miles	6	74.8			0	0.0	4.5	4.8
, .											
Grand Totals	14,763	Pediatric_Infectious Di	1 in 45 miles	167	88.4	14,763	100.0	0	0.0	4.5	6.2

Pediatric Nephrology - Urban

October 26, 2022

Access Analysis
Pediatric Nephrology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Nephrology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance										
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Pediatric_Nephrology	1 in 30 miles	59		2,726	100.0		0.0	1.6	
Lowndes, GA	3,388	Pediatric_Nephrology	1 in 30 miles	19	178.3	3,388	100.0	0	0.0	3.4	3.7
								_			
Grand Totals	6,114	Pediatric_Nephrology	1 in 30 miles	78	78.4	6,114	100.0	0	0.0	2.6	2.9
© 2022 Queet Analytics III C											

Pediatric Nephrology - Rural

October 26, 2022

Access Analysis
Pediatric Nephrology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Nephrology

			Members With a	and With	out Access						
	Member	Pı	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Nephrology	1 in 45 miles	7	44.6	312	100.0	0	0.0	4.0	4.4
Baker, GA	46	Pediatric_Nephrology	1 in 45 miles	0		46	100.0	0	0.0	12.4	12.4
Ben Hill, GA	622	Pediatric_Nephrology	1 in 45 miles	4	155.5	622	100.0	0	0.0	2.0	2.6
Berrien, GA	669	Pediatric_Nephrology	1 in 45 miles	9	74.3	669	100.0	0	0.0	5.3	6.0
Brooks, GA	413	Pediatric_Nephrology	1 in 45 miles	18	22.9	413	100.0	0	0.0	4.7	6.0
Calhoun, GA	116	Pediatric_Nephrology	1 in 45 miles	3	38.7	116	100.0	0	0.0	3.9	7.6
Clay, GA	68	Pediatric_Nephrology	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.6
Clinch, GA	242	Pediatric_Nephrology	1 in 45 miles	2	121.0	242	100.0	0	0.0	3.8	4.5
Coffee, GA	1,509	Pediatric_Nephrology	1 in 45 miles	21	71.9	1,509	100.0	0	0.0	2.8	4.6
Colquitt, GA	1,499	Pediatric_Nephrology	1 in 45 miles	26	57.7	1,499	100.0	0	0.0	2.4	3.9
Cook, GA	584	Pediatric_Nephrology	1 in 45 miles	9	64.9	584	100.0	0	0.0	3.5	4.0
Decatur, GA	907	Pediatric_Nephrology	1 in 45 miles	20	45.4	907	100.0	0	0.0	3.9	4.8
Early, GA	271	Pediatric_Nephrology	1 in 45 miles	5	54.2	271	100.0	0	0.0	5.2	5.3
Echols, GA	294	Pediatric_Nephrology	1 in 45 miles	0		294	100.0	0	0.0	14.6	15.7
Grady, GA	755	Pediatric_Nephrology	1 in 45 miles	14	53.9	755	100.0	0	0.0	2.6	3.9
Irwin, GA	230	Pediatric_Nephrology	1 in 45 miles	7	32.9	230	100.0	0	0.0	3.0	3.5
Lanier, GA	220	Pediatric_Nephrology	1 in 45 miles	5	44.0	220	100.0	0	0.0	3.0	3.3
Lee, GA	616	Pediatric_Nephrology	1 in 45 miles	5	123.2	616	100.0	0	0.0	4.5	4.7
Miller, GA	138	Pediatric_Nephrology	1 in 45 miles	2	69.0	138	100.0	0	0.0	4.5	6.6
Mitchell, GA	549	Pediatric_Nephrology	1 in 45 miles	12	45.8	549	100.0	0	0.0	6.8	7.9
Quitman, GA	87	Pediatric_Nephrology	1 in 45 miles	0		87	100.0	0	0.0	18.0	21.0
Randolph, GA	189	Pediatric_Nephrology	1 in 45 miles	2	94.5	189	100.0	0	0.0	3.1	3.3
Schley, GA	110	Pediatric_Nephrology	1 in 45 miles	0			100.0	0	0.0	12.9	12.9
Seminole, GA	257	Pediatric_Nephrology	1 in 45 miles	0		257	100.0	0	0.0	17.7	19.7
Stewart, GA		Pediatric_Nephrology	1 in 45 miles	1	94.0	94	100.0	0	0.0	6.6	13.2
Sumter, GA	786	Pediatric_Nephrology	1 in 45 miles	10	78.6	786	100.0	0	0.0	2.5	3.4
Terrell, GA	244	Pediatric_Nephrology	1 in 45 miles	5	48.8	244	100.0	0	0.0	3.7	4.1
Thomas, GA	932	Pediatric_Nephrology	1 in 45 miles	26	35.8	932	100.0	0	0.0	3.8	4.1
Tift, GA	1,232	Pediatric_Nephrology	1 in 45 miles	35	35.2	1,232	100.0	0	0.0	1.6	2.4
Turner, GA	289	Pediatric_Nephrology	1 in 45 miles	1	289.0	289	100.0	0	0.0	3.5	18.3
Webster, GA	34	Pediatric_Nephrology	1 in 45 miles	2	17.0	34	100.0	0	0.0	3.3	3.3
Worth, GA	449	Pediatric_Nephrology	1 in 45 miles	12	37.4	449	100.0	0	0.0	3.9	4.1
Grand Totals	14,763	Pediatric_Nephrology	1 in 45 miles	264	55.9	14,763	100.0	0	0.0	4.0	5.4
© 2022 Quest Analytics, LLC.					<u> </u>			Il			

Pediatric Neurology - Urban

October 26, 2022

Access Analysis
Pediatric Neurology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Neurology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance										
	# Group Standard # to Providers					With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Pediatric_Neurology	1 in 30 miles	50			100.0		0.0	1.9	2.2
Lowndes, GA	3,388	Pediatric_Neurology	1 in 30 miles	21	161.3	3,388	100.0	0	0.0	3.3	3.5
Grand Totals	6 114	Pediatric_Neurology	1 in 30 miles	71	86.1	6 114	100.0	0	0.0	2.7	3.0
Grand Totals	0,114	r ediatric_rvedrology	T III 50 IIIIle5	/ /	00.1	0,114	100.0	U	0.0	2.1	3.0
© 2022 Quest Analytics III C		!		_!							

Pediatric Neurology - Rural

October 26, 2022

Access Analysis
Pediatric Neurology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Neurology

	Members With and Without Access Member Provider Counts Retic Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	312	Pediatric_Neurology	1 in 45 miles	7	44.6	312	100.0	0	0.0	4.0	4.4		
Baker, GA	46	Pediatric_Neurology	1 in 45 miles	0		46	100.0	0	0.0	12.6	12.7		
Ben Hill, GA	622	Pediatric_Neurology	1 in 45 miles	4	155.5	622	100.0	0	0.0	2.0	2.6		
Berrien, GA	669	Pediatric_Neurology	1 in 45 miles	9	74.3	669	100.0	0	0.0	5.3	6.0		
Brooks, GA	413	Pediatric_Neurology	1 in 45 miles	9	45.9	413	100.0	0	0.0	4.8	6.3		
Calhoun, GA	116	Pediatric_Neurology	1 in 45 miles	1	116.0	116	100.0	0	0.0	7.3	17.9		
Clay, GA	68	Pediatric_Neurology	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.9		
Clinch, GA	242	Pediatric_Neurology	1 in 45 miles	2	121.0	242	100.0	0	0.0	3.8	4.5		
Coffee, GA	1,509	Pediatric_Neurology	1 in 45 miles	23	65.6	1,509	100.0	0	0.0	2.8	4.5		
Colquitt, GA	1,499	Pediatric_Neurology	1 in 45 miles	16	93.7	1,499	100.0	0	0.0	2.4	3.9		
Cook, GA	584	Pediatric_Neurology	1 in 45 miles	10	58.4	584	100.0	0	0.0	3.2	3.9		
Decatur, GA	907	Pediatric_Neurology	1 in 45 miles	10	90.7	907	100.0	0	0.0	3.9	4.8		
Early, GA	271	Pediatric_Neurology	1 in 45 miles	0		271	100.0	0	0.0	19.3	21.1		
Echols, GA	294	Pediatric_Neurology	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.8		
Grady, GA	755	Pediatric_Neurology	1 in 45 miles	6	125.8	755	100.0	0	0.0	2.7	4.1		
Irwin, GA	230	Pediatric_Neurology	1 in 45 miles	7	32.9	230	100.0	0	0.0	3.0	3.5		
Lanier, GA	220	Pediatric_Neurology	1 in 45 miles	5	44.0	220	100.0	0	0.0	3.0	3.3		
Lee, GA	616	Pediatric_Neurology	1 in 45 miles	0		616	100.0	0	0.0	6.1	6.5		
Miller, GA	138	Pediatric_Neurology	1 in 45 miles	2	69.0	138	100.0	0	0.0	4.5	6.6		
Mitchell, GA	549	Pediatric_Neurology	1 in 45 miles	5	109.8	549	100.0	0	0.0	7.0	8.1		
Quitman, GA	87	Pediatric_Neurology	1 in 45 miles	0		87	100.0	0	0.0	18.0	21.0		
Randolph, GA	189	Pediatric_Neurology	1 in 45 miles	2	94.5	189	100.0	0	0.0	3.2	3.4		
Schley, GA	110	Pediatric_Neurology	1 in 45 miles	0		110	100.0	0	0.0	13.3	14.3		
Seminole, GA	257	Pediatric_Neurology	1 in 45 miles	0		257	100.0	0	0.0	17.7	19.8		
Stewart, GA	94	Pediatric_Neurology	1 in 45 miles	1	94.0	94	100.0	0	0.0	6.6	13.3		
Sumter, GA	786	Pediatric_Neurology	1 in 45 miles	8	98.3	786	100.0	0	0.0	2.5	3.5		
Terrell, GA	244	Pediatric_Neurology	1 in 45 miles	1	244.0	244	100.0	0	0.0	3.8	17.4		
Thomas, GA		Pediatric_Neurology	1 in 45 miles	19		932		0	0.0	4.0			
Tift, GA		Pediatric_Neurology	1 in 45 miles	29			100.0	0	0.0	1.6			
Turner, GA		Pediatric_Neurology	1 in 45 miles	1	289.0	289		0	0.0	3.5	19.0		
Webster, GA		Pediatric_Neurology	1 in 45 miles	2		34	100.0	0	0.0	3.3	3.3		
Worth, GA		Pediatric_Neurology	1 in 45 miles	7	64.1		100.0	0	0.0	4.5	4.8		
Grand Totals	14,763	Pediatric_Neurology	1 in 45 miles	187	78.9	14,763	100.0	0	0.0	4.5	6.2		
© 2022 Quest Analytics LLC													

Pediatric Ophthalmology - Urban

October 26, 2022

Access Analysis
Pediatric Ophthalmology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Ophthalmology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA	2,726	Pediatric_Ophthalmol	1 in 30 miles	4	681.5	2,726	100.0	0			4.7		
Lowndes, GA	3,388	Pediatric_Ophthalmol	1 in 30 miles	5	677.6	3,388	100.0	0	0.0	4.8	6.1		
Grand Totals	6,114	Pediatric_Ophthalmol	1 in 30 miles	9	679.3	6,114	100.0	0	0.0	4.3	5.5		
© 2022 Quest Analytics LLC													

Pediatric Ophthalmology - Rural

October 26, 2022

Access Analysis
Pediatric Ophthalmology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Ophthalmology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	312	Pediatric_Ophthalmol	1 in 45 miles	0		312	100.0	0	0.0	16.1	16.1		
Baker, GA	46	Pediatric_Ophthalmol	1 in 45 miles	0		46	100.0	0	0.0	25.9	25.9		
Ben Hill, GA	622	Pediatric_Ophthalmol	1 in 45 miles	0		622	100.0	0	0.0	29.0	30.1		
Berrien, GA	669	Pediatric_Ophthalmol	1 in 45 miles	0		669	100.0	0	0.0	20.0	20.2		
Brooks, GA	413	Pediatric_Ophthalmol	1 in 45 miles	0		413	100.0	0	0.0	20.8	21.7		
Calhoun, GA	116	Pediatric_Ophthalmol	1 in 45 miles	0		116	100.0	0	0.0	32.7	32.7		
Clay, GA	68	Pediatric_Ophthalmol	1 in 45 miles	0		52	76.5	16	23.5	42.9	50.0		
Clinch, GA	242	Pediatric_Ophthalmol	1 in 45 miles	0		242	100.0	0	0.0	31.1	31.9		
Coffee, GA	1,509	Pediatric_Ophthalmol	1 in 45 miles	3	503.0	1,509	100.0	0	0.0	6.4	6.6		
Colquitt, GA	1,499	Pediatric_Ophthalmol	1 in 45 miles	0		1,499	100.0	0	0.0	31.3	31.7		
Cook, GA	584	Pediatric_Ophthalmol	1 in 45 miles	0		584	100.0	0	0.0	19.7	21.1		
Decatur, GA	907	Pediatric_Ophthalmol	1 in 45 miles	0		902	99.4	5	0.6	39.7	39.7		
Early, GA	271	Pediatric_Ophthalmol	1 in 45 miles	0		271	100.0	0	0.0	32.7	46.9		
Echols, GA	294	Pediatric_Ophthalmol	1 in 45 miles	0		294	100.0	0	0.0	18.1	20.5		
Grady, GA	755	Pediatric_Ophthalmol	1 in 45 miles	0		755	100.0	0	0.0	29.5	29.5		
Irwin, GA	230	Pediatric_Ophthalmol	1 in 45 miles	0		230	100.0	0	0.0	19.8	20.8		
Lanier, GA	220	Pediatric_Ophthalmol	1 in 45 miles	0		220	100.0	0	0.0	23.7	23.9		
Lee, GA	616	Pediatric_Ophthalmol	1 in 45 miles	1	616.0	616	100.0	0	0.0	5.1	7.4		
Miller, GA	138	Pediatric_Ophthalmol	1 in 45 miles	0		122	88.4	16	11.6	40.3	47.6		
Mitchell, GA	549	Pediatric_Ophthalmol	1 in 45 miles	0		549	100.0	0	0.0	29.6	30.6		
Quitman, GA	87	Pediatric_Ophthalmol	1 in 45 miles	0		68	78.2	19	21.8	43.7	44.5		
Randolph, GA	189	Pediatric_Ophthalmol	1 in 45 miles	0		189	100.0	0	0.0	36.0	37.5		
Schley, GA	110	Pediatric_Ophthalmol	1 in 45 miles	0		110	100.0	0	0.0	15.2	15.6		
Seminole, GA	257	Pediatric_Ophthalmol	1 in 45 miles	0		257	100.0	0	0.0	32.1	32.9		
Stewart, GA	94	Pediatric_Ophthalmol	1 in 45 miles	0		94	100.0	0	0.0	29.7	29.8		
Sumter, GA	786	Pediatric_Ophthalmol	1 in 45 miles	4	196.5	786		0	0.0	3.9	4.2		
Terrell, GA	244	Pediatric_Ophthalmol	1 in 45 miles	0		244	100.0	0	0.0	18.3	22.8		
Thomas, GA	932	Pediatric_Ophthalmol	1 in 45 miles	0		932	100.0	0	0.0	35.6			
Tift, GA		Pediatric_Ophthalmol	1 in 45 miles	6	205.3	1,232		0	0.0	3.5			
Turner, GA		Pediatric_Ophthalmol	1 in 45 miles	0		289	100.0	0	0.0	22.7	22.8		
Webster, GA		Pediatric_Ophthalmol	1 in 45 miles	0		34	100.0	0	0.0	19.8			
Worth, GA		Pediatric_Ophthalmol	1 in 45 miles	0		449	100.0	0	0.0	17.5			
Grand Totals	14,763	Pediatric_Ophthalmol	1 in 45 miles	14	1,054.5	14,707	99.6	56	0.4	21.6	22.6		
© 2022 Quaet Analytics II C													

Pediatric Optometry - Urban

October 26, 2022

Access Analysis
Pediatric Optometry- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Optometry

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Р	rovider	Counts	Ratio Members	With Ac			cess	Average				
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Dougherty, GA		Pediatric_Optometry	1 in 30 miles	9			100.0		0.0	3.4	5.2			
Lowndes, GA	3,388	Pediatric_Optometry	1 in 30 miles	6	564.7	3,388	100.0	0	0.0	5.1	5.3			
Grand Totals	0 111	Dadiatria Ontarratur	4 in 20 miles	45	407.6	C 444	100.0	0	0.0	4.3	F 2			
Grand Totals	6,114	Pediatric_Optometry	1 in 30 miles	15	407.6	6,114	100.0	0	0.0	4.3	5.3			
											<u> </u>			

Pediatric Optometry - Rural

October 26, 2022

Access Analysis
Pediatric Optometry- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Optometry	1 in 45 miles	0		312	100.0	0	0.0	15.9	16.4
Baker, GA	46	Pediatric_Optometry	1 in 45 miles	0		46	100.0	0	0.0	15.6	25.8
Ben Hill, GA	622	Pediatric_Optometry	1 in 45 miles	0		622	100.0	0	0.0	32.6	34.2
Berrien, GA	669	Pediatric_Optometry	1 in 45 miles	0			100.0	0	0.0	17.2	24.3
Brooks, GA	413	Pediatric_Optometry	1 in 45 miles	1	413.0	413	100.0	0	0.0	7.8	19.1
Calhoun, GA	116	Pediatric_Optometry	1 in 45 miles	0		116	100.0	0	0.0	32.3	32.6
Clay, GA	68	Pediatric_Optometry	1 in 45 miles	0		68	100.0	0	0.0	21.8	21.8
Clinch, GA	242	Pediatric_Optometry	1 in 45 miles	0		242	100.0	0	0.0	31.7	31.8
Coffee, GA	1,509	Pediatric_Optometry	1 in 45 miles	2	754.5	1,509	100.0	0	0.0	6.2	6.9
Colquitt, GA	1,499	Pediatric_Optometry	1 in 45 miles	0		1,499	100.0	0	0.0	21.3	26.8
Cook, GA	584	Pediatric_Optometry	1 in 45 miles	1	584.0	584	100.0	0	0.0	4.5	25.7
Decatur, GA	907	Pediatric_Optometry	1 in 45 miles	2	453.5	907	100.0	0	0.0	5.5	5.7
Early, GA	271	Pediatric_Optometry	1 in 45 miles	0		269	99.3	2	0.7	40.4	40.4
Echols, GA	294	Pediatric_Optometry	1 in 45 miles	0		294	100.0	0	0.0	17.9	17.9
Grady, GA	755	Pediatric_Optometry	1 in 45 miles	0		755	100.0	0	0.0	15.9	16.3
Irwin, GA	230	Pediatric_Optometry	1 in 45 miles	0		230	100.0	0	0.0	26.0	27.0
Lanier, GA	220	Pediatric_Optometry	1 in 45 miles	0		220	100.0	0	0.0	23.3	24.4
Lee, GA	616	Pediatric_Optometry	1 in 45 miles	4	154.0	616	100.0	0	0.0	4.9	5.7
Miller, GA	138	Pediatric_Optometry	1 in 45 miles	0		138	100.0	0	0.0	24.0	24.1
Mitchell, GA	549	Pediatric_Optometry	1 in 45 miles	1	549.0	549	100.0	0	0.0	9.0	24.5
Quitman, GA	87	Pediatric_Optometry	1 in 45 miles	0		87	100.0	0	0.0	6.3	6.3
Randolph, GA	189	Pediatric_Optometry	1 in 45 miles	0		189	100.0	0	0.0	26.7	26.7
Schley, GA	110	Pediatric_Optometry	1 in 45 miles	0		110	100.0	0	0.0	15.2	15.6
Seminole, GA	257	Pediatric_Optometry	1 in 45 miles	0		257	100.0	0	0.0	25.2	25.4
Stewart, GA	94	Pediatric_Optometry	1 in 45 miles	0		94	100.0	0	0.0	26.5	27.1
Sumter, GA	786	Pediatric_Optometry	1 in 45 miles	7	112.3	786	100.0	0	0.0	3.7	4.2
Terrell, GA	244	Pediatric_Optometry	1 in 45 miles	0		244	100.0	0	0.0	18.3	18.3
Thomas, GA	932	Pediatric_Optometry	1 in 45 miles	6	155.3	932	100.0	0	0.0	5.7	5.8
Tift, GA	1,232	Pediatric_Optometry	1 in 45 miles	0		1,232	100.0	0	0.0	23.9	38.6
Turner, GA	289	Pediatric_Optometry	1 in 45 miles	0		289	100.0	0	0.0	30.5	32.0
Webster, GA	34	Pediatric_Optometry	1 in 45 miles	0		34	100.0	0	0.0	19.8	20.3
Worth, GA		Pediatric_Optometry	1 in 45 miles	0		449	100.0	0	0.0	22.3	24.5
Grand Totals	14,763	Pediatric_Optometry	1 in 45 miles	24	615.1	14,761	99.9	2	0.1	15.6	19.9

Pediatric Orthopedics - Urban

October 26, 2022

Access Analysis
Pediatric Othopedics- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Orthopedics

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Dougherty, GA		Pediatric_Orthopedics	1 in 30 miles	52			100.0		0.0	1.8				
Lowndes, GA	3,388	Pediatric_Orthopedics	1 in 30 miles	52	65.2	3,388	100.0	0	0.0	3.3	3.5			
Grand Totals	6 114	Pediatric_Orthopedics	1 in 30 miles	104	58.8	6 114	100.0	0	0.0	2.6	2.9			
Ordina rotalis	0,114	r calatile_Ortilopedies	1 III 00 IIIIIC3	104	50.0	0,114	100.0	J	0.0	2.0	2.5			
© 2022 Quest Analytics LLC											<u> </u>			

Pediatric Orthopedics - Rural

October 26, 2022

Access Analysis
Pediatric Orthopedics- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Orthopedics

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	312	Pediatric_Orthopedics	1 in 45 miles	7	44.6	312	100.0	0	0.0	4.0	4.4		
Baker, GA	46	Pediatric_Orthopedics	1 in 45 miles	4	11.5	46	100.0	0	0.0	3.4	3.4		
Ben Hill, GA	622	Pediatric_Orthopedics	1 in 45 miles	6	103.7	622	100.0	0	0.0	1.9	2.4		
Berrien, GA	669	Pediatric_Orthopedics	1 in 45 miles	9	74.3	669	100.0	0	0.0	5.3	6.0		
Brooks, GA	413	Pediatric_Orthopedics	1 in 45 miles	9	45.9	413	100.0	0	0.0	4.8	6.3		
Calhoun, GA	116	Pediatric_Orthopedics	1 in 45 miles	3	38.7	116	100.0	0	0.0	7.1	7.3		
Clay, GA	68	Pediatric_Orthopedics	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.9	18.8		
Clinch, GA	242	Pediatric_Orthopedics	1 in 45 miles	8	30.3	242	100.0	0	0.0	3.8	4.1		
Coffee, GA	1,509	Pediatric_Orthopedics	1 in 45 miles	29	52.0	1,509	100.0	0	0.0	2.8	4.5		
Colquitt, GA	1,499	Pediatric_Orthopedics	1 in 45 miles	28	53.5	1,499	100.0	0	0.0	2.4	3.9		
Cook, GA	584	Pediatric_Orthopedics	1 in 45 miles	26	22.5	584	100.0	0	0.0	3.2	3.6		
Decatur, GA	907	Pediatric_Orthopedics	1 in 45 miles	12	75.6	907	100.0	0	0.0	3.8	4.5		
Early, GA	271	Pediatric_Orthopedics	1 in 45 miles	0		271	100.0	0	0.0	19.0	20.2		
Echols, GA	294	Pediatric_Orthopedics	1 in 45 miles	0		294	100.0	0	0.0	15.7	15.7		
Grady, GA	755	Pediatric_Orthopedics	1 in 45 miles	10	75.5	755	100.0	0	0.0	2.6	3.4		
Irwin, GA	230	Pediatric_Orthopedics	1 in 45 miles	7	32.9	230	100.0	0	0.0	3.0	3.5		
Lanier, GA	220	Pediatric_Orthopedics	1 in 45 miles	5	44.0	220	100.0	0	0.0	3.0	3.3		
Lee, GA	616	Pediatric_Orthopedics	1 in 45 miles	15	41.1	616	100.0	0	0.0	4.2	4.4		
Miller, GA	138	Pediatric_Orthopedics	1 in 45 miles	2	69.0	138	100.0	0	0.0	4.3	6.2		
Mitchell, GA	549	Pediatric_Orthopedics	1 in 45 miles	9	61.0	549	100.0	0	0.0	4.5	7.2		
Quitman, GA	87	Pediatric_Orthopedics	1 in 45 miles	0		87	100.0	0	0.0	18.0	21.0		
Randolph, GA	189	Pediatric_Orthopedics	1 in 45 miles	2	94.5	189	100.0	0	0.0	3.2	3.2		
Schley, GA	110	Pediatric_Orthopedics	1 in 45 miles	2	55.0	110	100.0	0	0.0	3.0	3.3		
Seminole, GA	257	Pediatric_Orthopedics	1 in 45 miles	3	85.7	257	100.0	0	0.0	5.9	5.9		
Stewart, GA	94	Pediatric_Orthopedics	1 in 45 miles	1	94.0	94	100.0	0	0.0	6.6	13.3		
Sumter, GA	786	Pediatric_Orthopedics	1 in 45 miles	10	78.6	786	100.0	0	0.0	2.6	3.4		
Terrell, GA	244	Pediatric_Orthopedics	1 in 45 miles	4	61.0	244	100.0	0	0.0	3.5	3.5		
Thomas, GA	932	Pediatric_Orthopedics	1 in 45 miles	15	62.1	932	100.0	0	0.0	3.9	4.2		
Tift, GA	1,232	Pediatric_Orthopedics	1 in 45 miles	48	25.7	1,232	100.0	0	0.0	1.6	2.3		
Turner, GA	289	Pediatric_Orthopedics	1 in 45 miles	1	289.0	289	100.0	0	0.0	3.3	18.9		
Webster, GA	34	Pediatric_Orthopedics	1 in 45 miles	2	17.0	34	100.0	0	0.0	3.3	3.3		
Worth, GA	449	Pediatric_Orthopedics	1 in 45 miles	9	49.9	449	100.0	0	0.0	4.4	4.8		
Grand Totals	14,763	Pediatric_Orthopedics	1 in 45 miles	287	51.4	14,763	100.0	0	0.0	3.9	5.2		
© 2022 Quest Analytics, LLC.													

Pediatric Rheumatology - Urban

October 26, 2022

Access Analysis
Pediatric Rheumatology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Rheumatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro		Counts	Ratio Members	With Ac			cess	Average				
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Dougherty, GA			1 in 30 miles	6	454.3	2,726			0.0	3.8	4.2			
Lowndes, GA	3,388	Pediatric_Rheumatology	1 in 30 miles	0		3,099	91.5	289	8.5	23.4	40.3			
Grand Totals	C 111	Dadiatria Dhamatalaru	1 in 20 miles		1 010 0	E 00E	05.3	289	4.7	14.7	24.0			
Grand Totals	6,114	Pediatric_Rheumatology	1 in 30 miles	6	1,019.0	5,825	95.3	289	4.7	14.7	24.2			

Pediatric Rheumatology - Rural

October 26, 2022

Access Analysis
Pediatric Rheumatology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Rheumatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA		Pediatric_Rheumatology	1 in 45 miles	0		312		0	0.0	16.5	31.3		
Baker, GA	46	Pediatric_Rheumatology	1 in 45 miles	0		46	100.0	0	0.0	25.9	28.1		
Ben Hill, GA	622	Pediatric_Rheumatology	1 in 45 miles	0		622	100.0	0	0.0	28.8	30.4		
Berrien, GA	669	Pediatric_Rheumatology	1 in 45 miles	0		669	100.0	0	0.0	16.2	28.1		
Brooks, GA	413	Pediatric_Rheumatology	1 in 45 miles	0		413	100.0	0	0.0	20.9	23.1		
Calhoun, GA	116	Pediatric_Rheumatology	1 in 45 miles	0		116	100.0	0	0.0	32.7	34.9		
Clay, GA	68	Pediatric_Rheumatology	1 in 45 miles	0		1	1.5	67	98.5	49.9	52.2		
Clinch, GA	242	Pediatric_Rheumatology	1 in 45 miles	0		238	98.3	4	1.7	33.0	36.6		
Coffee, GA	1,509	Pediatric_Rheumatology	1 in 45 miles	1	1,509.0	1,509	100.0	0	0.0	6.7	36.3		
Colquitt, GA	1,499	Pediatric_Rheumatology	1 in 45 miles	3	499.7	1,499	100.0	0	0.0	7.3	7.5		
Cook, GA	584	Pediatric_Rheumatology	1 in 45 miles	1	584.0	584	100.0	0	0.0	5.4	20.9		
Decatur, GA	907	Pediatric_Rheumatology	1 in 45 miles	0		851	93.8	56	6.2	37.3	37.3		
Early, GA	271	Pediatric_Rheumatology	1 in 45 miles	0		13	4.8	258	95.2	50.9	52.7		
Echols, GA	294	Pediatric_Rheumatology	1 in 45 miles	0		247	84.0	47	16.0	39.2	51.2		
Grady, GA	755	Pediatric_Rheumatology	1 in 45 miles	0		755	100.0	0	0.0	17.3	17.3		
Irwin, GA	230	Pediatric_Rheumatology	1 in 45 miles	0		230	100.0	0	0.0	19.6	21.5		
Lanier, GA	220	Pediatric_Rheumatology	1 in 45 miles	0		220	100.0	0	0.0	23.4	38.2		
Lee, GA	616	Pediatric_Rheumatology	1 in 45 miles	0		616	100.0	0	0.0	8.0	8.5		
Miller, GA	138	Pediatric_Rheumatology	1 in 45 miles	0		17	12.3	121	87.7	51.5	52.3		
Mitchell, GA	549	Pediatric_Rheumatology	1 in 45 miles	0		549	100.0	0	0.0	23.6	23.7		
Quitman, GA	87	Pediatric_Rheumatology	1 in 45 miles	0		78	89.7	9	10.3	42.8	44.4		
Randolph, GA	189	Pediatric_Rheumatology	1 in 45 miles	0		189	100.0	0	0.0	37.5	40.0		
Schley, GA	110	Pediatric_Rheumatology	1 in 45 miles	0		95	86.4	15	13.6	43.4	44.4		
Seminole, GA	257	Pediatric_Rheumatology	1 in 45 miles	0		0	0.0	257	100.0	57.6	57.7		
Stewart, GA	94	Pediatric_Rheumatology	1 in 45 miles	0		94	100.0	0	0.0	35.7	37.8		
Sumter, GA	786	Pediatric_Rheumatology	1 in 45 miles	0		786	100.0	0	0.0	32.8	33.8		
Terrell, GA	244	Pediatric_Rheumatology	1 in 45 miles	0		244	100.0	0	0.0	23.3	25.9		
Thomas, GA	932	Pediatric_Rheumatology	1 in 45 miles	4	233.0	932	100.0	0	0.0	5.6	5.6		
Tift, GA	1,232	Pediatric_Rheumatology	1 in 45 miles	3	410.7	1,232	100.0	0	0.0	3.6	4.2		
Turner, GA	289	Pediatric_Rheumatology	1 in 45 miles	0		289	100.0	0	0.0	21.6	22.9		
Webster, GA	34	Pediatric_Rheumatology	1 in 45 miles	0		34	100.0	0	0.0	42.7	44.9		
Worth, GA		Pediatric_Rheumatology	1 in 45 miles	0		449	100.0	0	0.0	17.3	17.9		
Grand Totals	14,763	Pediatric_Rheumatology	1 in 45 miles	12	1,230.3	13,929	94.4	834	5.6	19.0	24.5		
© 2022 Quest Analytics II C							L						

Pediatric Vascular Surgery - Urban

October 26, 2022

Access Analysis
Pediatric Vascular Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Vascular Surgery

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro		Counts	Ratio Members	With Ac			cess	Average				
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Dougherty, GA			1 in 30 miles	14	194.7		100.0		0.0	3.8	3.8			
Lowndes, GA	3,388	Pediatric_Vascular Su	1 in 30 miles	9	376.4	3,388	100.0	0	0.0	4.7	4.8			
Grand Totals	6,114	Pediatric_Vascular Su	1 in 30 miles	23	265.8	6,114	100.0	0	0.0	4.3	4.4			

Pediatric Vascular Surgery -Rural

October 26, 2022

Access Analysis
Pediatric Vascular Surgery- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Vascular Surgery

	Members With and Without Access Member Provider Counts Retic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	312	Pediatric_Vascular Su	1 in 45 miles	0		312	100.0	0	0.0	16.5	16.5		
Baker, GA	46	Pediatric_Vascular Su	1 in 45 miles	0		46	100.0	0	0.0	15.5	24.2		
Ben Hill, GA	622	Pediatric_Vascular Su	1 in 45 miles	0		622	100.0	0	0.0	28.8	28.8		
Berrien, GA	669	Pediatric_Vascular Su	1 in 45 miles	0		669	100.0	0	0.0	15.9	15.9		
Brooks, GA	413	Pediatric_Vascular Su	1 in 45 miles	2	206.5	413	100.0	0	0.0	6.3	8.4		
Calhoun, GA	116	Pediatric_Vascular Su	1 in 45 miles	0		116	100.0	0	0.0	32.5	33.0		
Clay, GA	68	Pediatric_Vascular Su	1 in 45 miles	0		1	1.5	67	98.5	50.7	50.7		
Clinch, GA	242	Pediatric_Vascular Su	1 in 45 miles	0		242	100.0	0	0.0	31.5	32.2		
Coffee, GA	1,509	Pediatric_Vascular Su	1 in 45 miles	2	754.5	1,509	100.0	0	0.0	6.7	6.7		
Colquitt, GA	1,499	Pediatric_Vascular Su	1 in 45 miles	1	1,499.0	1,499	100.0	0	0.0	7.3	20.9		
Cook, GA	584	Pediatric_Vascular Su	1 in 45 miles	2	292.0	584	100.0	0	0.0	5.4	5.4		
Decatur, GA	907	Pediatric_Vascular Su	1 in 45 miles	0		907	100.0	0	0.0	23.7	23.8		
Early, GA	271	Pediatric_Vascular Su	1 in 45 miles	0		51	18.8	220	81.2	45.4	49.1		
Echols, GA	294	Pediatric_Vascular Su	1 in 45 miles	0		294	100.0	0	0.0	18.2	18.2		
Grady, GA	755	Pediatric_Vascular Su	1 in 45 miles	4	188.8	755	100.0	0	0.0	4.6	4.6		
Irwin, GA	230	Pediatric_Vascular Su	1 in 45 miles	0		230	100.0	0	0.0	19.6	19.6		
Lanier, GA	220	Pediatric_Vascular Su	1 in 45 miles	0		220	100.0	0	0.0	22.4	22.4		
Lee, GA	616	Pediatric_Vascular Su	1 in 45 miles	0		616	100.0	0	0.0	7.7	7.8		
Miller, GA	138	Pediatric_Vascular Su	1 in 45 miles	0		138	100.0	0	0.0	31.5	34.3		
Mitchell, GA	549	Pediatric_Vascular Su	1 in 45 miles	2	274.5	549	100.0	0	0.0	5.4	12.0		
Quitman, GA	87	Pediatric_Vascular Su	1 in 45 miles	0		68	78.2	19	21.8	44.4	44.5		
Randolph, GA	189	Pediatric_Vascular Su	1 in 45 miles	0		189	100.0	0	0.0	38.4	38.4		
Schley, GA	110	Pediatric_Vascular Su	1 in 45 miles	0		110	100.0	0	0.0	41.4	41.6		
Seminole, GA	257	Pediatric_Vascular Su	1 in 45 miles	0		160	62.3	97	37.7	43.9	44.1		
Stewart, GA	94	Pediatric_Vascular Su	1 in 45 miles	0		92	97.9	2	2.1	37.6	37.6		
Sumter, GA	786	Pediatric_Vascular Su	1 in 45 miles	0		786	100.0	0	0.0	29.4	29.7		
Terrell, GA	244	Pediatric_Vascular Su	1 in 45 miles	0		244	100.0	0	0.0	24.3	24.3		
Thomas, GA	932	Pediatric_Vascular Su	1 in 45 miles	6	155.3	932	100.0	0	0.0	5.1	5.5		
Tift, GA		Pediatric_Vascular Su	1 in 45 miles	4	308.0	1,232	100.0	0	0.0	4.4	4.4		
Turner, GA		Pediatric_Vascular Su	1 in 45 miles	0		289	100.0	0	0.0	22.4	22.5		
Webster, GA		Pediatric_Vascular Su	1 in 45 miles	0		30	88.2	4	11.8	43.8	43.8		
Worth, GA		Pediatric_Vascular Su	1 in 45 miles	0		449	100.0	0	0.0	17.9	17.9		
		_											
Grand Totals	14,763	Pediatric_Vascular Su	1 in 45 miles	23	641.9	14,354	97.2	409	2.8	15.3	17.2		
© 2022 Quest Analytics II C													

Pediatric Urology - Urban

October 26, 2022

Access Analysis
Pediatric Urology- Urban
Member / Provider Groups
Pediatric Urban Members
(SW_URBAN)
Pediatric_Urology

			Members With	and With	out Access_						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Pediatric_Urology	1 in 30 miles	6	454.3		100.0				3.9
Lowndes, GA	3,388	Pediatric_Urology	1 in 30 miles	1	3,388.0	3,388	100.0	0	0.0	5.3	19.9
Grand Totals	6,114	Pediatric_Urology	1 in 30 miles	7	873.4	6,114	100.0	0	0.0	4.6	12.8

Pediatric Urology -Rural

October 26, 2022

Access Analysis
Pediatric Urology- Rural
Member / Provider Groups
Pediatric Rural Members
(SW_RURAL)
Pediatric_Urology

			Members With a	nd With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	312	Pediatric_Urology	1 in 45 miles	0		312	100.0	0	0.0	16.3	16.7
Baker, GA	46	Pediatric_Urology	1 in 45 miles	0		46	100.0	0	0.0	25.4	25.7
Ben Hill, GA	622	Pediatric_Urology	1 in 45 miles	0		622	100.0	0	0.0	28.7	28.7
Berrien, GA	669	Pediatric_Urology	1 in 45 miles	0		669	100.0	0	0.0	15.9	20.2
Brooks, GA	413	Pediatric_Urology	1 in 45 miles	3	137.7	413	100.0	0	0.0	6.7	7.1
Calhoun, GA	116	Pediatric_Urology	1 in 45 miles	0		116	100.0	0	0.0	32.3	32.5
Clay, GA	68	Pediatric_Urology	1 in 45 miles	0		1	1.5	67	98.5	49.8	49.8
Clinch, GA	242	Pediatric_Urology	1 in 45 miles	0		242	100.0	0	0.0	31.8	35.9
Coffee, GA	1,509	Pediatric_Urology	1 in 45 miles	3	503.0	1,509	100.0	0	0.0	6.0	6.9
Colquitt, GA	1,499	Pediatric_Urology	1 in 45 miles	2	749.5	1,499	100.0	0	0.0	7.4	7.4
Cook, GA	584	Pediatric_Urology	1 in 45 miles	2	292.0	584	100.0	0	0.0	5.4	20.2
Decatur, GA	907	Pediatric_Urology	1 in 45 miles	1	907.0	907	100.0	0	0.0	5.6	23.8
Early, GA	271	Pediatric_Urology	1 in 45 miles	0		73	26.9	198	73.1	45.3	50.0
Echols, GA	294	Pediatric_Urology	1 in 45 miles	0		294	100.0	0	0.0	19.2	28.3
Grady, GA	755	Pediatric_Urology	1 in 45 miles	2	377.5	755	100.0	0	0.0	4.6	4.6
Irwin, GA	230	Pediatric_Urology	1 in 45 miles	0		230	100.0	0	0.0	19.5	19.5
Lanier, GA	220	Pediatric_Urology	1 in 45 miles	0		220	100.0	0	0.0	22.4	24.5
Lee, GA	616	Pediatric_Urology	1 in 45 miles	0		616	100.0	0	0.0	7.6	7.7
Miller, GA	138	Pediatric_Urology	1 in 45 miles	0		138	100.0	0	0.0	24.0	43.0
Mitchell, GA	549	Pediatric_Urology	1 in 45 miles	0		549	100.0	0	0.0	20.6	20.9
Quitman, GA	87	Pediatric_Urology	1 in 45 miles	0		68	78.2	19	21.8	44.1	44.6
Randolph, GA		Pediatric_Urology	1 in 45 miles	0		189	100.0	0	0.0	37.3	37.3
Schley, GA	110	Pediatric_Urology	1 in 45 miles	0		110	100.0	0	0.0	13.8	14.7
Seminole, GA	257	Pediatric_Urology	1 in 45 miles	0		257	100.0	0	0.0	25.3	44.4
Stewart, GA	94	Pediatric_Urology	1 in 45 miles	0		94	100.0	0	0.0	28.4	28.5
Sumter, GA	786	Pediatric_Urology	1 in 45 miles	2	393.0	786	100.0	0	0.0	4.4	4.7
Terrell, GA	244	Pediatric_Urology	1 in 45 miles	0		244	100.0	0	0.0	22.4	22.4
Thomas, GA	932	Pediatric_Urology	1 in 45 miles	7	133.1	932	100.0	0	0.0	5.3	5.3
Tift, GA		Pediatric_Urology	1 in 45 miles	10	123.2	1,232	100.0	0	0.0	4.3	4.3
Turner, GA	289	Pediatric_Urology	1 in 45 miles	0		289	100.0	0	0.0	22.4	23.3
Webster, GA	34	Pediatric_Urology	1 in 45 miles	0		34	100.0	0	0.0	18.4	18.4
Worth, GA	449	Pediatric_Urology	1 in 45 miles	0		449	100.0	0	0.0	17.7	18.2
						_					

Pharmacy - Urban

October 26, 2022

Access Analysis
Pharmacy- Urban

Member / Provider Groups
Urban Members (SW_URBAN)
PHARMACY

		Members With and Without Access Member Provider Counts With Access Without Access Average Distance													
County # Group Standard # to Providers # % # % 1 2 Dougherty, GA 3,952 PHARMACY 1 in 15 miles 19 208.0 3,952 100.0 0 0.0 1.7 2.3 Lowndes, GA 4,611 PHARMACY 1 in 15 miles 22 209.6 4,611 100.0 0 0.0 2.1 3.0		Member			Counts	Ratio Members	With Ac			cess	Average	Distance			
Lowndes, GA 4,611 PHARMACY 1 in 15 miles 22 209.6 4,611 100.0 0 0.0 2.1 3.0	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
	Dougherty, GA			1 in 15 miles	19	208.0	3,952	100.0	0	0.0	1.7	2.3			
Grand Totals 8.563 PHARMACY 1 in 15 miles 41 208.9 8.563 100.0 0 0.0 1.9 2.7	Lowndes, GA	4,611	PHARMACY	1 in 15 miles	22	209.6	4,611	100.0	0	0.0	2.1	3.0			
Grand Totals 8,563 PHARMACY 1 in 15 miles 41 208.9 8,563 100.0 0 0.0 1.9 2.7									_						
	Grand Totals	8,563	PHARMACY	1 in 15 miles	41	208.9	8,563	100.0	0	0.0	1.9	2.7			

Pharmacy -Rural

October 26, 2022

Access Analysis
Pharmacy- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
PHARMACY

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	PHARMACY	1 in 30 miles	3	137.3	412	100.0	0	0.0	4.4	7.3
Baker, GA	68	PHARMACY	1 in 30 miles	0		68	100.0	0	0.0	13.6	15.1
Ben Hill, GA	829	PHARMACY	1 in 30 miles	4	207.3	829	100.0	0	0.0	2.6	2.9
Berrien, GA	916	PHARMACY	1 in 30 miles	2	458.0	916	100.0	0	0.0	5.9	6.7
Brooks, GA	562	PHARMACY	1 in 30 miles	3	187.3	562	100.0	0	0.0	5.9	6.7
Calhoun, GA	175	PHARMACY	1 in 30 miles	1	175.0	175	100.0	0	0.0	3.9	11.2
Clay, GA	100	PHARMACY	1 in 30 miles	1	100.0	100	100.0	0	0.0	3.8	18.0
Clinch, GA	326	PHARMACY	1 in 30 miles	1	326.0	320	98.2	6	1.8	4.6	20.3
Coffee, GA	2,024	PHARMACY	1 in 30 miles	14	144.6	2,024	100.0	0	0.0	3.9	5.5
Colquitt, GA	2,049	PHARMACY	1 in 30 miles	13	157.6	2,049	100.0	0	0.0	3.4	4.5
Cook, GA	796	PHARMACY	1 in 30 miles	3	265.3	796	100.0	0	0.0	3.9	4.4
Decatur, GA	1,249	PHARMACY	1 in 30 miles	5	249.8	1,249	100.0	0	0.0	4.6	5.2
Early, GA	380	PHARMACY	1 in 30 miles	4	95.0	380	100.0	0	0.0	4.1	4.6
Echols, GA	382	PHARMACY	1 in 30 miles	0		382	100.0	0	0.0	4.8	5.4
Grady, GA	975	PHARMACY	1 in 30 miles	4	243.8	975	100.0	0	0.0	3.9	4.4
Irwin, GA	306	PHARMACY	1 in 30 miles	2	153.0	306	100.0	0	0.0	3.8	4.2
Lanier, GA	298	PHARMACY	1 in 30 miles	2	149.0	298	100.0	0	0.0	3.2	3.8
Lee, GA	851	PHARMACY	1 in 30 miles	7	121.6	851	100.0	0	0.0	4.4	5.0
Miller, GA		PHARMACY	1 in 30 miles	3	65.3		100.0	0	0.0	5.2	5.3
Mitchell, GA	771	PHARMACY	1 in 30 miles	6	128.5	771	100.0	0	0.0	4.2	5.1
Quitman, GA	117	PHARMACY	1 in 30 miles	0		117	100.0	0	0.0	5.1	5.5
Randolph, GA	262	PHARMACY	1 in 30 miles	3	87.3	262	100.0	0	0.0	1.5	3.2
Schley, GA	158	PHARMACY	1 in 30 miles	1	158.0	158	100.0	0	0.0	3.4	13.5
Seminole, GA	358	PHARMACY	1 in 30 miles	3	119.3	358	100.0	0	0.0	4.3	5.8
Stewart, GA	141	PHARMACY	1 in 30 miles	1	141.0	141	100.0	0	0.0	7.0	12.7
Sumter, GA		PHARMACY	1 in 30 miles	6	186.2		100.0	0	0.0	2.6	3.7
Terrell, GA		PHARMACY	1 in 30 miles	2	169.5	339		0	0.0	3.4	3.7
Thomas, GA	1,294	PHARMACY	1 in 30 miles	13	99.5	1,294		0	0.0	4.0	4.2
Tift, GA		PHARMACY	1 in 30 miles	11	150.2		100.0	0	0.0	2.0	3.2
Turner, GA		PHARMACY	1 in 30 miles	1	402.0		100.0	0	0.0	3.1	18.9
Webster, GA	45	PHARMACY	1 in 30 miles	1	45.0	45	100.0	0	0.0	3.4	8.8
Worth, GA	643	PHARMACY	1 in 30 miles	3	214.3	643		0	0.0	4.7	5.3
,											
Grand Totals	20,193	PHARMACY	1 in 30 miles	123	164.2	20,187	99.9	6	0.1	3.9	5.5
© 2022 Quest Analytics, LLC.											

24 Hour Pharmacy - Urban

October 26, 2022

Access Analysis
24 Hour Pharmacy- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
24 Hour Pharmacy

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Dougherty, GA		24 Hour Pharmacy	1 in 15 miles	0		0			100.0	81.4	87.8			
Lowndes, GA	4,611	24 Hour Pharmacy	1 in 15 miles	1	4,611.0	4,462	96.8	149	3.2	5.1	141.7			
Grand Totals	8,563	24 Hour Pharmacy	1 in 15 miles	1	8,563.0	4,462	52.1	4,101	47.9	40.3	116.8			
© 2022 Quest Analytics, LLC.														

24 Hour Pharmacy - Rural

October 26, 2022

Access Analysis 24 Hour Pharmacy- Rural Member / Provider Groups Rural Members (SW_RURAL) 24 Hour Pharmacy

	Members With and Without Access Member Provider Counts Retic Members With Access Without Access Average Distance											
	Member	F	Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	412	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	412	100.0	48.3	116.2	
Baker, GA	68	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	68	100.0	76.6	91.6	
Ben Hill, GA	829	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	829	100.0	60.9	83.4	
Berrien, GA	916	24 Hour Pharmacy	1 in 30 miles	0		681	74.3	235	25.7	26.4	117.9	
Brooks, GA	562	24 Hour Pharmacy	1 in 30 miles	0		469	83.5	93	16.5	22.6	141.0	
Calhoun, GA	175	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	175	100.0	72.9	98.2	
Clay, GA	100	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	100	100.0	60.6	98.4	
Clinch, GA	326	24 Hour Pharmacy	1 in 30 miles	0		13	4.0	313	96.0	37.9	139.5	
Coffee, GA	2,024	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,024	100.0	59.6	106.4	
Colquitt, GA	2,049	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	2,049	100.0	45.2	117.4	
Cook, GA	796	24 Hour Pharmacy	1 in 30 miles	0		675	84.8	121	15.2	26.5	120.1	
Decatur, GA	1,249	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,249	100.0	78.0	115.8	
Early, GA	380	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	380	100.0	81.3	105.0	
Echols, GA	382	24 Hour Pharmacy	1 in 30 miles	0		382	100.0	0	0.0	17.9	154.8	
Grady, GA	975	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	975	100.0	56.7	122.5	
Irwin, GA	306	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	306	100.0	51.7	92.4	
Lanier, GA	298	24 Hour Pharmacy	1 in 30 miles	0		288	96.6	10	3.4	23.7	131.7	
Lee, GA	851	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	851	100.0	80.6	86.2	
Miller, GA	196	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	196	100.0	88.3	96.4	
Mitchell, GA	771	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	771	100.0	62.3	105.1	
Quitman, GA	117	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	117	100.0	46.1	83.0	
Randolph, GA	262	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	262	100.0	54.5	91.7	
Schley, GA	158	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	158	100.0	47.2	69.4	
Seminole, GA		24 Hour Pharmacy	1 in 30 miles	0		0	0.0	358	100.0	97.2	106.1	
Stewart, GA		24 Hour Pharmacy	1 in 30 miles	0		4	2.8	137	97.2	38.1	72.1	
Sumter, GA	1,117	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	1,117	100.0	60.4	73.2	
Terrell, GA		24 Hour Pharmacy	1 in 30 miles	0		0	0.0	339	100.0	65.7	93.6	
Thomas, GA		24 Hour Pharmacy	1 in 30 miles	0		25	1.9	1,269	98.1	41.3	130.3	
Tift, GA	1,652	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	46.2	99.6	
Turner, GA	402	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	65.6	81.2	
Webster, GA	45	24 Hour Pharmacy	1 in 30 miles	0		0	0.0		100.0	47.4	76.5	
Worth, GA	643	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	643	100.0	64.1	94.5	
		,										
Grand Totals	20,193	24 Hour Pharmacy	1 in 30 miles	0		2,537	12.6	17,656	87.4	53.6	107.7	

Occupational Therapy - Urban

October 26, 2022

Access Analysis
Occupational Therapy- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Occupational Therapy

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA		Occupational Therapy	1 in 30 miles	6	658.7		100.0				5.7	
Lowndes, GA	4,611	Occupational Therapy	1 in 30 miles	18	256.2	4,611	100.0	0	0.0	3.5	3.9	
Grand Totals	8,563	Occupational Therapy	1 in 30 miles	24	356.8	8,563	100.0	0	0.0	3.6	4.7	
© 2022 Quest Analytics, LLC.												

Occupational Therapy - Rural

October 26, 2022

Access Analysis
Occupational Therapy- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Occupational Therapy

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	412	Occupational Therapy	1 in 45 miles	0		412	100.0	0	0.0	15.4	16.4		
Baker, GA	68	Occupational Therapy	1 in 45 miles	0		68	100.0	0	0.0	15.3	15.3		
Ben Hill, GA	829	Occupational Therapy	1 in 45 miles	1	829.0	829	100.0	0	0.0	2.5	6.4		
Berrien, GA	916	Occupational Therapy	1 in 45 miles	0		916	100.0	0	0.0	18.7	19.0		
Brooks, GA	562	Occupational Therapy	1 in 45 miles	3	187.3	562	100.0	0	0.0	6.7	6.9		
Calhoun, GA	175	Occupational Therapy	1 in 45 miles	0		175	100.0	0	0.0	30.9	32.4		
Clay, GA	100	Occupational Therapy	1 in 45 miles	0		67	67.0	33	33.0	44.1	50.5		
Clinch, GA	326	Occupational Therapy	1 in 45 miles	0		326	100.0	0	0.0	31.5	31.8		
Coffee, GA	2,024	Occupational Therapy	1 in 45 miles	2	1,012.0	2,024	100.0	0	0.0	5.6	6.8		
Colquitt, GA	2,049	Occupational Therapy	1 in 45 miles	7	292.7	2,049	100.0	0	0.0	6.8	7.3		
Cook, GA	796	Occupational Therapy	1 in 45 miles	0		796	100.0	0	0.0	19.4	20.0		
Decatur, GA	1,249	Occupational Therapy	1 in 45 miles	6	208.2	1,249	100.0	0	0.0	5.1	5.1		
Early, GA	380	Occupational Therapy	1 in 45 miles	0		380	100.0	0	0.0	22.6	44.2		
Echols, GA	382	Occupational Therapy	1 in 45 miles	0		382	100.0	0	0.0	15.8	16.7		
Grady, GA	975	Occupational Therapy	1 in 45 miles	1	975.0	975	100.0	0	0.0	4.5	15.6		
Irwin, GA	306	Occupational Therapy	1 in 45 miles	2	153.0	306	100.0	0	0.0	6.8	9.9		
Lanier, GA	298	Occupational Therapy	1 in 45 miles	0		298	100.0	0	0.0	21.4	21.5		
Lee, GA		Occupational Therapy	1 in 45 miles	0		851	100.0	0	0.0	8.5	9.1		
Miller, GA		Occupational Therapy	1 in 45 miles	0				0	0.0	15.6	23.1		
Mitchell, GA		Occupational Therapy	1 in 45 miles	2	385.5	771	100.0	0	0.0	9.0	9.2		
Quitman, GA		Occupational Therapy	1 in 45 miles	0		96	82.1	21	17.9	42.8	44.3		
Randolph, GA		Occupational Therapy	1 in 45 miles	0		262	100.0	0	0.0	38.1	38.2		
Schley, GA		Occupational Therapy	1 in 45 miles	0		158	100.0	0	0.0	30.5	35.4		
Seminole, GA		Occupational Therapy	1 in 45 miles	1	358.0	358	100.0	0	0.0	6.2	24.4		
Stewart, GA	141	Occupational Therapy	1 in 45 miles	0		138	97.9	3	2.1	37.0	37.6		
Sumter, GA		Occupational Therapy	1 in 45 miles	0			100.0	0	0.0	26.4	31.1		
Terrell, GA		Occupational Therapy	1 in 45 miles	0		339	100.0	0	0.0	24.1	24.1		
Thomas, GA		Occupational Therapy	1 in 45 miles	11	117.6		100.0	0	0.0	4.3	4.7		
Tift, GA		Occupational Therapy	1 in 45 miles	6	275.3		100.0	0	0.0	3.1	3.8		
Turner, GA		Occupational Therapy	1 in 45 miles	0		402	100.0	0	0.0	18.6	20.1		
Webster, GA		Occupational Therapy	1 in 45 miles	0		45	100.0	0	0.0	43.0	43.5		
Worth, GA		Occupational Therapy	1 in 45 miles	1	643.0	643	100.0	0	0.0	5.6	17.0		
,		1											
Grand Totals	20,193	Occupational Therapy	1 in 45 miles	43	469.6	20,136	99.7	57	0.3	11.4	14.1		
© 2022 Quest Analytics, LLC.													

Physical Therapy - Urban

October 26, 2022

Access Analysis
Physical Therapy- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Physical Therapy

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members				cess	Average			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA	3,952	Physical Therapy	1 in 30 miles	8		3,952	100.0	0		3.6	5.5		
Lowndes, GA	4,611	Physical Therapy	1 in 30 miles	23	200.5	4,611	100.0	0	0.0	3.1	3.4		
								_					
Grand Totals	8,563	Physical Therapy	1 in 30 miles	31	276.2	8,563	100.0	0	0.0	3.3	4.4		
© 2022 Queet Analytics III C	<u> </u>												

Physical Therapy - Rural

October 26, 2022

Access Analysis
Physical Therapy- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Physical Therapy

			Members With a	nd With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Physical Therapy	1 in 45 miles	0		412	100.0	0	0.0	16.1	30.0
Baker, GA	68	Physical Therapy	1 in 45 miles	0		68	100.0	0	0.0	14.8	15.0
Ben Hill, GA	829	Physical Therapy	1 in 45 miles	3	276.3	829	100.0	0	0.0	3.3	5.0
Berrien, GA	916	Physical Therapy	1 in 45 miles	0		916	100.0	0	0.0	18.8	18.8
Brooks, GA	562	Physical Therapy	1 in 45 miles	2	281.0	562	100.0	0	0.0	6.8	6.8
Calhoun, GA	175	Physical Therapy	1 in 45 miles	4	43.8	175	100.0	0	0.0	3.9	3.9
Clay, GA	100	Physical Therapy	1 in 45 miles	0		100	100.0	0	0.0	22.0	22.0
Clinch, GA	326	Physical Therapy	1 in 45 miles	0		326	100.0	0	0.0	31.0	31.3
Coffee, GA	2,024	Physical Therapy	1 in 45 miles	1	2,024.0	2,024	100.0	0	0.0	6.1	21.9
Colquitt, GA	2,049	Physical Therapy	1 in 45 miles	14	146.4	2,049	100.0	0	0.0	7.0	7.1
Cook, GA	796	Physical Therapy	1 in 45 miles	0		796	100.0	0	0.0	18.8	18.8
Decatur, GA	1,249	Physical Therapy	1 in 45 miles	11	113.5	1,249	100.0	0	0.0	4.9	5.1
Early, GA	380	Physical Therapy	1 in 45 miles	0		380	100.0	0	0.0	15.4	15.8
Echols, GA	382	Physical Therapy	1 in 45 miles	0		382	100.0	0	0.0	13.2	15.8
Grady, GA	975	Physical Therapy	1 in 45 miles	4	243.8	975	100.0	0	0.0	4.2	4.5
Irwin, GA	306	Physical Therapy	1 in 45 miles	0		306	100.0	0	0.0	9.3	10.9
Lanier, GA	298	Physical Therapy	1 in 45 miles	0		298	100.0	0	0.0	21.4	21.4
Lee, GA	851	Physical Therapy	1 in 45 miles	0		851	100.0	0	0.0	7.6	8.2
Miller, GA	196	Physical Therapy	1 in 45 miles	2	98.0	196	100.0	0	0.0	4.9	5.2
Mitchell, GA	771	Physical Therapy	1 in 45 miles	2	385.5	771	100.0	0	0.0	8.9	9.1
Quitman, GA	117	Physical Therapy	1 in 45 miles	0		117	100.0	0	0.0	37.3	37.3
Randolph, GA	262	Physical Therapy	1 in 45 miles	0		262	100.0	0	0.0	16.8	16.8
Schley, GA	158	Physical Therapy	1 in 45 miles	0		158	100.0	0	0.0	15.8	15.8
Seminole, GA	358	Physical Therapy	1 in 45 miles	1	358.0	358	100.0	0	0.0	6.2	18.2
Stewart, GA	141	Physical Therapy	1 in 45 miles	0		141	100.0	0	0.0	29.3	29.3
Sumter, GA	1,117	Physical Therapy	1 in 45 miles	4	279.3	1,117	100.0	0	0.0	3.9	3.9
Terrell, GA	339	Physical Therapy	1 in 45 miles	0		339	100.0	0	0.0	22.7	22.7
Thomas, GA	1,294	Physical Therapy	1 in 45 miles	13	99.5	1,294	100.0	0	0.0	4.4	4.4
Tift, GA	1,652	Physical Therapy	1 in 45 miles	10	165.2	1,652	100.0	0	0.0	3.1	3.4
Turner, GA	402	Physical Therapy	1 in 45 miles	0		402	100.0	0	0.0	19.4	19.5
Webster, GA	45	Physical Therapy	1 in 45 miles	0		45	100.0	0	0.0	19.7	19.7
Worth, GA	643	Physical Therapy	1 in 45 miles	3	214.3	643	100.0	0	0.0	5.0	5.5
Grand Totals	20,193	Physical Therapy	1 in 45 miles	74	272.9	20,193	100.0	0	0.0	9.1	11.4

Speech Therapy - Urban

October 26, 2022

Access Analysis SpeechTherapy- Urban Member / Provider Groups Urban Members (SW_URBAN) Speech Therapy

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA		Speech Therapy	1 in 30 miles	28			100.0					
Lowndes, GA	4,611	Speech Therapy	1 in 30 miles	114	40.4	4,611	100.0	0	0.0	1.8	2.5	
Grand Totals	8,563	Speech Therapy	1 in 30 miles	142	60.3	8,563	100.0	0	0.0	1.8	2.3	
© 2022 Quest Analytics, LLC.												

Speech Therapy - Rural

October 26, 2022

Access Analysis
Speech Therapy- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Speech Therapy

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Atkinson, GA	412	Speech Therapy	1 in 45 miles	7	58.9	412	100.0	0	0.0	3.9	4.4		
Baker, GA	68	Speech Therapy	1 in 45 miles	1	68.0	68	100.0	0	0.0	12.0	12.6		
Ben Hill, GA	829	Speech Therapy	1 in 45 miles	24	34.5	829	100.0	0	0.0	1.7	2.2		
Berrien, GA	916	Speech Therapy	1 in 45 miles	12		916	100.0	0	0.0	3.0	5.5		
Brooks, GA	562	Speech Therapy	1 in 45 miles	13	43.2	562	100.0	0	0.0	4.6	5.8		
Calhoun, GA	175	Speech Therapy	1 in 45 miles	1	175.0	175	100.0	0	0.0	6.1	15.5		
Clay, GA	100	Speech Therapy	1 in 45 miles	1	100.0	100	100.0	0	0.0	3.8	18.3		
Clinch, GA	326	Speech Therapy	1 in 45 miles	2	163.0	326	100.0	0	0.0	4.2	4.9		
Coffee, GA	2,024	Speech Therapy	1 in 45 miles	42	48.2	2,024	100.0	0	0.0	2.6	3.8		
Colquitt, GA	2,049	Speech Therapy	1 in 45 miles	33	62.1	2,049	100.0	0	0.0	2.4	3.9		
Cook, GA	796	Speech Therapy	1 in 45 miles	9	88.4	796	100.0	0	0.0	3.5	4.0		
Decatur, GA	1,249	Speech Therapy	1 in 45 miles	27	46.3	1,249	100.0	0	0.0	3.8	4.6		
Early, GA	380	Speech Therapy	1 in 45 miles	0		380	100.0	0	0.0	18.0	19.8		
Echols, GA	382	Speech Therapy	1 in 45 miles	0		382	100.0	0	0.0	8.3	8.6		
Grady, GA		Speech Therapy	1 in 45 miles	9	108.3	975	100.0	0	0.0	2.7	4.0		
Irwin, GA	306	Speech Therapy	1 in 45 miles	10	30.6	306	100.0	0	0.0	2.5	3.2		
Lanier, GA	298	Speech Therapy	1 in 45 miles	5	59.6	298	100.0	0	0.0	2.9	3.3		
Lee, GA	851	Speech Therapy	1 in 45 miles	2	425.5	851	100.0	0	0.0	5.0	6.1		
Miller, GA	196	Speech Therapy	1 in 45 miles	2			100.0	0	0.0	4.4	6.5		
Mitchell, GA		Speech Therapy	1 in 45 miles	12	64.3	771	100.0	0	0.0	7.1	8.1		
Quitman, GA	117	Speech Therapy	1 in 45 miles	0		117	100.0	0	0.0	5.3	18.3		
Randolph, GA	262	Speech Therapy	1 in 45 miles	3	87.3		100.0	0	0.0	2.9	3.3		
Schley, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0	13.5	15.4		
Seminole, GA		Speech Therapy	1 in 45 miles	1	358.0	358	100.0	0	0.0	6.2	17.8		
Stewart, GA		Speech Therapy	1 in 45 miles	1	141.0	141	100.0	0	0.0	6.4	12.7		
Sumter, GA		Speech Therapy	1 in 45 miles	5	223.4		100.0	0	0.0	2.6	3.7		
Terrell, GA		Speech Therapy	1 in 45 miles	1	339.0	339	100.0	0	0.0	3.6	16.7		
Thomas, GA		Speech Therapy	1 in 45 miles	18			100.0	0	0.0	3.3	4.2		
Tift, GA		Speech Therapy	1 in 45 miles	44			100.0	0	0.0	1.4	2.0		
Turner, GA		Speech Therapy	1 in 45 miles	2			100.0	0	0.0	2.9	6.9		
Webster, GA		Speech Therapy	1 in 45 miles	2			100.0	0	0.0	3.4	3.4		
Worth, GA		Speech Therapy	1 in 45 miles	9	71.4		100.0	0	0.0	4.4	4.8		
Grand Totals	20,193	Speech Therapy	1 in 45 miles	298	67.8	20,193	100.0	0	0.0	3.8	5.5		
© 2022 Quest Analytics IIIC							L						

Outpatient Radiology Services - Urban

October 26, 2022

Access Analysis
Outpatient Radiology Services- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Outpatient Radiology Services

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac			cess	Average			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA		Outpatient Radiology	1 in 30 miles	70	56.5		100.0		0.0				
Lowndes, GA	4,611	Outpatient Radiology	1 in 30 miles	22	209.6	4,611	100.0	0	0.0	3.8	4.3		
Grand Totals	8,563	Outpatient Radiology	1 in 30 miles	92	93.1	8,563	100.0	0	0.0	3.4	4.0		
© 2022 Quest Analytics LLC	L												

Outpatient Radiology Services - Rural

October 26, 2022

Access Analysis
Outpatient Radiology Services- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Outpatient Radiology Services

			Members With a	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Outpatient Radiology	1 in 45 miles	0		412	100.0	0	0.0	15.1	22.1
Baker, GA	68	Outpatient Radiology	1 in 45 miles	0		68	100.0	0	0.0	15.1	15.4
Ben Hill, GA	829	Outpatient Radiology	1 in 45 miles	0		829	100.0	0	0.0	9.6	26.0
Berrien, GA	916	Outpatient Radiology	1 in 45 miles	2	458.0	916	100.0	0	0.0	5.9	6.9
Brooks, GA	562	Outpatient Radiology	1 in 45 miles	11	51.1	562	100.0	0	0.0	5.3	5.5
Calhoun, GA	175	Outpatient Radiology	1 in 45 miles	3	58.3	175	100.0	0	0.0	7.4	7.4
Clay, GA	100	Outpatient Radiology	1 in 45 miles	0		100	100.0	0	0.0	16.1	21.8
Clinch, GA	326	Outpatient Radiology	1 in 45 miles	89	3.7	326	100.0	0	0.0	3.2	4.0
Coffee, GA	2,024	Outpatient Radiology	1 in 45 miles	1	2,024.0	2,024	100.0	0	0.0	6.2	22.4
Colquitt, GA	2,049	Outpatient Radiology	1 in 45 miles	12	170.8	2,049	100.0	0	0.0	5.1	6.3
Cook, GA	796	Outpatient Radiology	1 in 45 miles	13	61.2	796	100.0	0	0.0	3.6	4.3
Decatur, GA	1,249	Outpatient Radiology	1 in 45 miles	0		1,249	100.0	0	0.0	22.0	22.0
Early, GA	380	Outpatient Radiology	1 in 45 miles	10	38.0	380	100.0	0	0.0	4.5	4.5
Echols, GA	382	Outpatient Radiology	1 in 45 miles	2	191.0	382	100.0	0	0.0	3.3	9.4
Grady, GA	975	Outpatient Radiology	1 in 45 miles	8	121.9	975	100.0	0	0.0	4.7	4.7
Irwin, GA	306	Outpatient Radiology	1 in 45 miles	1	306.0	306	100.0	0	0.0	4.0	18.0
Lanier, GA	298	Outpatient Radiology	1 in 45 miles	2	149.0	298	100.0	0	0.0	9.7	9.9
Lee, GA	851	Outpatient Radiology	1 in 45 miles	1	851.0	851	100.0	0	0.0	5.7	6.5
Miller, GA	196	Outpatient Radiology	1 in 45 miles	6	32.7	196	100.0	0	0.0	5.4	5.4
Mitchell, GA		Outpatient Radiology	1 in 45 miles	11	70.1	771	100.0	0	0.0	8.8	8.9
Quitman, GA	117	Outpatient Radiology	1 in 45 miles	1	117.0	117	100.0	0	0.0	3.4	36.6
Randolph, GA		Outpatient Radiology	1 in 45 miles	0		262	100.0	0	0.0	16.7	16.8
Schley, GA		Outpatient Radiology	1 in 45 miles	0		158	100.0	0	0.0	13.9	14.7
Seminole, GA		Outpatient Radiology	1 in 45 miles	39	9.2	358	100.0	0	0.0	6.3	6.3
Stewart, GA		Outpatient Radiology	1 in 45 miles	0		141	100.0	0	0.0	25.2	27.4
Sumter, GA		Outpatient Radiology	1 in 45 miles	30	37.2		100.0	0	0.0	3.2	3.5
Terrell, GA		Outpatient Radiology	1 in 45 miles	0			100.0	0	0.0	21.9	21.9
Thomas, GA		Outpatient Radiology	1 in 45 miles	28	46.2		100.0	0	0.0	3.6	
Tift, GA		Outpatient Radiology	1 in 45 miles	4	413.0		100.0	0	0.0	4.1	4.2
Turner, GA		Outpatient Radiology	1 in 45 miles	0				0	0.0	20.6	21.6
Webster, GA		Outpatient Radiology	1 in 45 miles	0		45	100.0	0	0.0	18.1	18.2
Worth, GA		Outpatient Radiology	1 in 45 miles	4	160.8		100.0	0	0.0	5.4	5.8
		,									
Grand Totals	20,193	Outpatient Radiology	1 in 45 miles	278	72.6	20,193	100.0	0	0.0	7.6	10.9



Amerigroup Community Care-Behavioral Health Providers

Access Analysis SouthWest

October 26, 2022

Behavioral Health - Urban

October 26, 2022

Access Analysis
Behavioral Health- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Behavioral Health

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Behavioral Health	1 in 30 miles	107			100.0			1.6	1.8
Lowndes, GA	4,611	Behavioral Health	1 in 30 miles	144	32.0	4,611	100.0	0	0.0	1.9	2.3
Grand Totals	8,563	Behavioral Health	1 in 30 miles	251	34.1	8,563	100.0	0	0.0	1.8	2.1
© 2022 Quest Analytics, LLC.											

Behavioral Health - Rural

October 26, 2022

Access Analysis

Behavioral Health- Rural

Member / Provider Groups

Rural Members (SW_RURAL)

Behavioral Health

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Behavioral Health	1 in 45 miles	11	37.5		100.0	0	0.0	3.8	4.0
Baker, GA	68	Behavioral Health	1 in 45 miles	0		68	100.0	0	0.0	12.6	
Ben Hill, GA	829	Behavioral Health	1 in 45 miles	14	59.2	829	100.0	0	0.0	1.7	2.1
Berrien, GA	916	Behavioral Health	1 in 45 miles	16		916	100.0	0	0.0	4.6	5.2
Brooks, GA	562	Behavioral Health	1 in 45 miles	16	35.1	562	100.0	0	0.0	4.5	5.8
Calhoun, GA	175	Behavioral Health	1 in 45 miles	4	43.8	175	100.0	0	0.0	7.2	7.3
Clay, GA	100	Behavioral Health	1 in 45 miles	1	100.0	100	100.0	0	0.0	3.8	18.3
Clinch, GA	326	Behavioral Health	1 in 45 miles	3	108.7	326	100.0	0	0.0	4.0	4.4
Coffee, GA	2,024	Behavioral Health	1 in 45 miles	69	29.3	2,024	100.0	0	0.0	2.5	4.0
Colquitt, GA	2,049	Behavioral Health	1 in 45 miles	39	52.5	2,049	100.0	0	0.0	2.2	3.7
Cook, GA	796	Behavioral Health	1 in 45 miles	21	37.9	796	100.0	0	0.0	3.1	3.4
Decatur, GA	1,249	Behavioral Health	1 in 45 miles	31	40.3	1,249	100.0	0	0.0	3.6	4.4
Early, GA	380	Behavioral Health	1 in 45 miles	7	54.3	380	100.0	0	0.0	3.7	4.1
Echols, GA	382	Behavioral Health	1 in 45 miles	2	191.0	382	100.0	0	0.0	8.6	8.8
Grady, GA	975	Behavioral Health	1 in 45 miles	8	121.9	975	100.0	0	0.0	2.7	3.9
Irwin, GA	306	Behavioral Health	1 in 45 miles	14	21.9	306	100.0	0	0.0	3.0	3.3
Lanier, GA	298	Behavioral Health	1 in 45 miles	7	42.6	298	100.0	0	0.0	3.0	3.3
Lee, GA	851	Behavioral Health	1 in 45 miles	14	60.8	851	100.0	0	0.0	3.6	4.1
Miller, GA	196	Behavioral Health	1 in 45 miles	4	49.0	196	100.0	0	0.0	4.3	5.1
Mitchell, GA	771	Behavioral Health	1 in 45 miles	8	96.4	771	100.0	0	0.0	4.3	6.4
Quitman, GA	117	Behavioral Health	1 in 45 miles	0		117	100.0	0	0.0	18.1	20.8
Randolph, GA	262	Behavioral Health	1 in 45 miles	6	43.7	262	100.0	0	0.0	3.0	3.1
Schley, GA	158	Behavioral Health	1 in 45 miles	0		158	100.0	0	0.0	13.0	13.5
Seminole, GA	358	Behavioral Health	1 in 45 miles	3	119.3	358	100.0	0	0.0	5.5	6.1
Stewart, GA	141	Behavioral Health	1 in 45 miles	2		141	100.0	0	0.0	6.2	6.9
Sumter, GA	1,117	Behavioral Health	1 in 45 miles	23	48.6		100.0	0	0.0	2.1	2.9
Terrell, GA		Behavioral Health	1 in 45 miles	4	84.8	339		0	0.0	3.3	3.4
Thomas, GA	1,294	Behavioral Health	1 in 45 miles	68			100.0	0	0.0	2.8	3.5
Tift, GA	1,652	Behavioral Health	1 in 45 miles	57	29.0		100.0	0	0.0	1.4	2.1
Turner, GA		Behavioral Health	1 in 45 miles	4	100.5		100.0	0	0.0	3.0	3.2
Webster, GA	45	Behavioral Health	1 in 45 miles	2	22.5	45	100.0	0	0.0	3.4	3.4
Worth, GA	643	Behavioral Health	1 in 45 miles	6	107.2		100.0	0	0.0	3.9	
Grand Totals	20,193	Behavioral Health	1 in 45 miles	464	43.5	20,193	100.0	0	0.0	3.4	4.2
	l				<u> </u>						L

Behavioral Health Facilities - Urban

October 26, 2022

Access Analysis

Behavioral Health Facilities- Urban

Member / Provider Groups

Urban Members (SW_URBAN)

Behavioral Health Facilities

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Dougherty, GA			1 in 30 miles	4	988.0		100.0		0.0	4.3		
Lowndes, GA	4,611	Behavioral Health Fac	1 in 30 miles	20	230.6	4,611	100.0	0	0.0	2.7	3.5	
Grand Totals	8,563	Behavioral Health Fac	1 in 30 miles	24	356.8	8,563	100.0	0	0.0	3.4	4.2	
	ŕ					ŕ						
© 2022 Queet Analytics III C												

Behavioral Health Facilities - Rural

October 26, 2022

Access Analysis

Behavioral Health Facilities- Rural

Member / Provider Groups

Rural Members (SW_RURAL)

Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Behavioral Health Fac	1 in 45 miles	1	412.0	412	100.0	0	0.0	6.6	13.6
Baker, GA	68	Behavioral Health Fac	1 in 45 miles	0		68	100.0	0	0.0	24.1	26.2
Ben Hill, GA	829	Behavioral Health Fac	1 in 45 miles	1	829.0	829	100.0	0	0.0	2.6	9.9
Berrien, GA	916	Behavioral Health Fac	1 in 45 miles	1	916.0	916	100.0	0	0.0	6.5	13.6
Brooks, GA	562	Behavioral Health Fac	1 in 45 miles	1	562.0	562	100.0	0	0.0	6.3	16.3
Calhoun, GA	175	Behavioral Health Fac	1 in 45 miles	0		175	100.0	0	0.0	18.7	26.6
Clay, GA	100	Behavioral Health Fac	1 in 45 miles	0		100	100.0	0	0.0	21.7	43.1
Clinch, GA	326	Behavioral Health Fac	1 in 45 miles	0		326	100.0	0	0.0	19.9	22.2
Coffee, GA	2,024	Behavioral Health Fac	1 in 45 miles	16	126.5	2,024	100.0	0	0.0	4.7	5.6
Colquitt, GA	2,049	Behavioral Health Fac	1 in 45 miles	2	1,024.5	2,049	100.0	0	0.0	5.3	8.3
Cook, GA	796	Behavioral Health Fac	1 in 45 miles	2	398.0	796	100.0	0	0.0	5.1	5.6
Decatur, GA	1,249	Behavioral Health Fac	1 in 45 miles	0		1,249	100.0	0	0.0	26.2	35.5
Early, GA	380	Behavioral Health Fac	1 in 45 miles	0		380	100.0	0	0.0	21.9	33.5
Echols, GA	382	Behavioral Health Fac	1 in 45 miles	1	382.0	382	100.0	0	0.0	8.8	15.9
Grady, GA	975	Behavioral Health Fac	1 in 45 miles	0		975	100.0	0	0.0	14.9	16.4
Irwin, GA	306	Behavioral Health Fac	1 in 45 miles	1	306.0	306	100.0	0	0.0	3.8	10.0
Lanier, GA	298	Behavioral Health Fac	1 in 45 miles	1	298.0	298	100.0	0	0.0	3.4	12.8
Lee, GA	851	Behavioral Health Fac	1 in 45 miles	2	425.5	851	100.0	0	0.0	5.4	7.5
Miller, GA	196	Behavioral Health Fac	1 in 45 miles	1	196.0	196	100.0	0	0.0	5.6	43.8
Mitchell, GA	771	Behavioral Health Fac	1 in 45 miles	0		771	100.0	0	0.0	22.4	24.0
Quitman, GA	117	Behavioral Health Fac	1 in 45 miles	0		117	100.0	0	0.0	20.9	43.0
Randolph, GA	262	Behavioral Health Fac	1 in 45 miles	1	262.0	262	100.0	0	0.0	3.7	30.5
Schley, GA	158	Behavioral Health Fac	1 in 45 miles	0		158	100.0	0	0.0	15.4	30.4
Seminole, GA	358	Behavioral Health Fac	1 in 45 miles	0		358	100.0	0	0.0	19.9	52.1
Stewart, GA	141	Behavioral Health Fac	1 in 45 miles	0		141	100.0	0	0.0	22.7	30.1
Sumter, GA	1,117	Behavioral Health Fac	1 in 45 miles	1	1,117.0	1,117	100.0	0	0.0	4.1	25.8
Terrell, GA	339	Behavioral Health Fac	1 in 45 miles	0		339	100.0	0	0.0	13.9	20.9
Thomas, GA	1,294	Behavioral Health Fac	1 in 45 miles	6	215.7		100.0	0	0.0	4.2	4.9
Tift, GA	1,652	Behavioral Health Fac	1 in 45 miles	2	826.0		100.0	0	0.0	4.3	9.6
Turner, GA	402	Behavioral Health Fac	1 in 45 miles	1	402.0		100.0	0	0.0	3.4	16.7
Webster, GA	45	Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	19.5	32.8
Worth, GA	643	Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	13.0	18.9
Grand Totals	20,193	Behavioral Health Fac	1 in 45 miles	41	492.5	20,193	100.0	0	0.0	9.2	16.1
© 2022 Quest Analytics III C											

Community Service Boards - Urban

October 26, 2022

Access Analysis
Community Service Boards- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Community Service Boards

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA		Community Service B	1 in 30 miles	4	988.0		100.0		0.0	3.6			
Lowndes, GA	4,611	Community Service B	1 in 30 miles	4	1,152.8	4,611	100.0	0	0.0	3.4	5.0		
Grand Totals	8,563	Community Service B	1 in 30 miles	8	1,070.4	8,563	100.0	0	0.0	3.5	4.7		
© 2022 Queet Analytics III C													

Community Service Boards - Rural

October 26, 2022

Access Analysis
Community Service Boards- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Community Service Boards

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Community Service B	1 in 45 miles	4	103.0	412	100.0	0	0.0	6.7	6.7
Baker, GA	68	Community Service B	1 in 45 miles	0			100.0	0	0.0	26.0	26.3
Ben Hill, GA	829	Community Service B	1 in 45 miles	2	414.5	829	100.0	0	0.0	2.6	2.6
Berrien, GA	916	Community Service B	1 in 45 miles	2			100.0	0	0.0	7.0	7.0
Brooks, GA	562	Community Service B	1 in 45 miles	2	281.0	562	100.0	0	0.0	8.5	8.5
Calhoun, GA	175	Community Service B	1 in 45 miles	0		175	100.0	0	0.0	21.8	21.9
Clay, GA	100	Community Service B	1 in 45 miles	0		100	100.0	0	0.0	21.7	21.7
Clinch, GA	326	Community Service B	1 in 45 miles	1	326.0	326	100.0	0	0.0	4.4	19.8
Coffee, GA	2,024	Community Service B	1 in 45 miles	33	61.3	2,024	100.0	0	0.0	4.6	4.8
Colquitt, GA	2,049	Community Service B	1 in 45 miles	0		2,049	100.0	0	0.0	23.6	23.6
Cook, GA	796	Community Service B	1 in 45 miles	2	398.0	796	100.0	0	0.0	5.1	5.1
Decatur, GA	1,249	Community Service B	1 in 45 miles	0		9	0.7	1,240	99.3	57.4	57.7
Early, GA	380	Community Service B	1 in 45 miles	0		362	95.3	18	4.7	33.4	33.4
Echols, GA	382	Community Service B	1 in 45 miles	2	191.0	382	100.0	0	0.0	8.6	8.8
Grady, GA	975	Community Service B	1 in 45 miles	0		861	88.3	114	11.7	41.0	41.1
Irwin, GA	306	Community Service B	1 in 45 miles	2	153.0	306	100.0	0	0.0	3.8	3.8
Lanier, GA	298	Community Service B	1 in 45 miles	2	149.0	298	100.0	0	0.0	3.4	3.4
Lee, GA	851	Community Service B	1 in 45 miles	0		851	100.0	0	0.0	8.4	10.1
Miller, GA	196	Community Service B	1 in 45 miles	0		131	66.8	65	33.2	44.5	44.6
Mitchell, GA	771	Community Service B	1 in 45 miles	0		771	100.0	0	0.0	28.7	29.0
Quitman, GA	117	Community Service B	1 in 45 miles	0		117	100.0	0	0.0	20.9	20.9
Randolph, GA	262	Community Service B	1 in 45 miles	3	87.3	262	100.0	0	0.0	3.7	3.7
Schley, GA		Community Service B	1 in 45 miles	0		158	100.0	0	0.0	35.1	35.4
Seminole, GA		Community Service B	1 in 45 miles	0		1	0.3	357	99.7	55.3	55.3
Stewart, GA		Community Service B	1 in 45 miles	2	70.5	141	100.0	0	0.0	7.3	7.3
Sumter, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	31.1	31.7
Terrell, GA		Community Service B	1 in 45 miles	0		339	100.0	0	0.0	21.0	21.7
Thomas, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	26.7	26.7
Tift, GA		Community Service B	1 in 45 miles	2	826.0		100.0	0	0.0	4.8	4.8
Turner, GA		Community Service B	1 in 45 miles	2			100.0	0	0.0	3.4	3.4
Webster, GA		Community Service B	1 in 45 miles	0		45	100.0	0	0.0	15.9	15.9
Worth, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	18.1	18.2
,		,									
Grand Totals	20,193	Community Service B	1 in 45 miles	61	331.0	18,399	91.1	1,794	8.9	19.0	19.4

Psychiatric Residential Treatment Facilities - Urban

October 26, 2022

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)-Urban

Member / Provider Groups
Urban Members (SW_URBAN)
Psychiatric Residential Treatment
Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Psychiatric Residentia	1 in 30 miles	0		0			100.0		156.4
Lowndes, GA	4,611	Psychiatric Residentia	1 in 30 miles	0		0	0.0	4,611	100.0	155.1	198.1
Grand Totals	8,563	Psychiatric Residentia	1 in 30 miles	0		0	0.0	8,563	100.0	155.4	178.8
© 2022 Quest Analytics, LLC.											

Psychiatric Residential Treatment Facilities - Rural

October 26, 2022

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)- Rural

Member / Provider Groups Rural Members (SW_RURAL) Psychiatric Residential Treatment Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Psychiatric Residentia	1 in 45 miles	0		0	0.0	412	100.0	118.3	159.2
Baker, GA	68	Psychiatric Residentia	1 in 45 miles	0		0	0.0	68	100.0	172.6	173.2
Ben Hill, GA	829	Psychiatric Residentia	1 in 45 miles	0		0	0.0	829	100.0	130.9	142.4
Berrien, GA	916	Psychiatric Residentia	1 in 45 miles	0		0	0.0	916	100.0	141.4	174.4
Brooks, GA	562	Psychiatric Residentia	1 in 45 miles	0		0	0.0	562	100.0	172.3	206.7
Calhoun, GA	175	Psychiatric Residentia	1 in 45 miles	0		0	0.0	175	100.0	158.6	161.8
Clay, GA	100	Psychiatric Residentia	1 in 45 miles	0		0	0.0	100	100.0	148.1	156.1
Clinch, GA	326	Psychiatric Residentia	1 in 45 miles	0		0	0.0	326	100.0	122.3	177.8
Coffee, GA	2,024	Psychiatric Residentia	1 in 45 miles	0		0	0.0	2,024	100.0	110.2	145.7
Colquitt, GA	2,049	Psychiatric Residentia	1 in 45 miles	0		0	0.0	2,049	100.0	171.7	185.6
Cook, GA	796	Psychiatric Residentia	1 in 45 miles	0		0	0.0	796	100.0	153.1	182.7
Decatur, GA	1,249	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,249	100.0	202.0	203.7
Early, GA	380	Psychiatric Residentia	1 in 45 miles	0		0	0.0	380	100.0	168.9	174.8
Echols, GA	382	Psychiatric Residentia	1 in 45 miles	0		0	0.0	382	100.0	155.6	206.8
Grady, GA	975	Psychiatric Residentia	1 in 45 miles	0		0	0.0	975	100.0	203.1	204.3
Irwin, GA	306	Psychiatric Residentia	1 in 45 miles	0		0	0.0	306	100.0	132.8	150.7
Lanier, GA	298	Psychiatric Residentia	1 in 45 miles	0		0	0.0	298	100.0	137.5	181.7
Lee, GA	851	Psychiatric Residentia	1 in 45 miles	0		0	0.0	851	100.0	146.7	147.4
Miller, GA	196	Psychiatric Residentia	1 in 45 miles	0		0	0.0	196	100.0	183.0	186.1
Mitchell, GA	771	Psychiatric Residentia	1 in 45 miles	0		0	0.0	771	100.0	182.8	183.6
Quitman, GA	117	Psychiatric Residentia	1 in 45 miles	0		0	0.0	117	100.0	132.7	141.9
Randolph, GA	262	Psychiatric Residentia	1 in 45 miles	0		0	0.0	262	100.0	139.9	144.2
Schley, GA	158	Psychiatric Residentia	1 in 45 miles	0		0	0.0	158	100.0	107.8	108.5
Seminole, GA	358	Psychiatric Residentia	1 in 45 miles	0		0	0.0	358	100.0	193.4	198.5
Stewart, GA	141	Psychiatric Residentia	1 in 45 miles	0		0	0.0	141	100.0	118.7	122.9
Sumter, GA	1,117	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,117	100.0	120.7	121.4
Terrell, GA	339	Psychiatric Residentia	1 in 45 miles	0		0	0.0	339	100.0	140.5	140.9
Thomas, GA	1,294	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,294	100.0	191.3	206.5
Tift, GA	1,652	Psychiatric Residentia	1 in 45 miles	0		0	0.0	1,652	100.0	150.7	167.3
Turner, GA	402	Psychiatric Residentia	1 in 45 miles	0		0	0.0	402	100.0	151.1	152.3
Webster, GA	45	Psychiatric Residentia	1 in 45 miles	0		0	0.0	45	100.0	119.5	120.3
Worth, GA	643	Psychiatric Residentia	1 in 45 miles	0		0	0.0	643	100.0	159.6	161.9
Grand Totals	20,193	Psychiatric Residentia	1 in 45 miles	0		0	0.0	20,193	100.0	155.2	171.1

Psychologists - Urban

October 26, 2022

Access Analysis
Psychologists- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Psychologists

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA	3,952	Psychologists	1 in 30 miles	9	439.1	3,952	100.0	0	0.0	2.8	3.5
Lowndes, GA		Psychologists	1 in 30 miles	6	768.5		100.0			4.6	
Grand Totals	8,563	Psychologists	1 in 30 miles	15	570.9	8,563	100.0	0	0.0	3.7	4.3
© 2022 Quest Analytics, LLC											

Psychologists - Rural

October 26, 2022

Access Analysis
Psychologists- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Psychologists

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Psychologists	1 in 45 miles	0		412	100.0	0	0.0	31.4	35.1
Baker, GA	68	Psychologists	1 in 45 miles	0		68	100.0	0	0.0	25.2	26.1
Ben Hill, GA	829	Psychologists	1 in 45 miles	0		829	100.0	0	0.0	29.0	53.3
Berrien, GA	916	Psychologists	1 in 45 miles	0		916	100.0	0	0.0	19.5	25.4
Brooks, GA	562	Psychologists	1 in 45 miles	1	562.0	562	100.0	0	0.0	6.9	18.7
Calhoun, GA	175	Psychologists	1 in 45 miles	0		175	100.0	0	0.0	20.6	31.0
Clay, GA	100	Psychologists	1 in 45 miles	0		100	100.0	0	0.0	22.2	44.8
Clinch, GA	326	Psychologists	1 in 45 miles	0		326	100.0	0	0.0	31.8	32.0
Coffee, GA	2,024	Psychologists	1 in 45 miles	0		2,005	99.1	19	0.9	37.6	43.1
Colquitt, GA	2,049	Psychologists	1 in 45 miles	4	512.3	2,049	100.0	0	0.0	6.0	6.0
Cook, GA	796	Psychologists	1 in 45 miles	0		796	100.0	0	0.0	20.4	21.9
Decatur, GA		Psychologists	1 in 45 miles	1	1,249.0	1,249	100.0	0	0.0	5.5	25.7
Early, GA		Psychologists	1 in 45 miles	1	380.0	380	100.0	0	0.0	5.0	23.8
Echols, GA	382	Psychologists	1 in 45 miles	0		382	100.0	0	0.0	18.0	18.0
Grady, GA		Psychologists	1 in 45 miles	0			100.0	0	0.0	14.9	
Irwin, GA		Psychologists	1 in 45 miles	0				0	0.0	20.6	
Lanier, GA		Psychologists	1 in 45 miles	0		298	100.0	0	0.0	22.6	23.1
Lee, GA		Psychologists	1 in 45 miles	1	851.0	851	100.0	0	0.0	5.4	
Miller, GA		Psychologists	1 in 45 miles	0			100.0	0	0.0	16.3	
Mitchell, GA		Psychologists	1 in 45 miles	0		771	100.0	0	0.0	21.7	23.1
Quitman, GA		Psychologists	1 in 45 miles	0		117	100.0	0	0.0	36.9	43.6
Randolph, GA	262	Psychologists	1 in 45 miles	0			100.0	0	0.0	30.4	36.3
Schley, GA		Psychologists	1 in 45 miles	0		158		0	0.0	17.3	17.3
Seminole, GA		Psychologists	1 in 45 miles	1	358.0	358	100.0	0	0.0	5.7	23.5
Stewart, GA		Psychologists	1 in 45 miles	0		141	100.0	0	0.0	30.8	
Sumter, GA		Psychologists	1 in 45 miles	3	372.3		100.0	0	0.0	5.1	5.1
Terrell, GA		Psychologists	1 in 45 miles	0		339	100.0	0	0.0	18.3	22.8
Thomas, GA		Psychologists	1 in 45 miles	17	76.1		100.0	0	0.0	3.7	4.6
Tift, GA		Psychologists	1 in 45 miles	1	1,652.0	1,652		0	0.0	4.5	32.1
Turner, GA		Psychologists	1 in 45 miles	0			100.0	0	0.0	23.3	
Webster, GA		Psychologists	1 in 45 miles	0		45	100.0	0	0.0	21.6	
Worth, GA		Psychologists	1 in 45 miles	0		643		0	0.0	15.9	
Grand Totals	20,193	Psychologists	1 in 45 miles	30	673.1	20,174	99.9	19	0.1	15.6	23.6
© 2022 Quest Analytics II C											

Psychiatrists - Urban

October 26, 2022

Access Analysis
Psychiatry- Urban

Member / Provider Groups
Urban Members (SW_URBAN)
Psychiatry

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	F		Counts	Ratio Members	With Ac			cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Dougherty, GA		Psychiatry	1 in 30 miles	15			100.0		0.0	2.9			
Lowndes, GA	4,611	Psychiatry	1 in 30 miles	16	288.2	4,611	100.0	0	0.0	4.0	4.2		
Grand Totals	8,563	Psychiatry	1 in 30 miles	31	276.2	8,563	100.0	0	0.0	3.5	3.9		
© 2022 Quest Analytics II C													

Psychiatrists - Rural

October 26, 2022

Access Analysis
Psychiatry- Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Psychiatry

Members With and Without Access											
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Psychiatry	1 in 45 miles	0		412	100.0	0	0.0	15.6	16.0
Baker, GA	68	Psychiatry	1 in 45 miles	0		68	100.0	0	0.0	16.1	
Ben Hill, GA	829	Psychiatry	1 in 45 miles	1	829.0	829	100.0	0	0.0	3.4	9.6
Berrien, GA	916	Psychiatry	1 in 45 miles	1	916.0	916	100.0	0	0.0	7.2	14.1
Brooks, GA	562	Psychiatry	1 in 45 miles	0		562	100.0	0	0.0	17.2	18.8
Calhoun, GA	175	Psychiatry	1 in 45 miles	0		175	100.0	0	0.0	21.1	30.2
Clay, GA	100	Psychiatry	1 in 45 miles	0		100	100.0	0	0.0	22.3	38.9
Clinch, GA	326	Psychiatry	1 in 45 miles	0		326	100.0	0	0.0	29.4	30.8
Coffee, GA	2,024	Psychiatry	1 in 45 miles	2	1,012.0	2,024	100.0	0	0.0	6.5	6.6
Colquitt, GA	2,049	Psychiatry	1 in 45 miles	1	2,049.0	2,049	100.0	0	0.0	7.6	21.0
Cook, GA	796	Psychiatry	1 in 45 miles	5	159.2	796	100.0	0	0.0	3.8	5.2
Decatur, GA	1,249	Psychiatry	1 in 45 miles	0		1,223	97.9	26	2.1	35.0	35.5
Early, GA	380	Psychiatry	1 in 45 miles	0		380	100.0	0	0.0	30.0	31.5
Echols, GA		Psychiatry	1 in 45 miles	0		382	100.0	0	0.0	16.6	16.6
Grady, GA	975	Psychiatry	1 in 45 miles	0		975	100.0	0	0.0	14.5	15.0
Irwin, GA	306	Psychiatry	1 in 45 miles	2	153.0	306	100.0	0	0.0	3.7	4.8
Lanier, GA	298	Psychiatry	1 in 45 miles	0		298	100.0	0	0.0	19.5	21.6
Lee, GA	851	Psychiatry	1 in 45 miles	1	851.0	851	100.0	0	0.0	5.3	7.5
Miller, GA	196	Psychiatry	1 in 45 miles	0		196	100.0	0	0.0	31.5	39.6
Mitchell, GA		Psychiatry	1 in 45 miles	1	771.0	771	100.0	0	0.0	8.7	22.8
Quitman, GA		Psychiatry	1 in 45 miles	0		117	100.0	0	0.0	21.2	39.6
Randolph, GA		Psychiatry	1 in 45 miles	1	262.0	262	100.0	0	0.0	3.4	19.9
Schley, GA	158	Psychiatry	1 in 45 miles	0		158	100.0	0	0.0	14.5	18.6
Seminole, GA	358	Psychiatry	1 in 45 miles	0		294	82.1	64	17.9	38.3	38.6
Stewart, GA		Psychiatry	1 in 45 miles	0		141	100.0	0	0.0	21.5	
Sumter, GA		Psychiatry	1 in 45 miles	1	1,117.0		100.0	0	0.0	4.1	23.5
Terrell, GA	339	Psychiatry	1 in 45 miles	1	339.0	339	100.0	0	0.0	3.7	17.9
Thomas, GA		Psychiatry	1 in 45 miles	17			100.0	0	0.0	4.1	
Tift, GA		Psychiatry	1 in 45 miles	7			100.0	0	0.0	3.0	
Turner, GA		Psychiatry	1 in 45 miles	0				0	0.0	21.2	
Webster, GA		Psychiatry	1 in 45 miles	0		45	100.0	0	0.0	18.6	
Worth, GA		Psychiatry	1 in 45 miles	0			100.0	0	0.0	16.7	
Grand Totals	20,193	Psychiatry	1 in 45 miles	41	492.5	20,103	99.6	90	0.4	11.5	16.5
					<u> </u>						

Autism Spectrum Disorder Treatment Provider - Urban

October 26, 2022

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider- Urban

Member / Provider Groups
Urban Members (SW_URBAN)
Autism Spectrum Disorder(ASD)
Treatment Provider

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Access		Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Autism Spectrum Diso	1 in 30 miles	6	658.7		100.0			4.3	4.3
Lowndes, GA	4,611	Autism Spectrum Diso	1 in 30 miles	32	144.1	4,611	100.0	0	0.0	3.0	3.4
Grand Totals	8,563	Autism Spectrum Diso	1 in 30 miles	38	225.3	8,563	100.0	0	0.0	3.6	3.8
© 2022 Quest Analytics, LLC.											

Autism Spectrum Disorder Treatment Provider - Rural

October 26, 2022

Access Analysis

Autism Spectrum Disorder(ASD)

Treatment Provider- Rural

Member / Provider Groups
Rural Members (SW_RURAL)
Autism Spectrum Disorder(ASD)
Treatment Provider

Members With and Without Access											
	Member Pro		ovider	Counts	Ratio Members	With Ac	cess	Without Access		Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Atkinson, GA	412	Autism Spectrum Diso	1 in 45 miles	0		412	100.0	0	0.0	15.6	15.7
Baker, GA	68	Autism Spectrum Diso	1 in 45 miles	0		68		0	0.0	25.5	25.5
Ben Hill, GA	829	Autism Spectrum Diso	1 in 45 miles	4	207.3	829	100.0	0	0.0	2.8	2.8
Berrien, GA	916	Autism Spectrum Diso	1 in 45 miles	0		916	100.0	0	0.0	12.1	15.1
Brooks, GA	562	Autism Spectrum Diso	1 in 45 miles	0		562	100.0	0	0.0	16.2	16.6
Calhoun, GA	175	Autism Spectrum Diso	1 in 45 miles	0		175	100.0	0	0.0	32.2	32.2
Clay, GA	100	Autism Spectrum Diso	1 in 45 miles	0		8	8.0	92	92.0	47.4	47.4
Clinch, GA	326	Autism Spectrum Diso	1 in 45 miles	0		320	98.2	6	1.8	29.6	29.6
Coffee, GA	2,024	Autism Spectrum Diso	1 in 45 miles	7	289.1	2,024	100.0	0	0.0	5.9	6.4
Colquitt, GA	2,049	Autism Spectrum Diso	1 in 45 miles	2	1,024.5	2,049	100.0	0	0.0	5.9	6.0
Cook, GA	796	Autism Spectrum Diso	1 in 45 miles	1	796.0	796	100.0	0	0.0	4.7	17.4
Decatur, GA	1,249	Autism Spectrum Diso	1 in 45 miles	0		1,202	96.2	47	3.8	36.6	36.6
Early, GA	380	Autism Spectrum Diso	1 in 45 miles	0		24	6.3	356	93.7	50.3	50.3
Echols, GA	382	Autism Spectrum Diso	1 in 45 miles	0		382	100.0	0	0.0	16.0	16.0
Grady, GA	975	Autism Spectrum Diso	1 in 45 miles	0		975	100.0	0	0.0	16.5	16.5
Irwin, GA	306	Autism Spectrum Diso	1 in 45 miles	0		306	100.0	0	0.0	10.1	10.6
Lanier, GA	298	Autism Spectrum Diso	1 in 45 miles	0		298	100.0	0	0.0	13.1	13.1
Lee, GA	851	Autism Spectrum Diso	1 in 45 miles	4	212.8	851	100.0	0	0.0	5.8	5.8
Miller, GA	196	Autism Spectrum Diso	1 in 45 miles	0		35	17.9	161	82.1	50.9	50.9
Mitchell, GA	771	Autism Spectrum Diso	1 in 45 miles	0		771	100.0	0	0.0	23.7	23.7
Quitman, GA	117	Autism Spectrum Diso	1 in 45 miles	0		95	81.2	22	18.8	43.6	43.6
Randolph, GA	262	Autism Spectrum Diso	1 in 45 miles	0		262	100.0	0	0.0	30.5	30.5
Schley, GA		Autism Spectrum Diso	1 in 45 miles	0		158	100.0	0	0.0	37.2	37.2
Seminole, GA	358	Autism Spectrum Diso	1 in 45 miles	0		0	0.0	358	100.0	56.9	56.9
Stewart, GA		Autism Spectrum Diso	1 in 45 miles	0		141	100.0	0	0.0	35.7	35.7
Sumter, GA		Autism Spectrum Diso	1 in 45 miles	0			100.0	0	0.0	26.0	26.0
Terrell, GA		Autism Spectrum Diso	1 in 45 miles	0		339	100.0	0	0.0	14.0	14.0
Thomas, GA		Autism Spectrum Diso	1 in 45 miles	8	161.8		100.0	0	0.0	4.7	4.7
Tift, GA		Autism Spectrum Diso	1 in 45 miles	3	550.7		100.0	0	0.0	3.6	9.0
Turner, GA		Autism Spectrum Diso	1 in 45 miles	0		402		0	0.0	16.6	16.6
Webster, GA		Autism Spectrum Diso	1 in 45 miles	0		45	100.0	0	0.0	36.1	36.1
Worth, GA		Autism Spectrum Diso	1 in 45 miles	0			100.0	0	0.0	13.3	13.3
		·									
Grand Totals	20,193	Autism Spectrum Diso	1 in 45 miles	29	696.3	19,151	94.8	1,042	5.2	15.5	16.7

Narcotic Treatment Program - Urban

October 26, 2022

Access Analysis
Narcotic Treatment Program- Urban
Member / Provider Groups
Urban Members (SW_URBAN)
Narcotic Treatment Program

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	th Access Without Access				
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA			1 in 30 miles	0		0				88.3	96.4
Lowndes, GA	4,611	Narcotic Treatment Pr	1 in 30 miles	0		0	0.0	4,611	100.0	116.0	141.8
						_					
Grand Totals	8,563	Narcotic Treatment Pr	1 in 30 miles	0		0	0.0	8,563	100.0	103.2	120.9
L											

Narcotic Treatment Program - Rural

October 26, 2022

Access Analysis
Narcotic Treatment Program-Rural
Member / Provider Groups
Rural Members (SW_RURAL)
Narcotic Treatment Program

	Members With and Without Access											
	Member Pr		ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	412	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	412	100.0	90.7	113.2	
Baker, GA	68	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	68	100.0	93.1	116.6	
Ben Hill, GA	829	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	829	100.0	83.6	85.4	
Berrien, GA	916	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	916	100.0	108.7	118.4	
Brooks, GA	562	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	562	100.0	132.9	141.8	
Calhoun, GA	175	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	175	100.0	74.7	114.9	
Clay, GA	100	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	100	100.0	62.4	117.8	
Clinch, GA	326	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	326	100.0	82.6	122.0	
Coffee, GA	2,024	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	2,024	100.0	90.1	104.6	
Colquitt, GA	2,049	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	2,049	100.0	117.8	118.8	
Cook, GA	796	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	796	100.0	119.5	121.0	
Decatur, GA	1,249	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	1,249	100.0	117.6	149.6	
Early, GA	380	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	380	100.0	83.1	131.2	
Echols, GA	382	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	382	100.0	111.6	153.1	
Grady, GA	975	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	975	100.0	124.3	143.8	
Irwin, GA	306	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	306	100.0	92.5	94.2	
Lanier, GA	298	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	298	100.0	101.5	131.7	
Lee, GA	851	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	851	100.0	82.4	88.9	
Miller, GA	196	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	196	100.0	98.1	135.9	
Mitchell, GA	771	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	771	100.0	106.6	122.7	
Quitman, GA	117	Narcotic Treatment Pr	1 in 45 miles	0		7	6.0	110	94.0	47.8	109.9	
Randolph, GA	262	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	262	100.0	56.2	102.6	
Schley, GA	158	Narcotic Treatment Pr	1 in 45 miles	0		20	12.7	138	87.3	48.7	61.1	
Seminole, GA	358	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	358	100.0	107.7	150.9	
Stewart, GA	141	Narcotic Treatment Pr	1 in 45 miles	0		126	89.4	15	10.6	39.5	87.2	
Sumter, GA	1,117	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	1,117	100.0	61.8	69.8	
Terrell, GA	339	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	339	100.0	66.9	91.9	
Thomas, GA	1,294	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0		100.0	132.0	142.1	
Tift, GA		Narcotic Treatment Pr	1 in 45 miles	0		0	0.0			99.8	100.9	
Turner, GA	402	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0		100.0	81.3	82.2	
Webster, GA		Narcotic Treatment Pr	1 in 45 miles	0		8	17.8		82.2	48.6	78.7	
Worth, GA	643	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	643	100.0	94.4	94.9	
Grand Totals	20,193	Narcotic Treatment Pr	1 in 45 miles	0		161	0.8	20,032	99.2	100.0	114.4	
© 2022 Ouget Analytics III C												

Licensed Counselors and Social Workers - Urban

October 26, 2022

Access Analysis
Licensed Counsler and Social
Workers- Urban

Member / Provider Groups
Urban Members (SW_URBAN)
Licensed Counsler and Social
Workers

Members With and Without Access											
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Access		Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Dougherty, GA		Licensed Counsler an	1 in 30 miles	15			100.0			2.3	2.7
Lowndes, GA	4,611	Licensed Counsler an	1 in 30 miles	36	128.1	4,611	100.0	0	0.0	2.9	3.6
Grand Totals	8,563	Licensed Counsler an	1 in 30 miles	51	167.9	8,563	100.0	0	0.0	2.6	3.2
© 2022 Quest Analytics, LLC.											

Licensed Counselors and Social Workers - Rural

October 26, 2022

Access Analysis
Licensed Counsler and Social
Workers- Rural

Member / Provider Groups
Rural Members (SW_RURAL)
Licensed Counsler and Social
Workers

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Atkinson, GA	412	Licensed Counsler an	1 in 45 miles	1	412.0	412	100.0	0	0.0	7.3	15.8	
Baker, GA	68	Licensed Counsler an	1 in 45 miles	0		68	100.0	0	0.0	24.4	25.2	
Ben Hill, GA	829	Licensed Counsler an	1 in 45 miles	0		829	100.0	0	0.0	9.6	11.2	
Berrien, GA	916	Licensed Counsler an	1 in 45 miles	2	458.0		100.0	0	0.0	7.0	7.7	
Brooks, GA	562	Licensed Counsler an	1 in 45 miles	3	187.3	562	100.0	0	0.0	6.4	7.2	
Calhoun, GA	175	Licensed Counsler an	1 in 45 miles	1	175.0	175	100.0	0	0.0	7.5	20.5	
Clay, GA	100	Licensed Counsler an	1 in 45 miles	0		100	100.0	0	0.0	21.8	22.2	
Clinch, GA	326	Licensed Counsler an	1 in 45 miles	0		326	100.0	0	0.0	23.1	30.4	
Coffee, GA	2,024	Licensed Counsler an	1 in 45 miles	3	674.7	2,024	100.0	0	0.0	6.0	6.6	
Colquitt, GA	2,049	Licensed Counsler an	1 in 45 miles	4	512.3	2,049	100.0	0	0.0	5.3	5.9	
Cook, GA	796	Licensed Counsler an	1 in 45 miles	2	398.0	796	100.0	0	0.0	3.9	5.7	
Decatur, GA	1,249	Licensed Counsler an	1 in 45 miles	4	312.3	1,249	100.0	0	0.0	5.0	5.6	
Early, GA	380	Licensed Counsler an	1 in 45 miles	3	126.7	380	100.0	0	0.0	4.7	5.3	
Echols, GA	382	Licensed Counsler an	1 in 45 miles	0		382	100.0	0	0.0	16.6	17.2	
Grady, GA	975	Licensed Counsler an	1 in 45 miles	0		975	100.0	0	0.0	15.2	15.5	
Irwin, GA	306	Licensed Counsler an	1 in 45 miles	2	153.0	306	100.0	0	0.0	3.7	4.8	
Lanier, GA	298	Licensed Counsler an	1 in 45 miles	0		298	100.0	0	0.0	17.2	19.8	
Lee, GA	851	Licensed Counsler an	1 in 45 miles	3	283.7	851	100.0	0	0.0	4.2	4.9	
Miller, GA	196	Licensed Counsler an	1 in 45 miles	1	196.0	196	100.0	0	0.0	5.4	22.2	
Mitchell, GA	771	Licensed Counsler an	1 in 45 miles	0		771	100.0	0	0.0	21.6	22.4	
Quitman, GA	117	Licensed Counsler an	1 in 45 miles	0		117	100.0	0	0.0	36.6	36.9	
Randolph, GA	262	Licensed Counsler an	1 in 45 miles	0		262	100.0	0	0.0	16.8	30.3	
Schley, GA	158	Licensed Counsler an	1 in 45 miles	0		158	100.0	0	0.0	13.6	15.5	
Seminole, GA	358	Licensed Counsler an	1 in 45 miles	0		358	100.0	0	0.0	18.0	23.2	
Stewart, GA	141	Licensed Counsler an	1 in 45 miles	0		141	100.0	0	0.0	26.8	28.0	
Sumter, GA	1,117	Licensed Counsler an	1 in 45 miles	7	159.6	1,117	100.0	0	0.0	2.9	3.6	
Terrell, GA	339	Licensed Counsler an	1 in 45 miles	0		339	100.0	0	0.0	18.0	18.2	
Thomas, GA	1,294	Licensed Counsler an	1 in 45 miles	8	161.8	1,294	100.0	0	0.0	4.5	5.2	
Tift, GA	1,652	Licensed Counsler an	1 in 45 miles	12	137.7	1,652	100.0	0	0.0	2.8	3.2	
Turner, GA	402	Licensed Counsler an	1 in 45 miles	0		402	100.0	0	0.0	18.8	20.7	
Webster, GA	45	Licensed Counsler an	1 in 45 miles	0		45	100.0	0	0.0	17.5	19.6	
Worth, GA	643	Licensed Counsler an	1 in 45 miles	0		643	100.0	0	0.0	15.0	15.4	
Grand Totals	20,193	Licensed Counsler an	1 in 45 miles	56	360.6	20,193	100.0	0	0.0	8.7	10.2	